* Achtung einige Artikel haben Mindestbestellmengen
1238 NanoTight Kit .007in (180um) 1 40,
1239 NanoTight Kit .0085in (215um) 1 40,
1240 NanoTight Kit .011in 1 59,
1241 NanoTight Kit .013in 1 55,
1242 NanoTight Kit .015in 1 40,
1243 NanoTight Kit .018in 1 59,
1244 NanoTight Kit .021in 1 59,
1246 NanoTight Kit .027in 1 59,
1247 NanoTight Kit .033in 1 78,
1250 NanoTight Fittings Kit 1 297,
1252 NanoTight Kit .042in (1mm) 1 59,
1320 Upchurch SS Tubing Kit 1 242,
1321 Upchurch SS Tubing Kit .010 ID 1 98,
1322 Upchurch SS Tubing Kit .007 ID 1 140,
1323 Upchurch SS Tubing Kit .005 ID 1 102,
1324 Upchurch SS Tubing Kit .020 ID 1 91,
1325 Tefzel Tubing Kit 1 167,
1326 PEEK Tubing Kit 1 143,
1328 MicroTight PEEK Sleeve Kit 1 128,
1356 MicroTight Con Kit - PEEK 1 276,
1400 Upch Fittings Kit/Beckman 1 343,
1404 Ftgs Kit/Hewlett-Packard Type 1 347,
1412 UpTight Ftgs Kit/Varian Type 1 514,
1413 Upch Fittings Kit/Waters Type 1 347,
1415 Upch Fittings Kit/Gilson Type 1 591,
1418 Upch Fittings Kit/Bio-Rad Type 1 343,
1420 Upch Fittings Kit/Hitachi Type 1 514,
1421 Shimadzu Type Kit 1 514,
1451 Flangeless Fittings Kit 1 284,
1452 FingerTight Il Fittings Kit 1 162,
1453 Flanged Fittings Kit 1 351,
1454 Tefzel Fittings Kit 1 230,
1456 PEEK Fittings Kit - Low Press 1 442,
1457 PEEK Fittings Kit - Hi Press 1 506,
1458 FIA Kit 1 514,
1500 Tub PFA Nat 1/16 x .020 x 5ft 1 22,
1502 Tub PFA Nat 1/16 x .030 x 5ft 1 22,
1503 Tub PFA Nat 1/16 x .040 x 5ft 1 22,
1507L Tub PFA Nat 1/16 x .040 x 50ft 1 132,
1507M Tub PFA Nat 1/16x.040 x 1000ft 1 2. 4272
1509-5 Tub PFA Nat 1/8 x .062 x 5ft 1 33, 1
1509L Tub PFA Nat 1/8 x .062 x 50ft 1 216,
15121 Tub PFA Nat 1/16 x .020 x 50ft 1 132,




1512M Tub PFA Nat 1/16x.020 x 1000ft 1 2. 42174
1514L Tub PFA Nat 1/16 x .030 x 50ft 1 132,
1514M Tub PFA Nat 1/16x.030 x 1000ft 1 2. 42173
1516 Tub Tfzl Nat 1/16 x .020 x 5ft 1 24, ;
1516L Tub Tfzl Nat 1/16x.020x50ft 1 140,
1516M Tub Tfzl Nat 1/16x.020x 1000ft 1 2.184(
1516XL Tub Tfzl Nat 1/16x.020x100ft 1 231,
1517 Tub Tfzl Nat 1/16 x .040 x 5ft 1 24, ;
1517L Tub Tfzl Nat 1/16x.040x50ft 1 140,
1517M Tub Tfzl Nat 1/16x.040x 1000ft 1 2.184(
1517XL Tub Tfzl Nat 1/16x.040x100ft 1 231,
1520-5 Tub FEP Nat 1/16 x .030 x 5ft 1 29,

1520L Tub FEP Nat 1/16 x .030 x 50ft 1 117,
1520M Tub FEP Nat 1/16x.030 x 1000ft 1 1.828
1520XL Tub FEP Nat 1/16x.030x100ft 1 193,
1521-5 Tub FEP Nat 1/8 x .062 x 5ft 1 30,

1521L Tub FEP Nat 1/8 x .062 x 50ft 1 171,
1521XL Tub FEP Nat 1/8 x .062 x 100ft 1 291,
1524L Tub FEP Nat 3/16 x .125 x 50ft 1 210,
1524XL Tub FEP Nat 3/16x.125x100ft 1 353,
1527-5 Tub FEP Nat 1/16 x .010 x 5ft 1 22,

1527L Tub FEP Nat 1/16 x .010 x 50ft 1 136,
1527M Tub FEP Nat 1/16x.010 x 1000ft 1 1. 987
1527XL Tub FEP Nat 1/16x.010x100ft 1 2009,
1528 Tub Tfzl Nat 1/16 x .030 x 5ft 1 24, ;
1528L Tub Tfzl Nat 1/16x.030x50ft 1 140,
1528M Tub Tfzl Nat 1/16x.030x 1000ft 1 2.18¢
1528XL Tub Tfzl Nat 1/16x.030x100ft 1 231,
1529 Tub Tfzl Nat 1/16 x .010 x 5ft 1 24,

1529L Tub Tfzl Nat 1/16x.010x50ft 1 140,
1529M Tub Tfzl Nat 1/16x.010x 1000ft 1 2.18¢
1529XL Tub Tfzl Nat 1/16x.010x100ft 1 231,
1530 Tub Tfzl Nat 1/8 x .062 x 5ft 1 37,

1530L Tub Tfzl Nat 1/8 x .062 x 50ft 1 2009,
1530XL Tub Tfzl Nat 1/8x.062x100ft 1 353,
1531 Tub PEEK Nat 1/16 x .010 x 5ft 1 34,

1531B Tub PEEK Blu 1/16 x .010 x 5ft 1 34,

1531BL Tub PEEK Blu 1/16x.010x50ft 1 192,
1531BM Tub PEEK Blu 1/16x.010x 1000ft 1 3.094
1531BXL Tub PEEK Blu 1/16x.010x100ft 1 328,
1531L Tub PEEK Nat 1/16x.010x50ft 1 192,
1531M Tub PEEK Nat 1/16x.010x 1000ft 1 3.0914
1531XL Tub PEEK Nat 1/16x.010x100ft 1 328,
1532 Tub PEEK Ora 1/16 x .020 x 5ft 1 34,

1532L Tub PEEK Ora 1/16x.020x50ft 1 192,
1532M Tub PEEK Ora 1/16x.020x 1000ft 1 3.094
1532XL Tub PEEK Ora 1/16x.020x100ft 1 328,
1533 Tub PEEK Grn 1/16 x .030 x 5ft 1 34,

1533L Tub PEEK Grn 1/16x.030x50ft 1 192,
1533M Tub PEEK Grn 1/16x.030x 1000ft 1 3.868
1533XL Tub PEEK Grn 1/16x.030x100ft 1 328,
1534 Tub PEEK Nat 1/8 x .062 x 5ft 1 71,

1535 Tub PEEK Red 1/16 x .005 x 5ft 1 49,

1535L Tub PEEK Red 1/16x.005x50ft 1 280,




1535M Tub PEEK Red 1/16x.005x 1000ft 1 4. 4509
1535XL Tub PEEK Red 1/16x.005x100ft 1 473,
1536 Tub PEEK Yel 1/16 x .007 x 5ft 1 34,
1536L Tub PEEK Yel 1/16x.007x50ft 1 192,
1536M Tub PEEK Yel 1/16x.007x 1000ft 1 3.091
1536XL Tub PEEK Yel 1/16x.007x100ft 1 328,
1538 Tub PEEK Nat 1/16 x .040 x 5ft 1 34,
1538L Tub PEEK Nat 1/16x.040x50ft 1 192,
1538M Tub PEEK Nat 1/16x.040x 1000ft 1 3.091
1538XL Tub PEEK Nat 1/16x.040x100ft 1 328,
1544 Tub PEEK Nat 1/8 x .080 x 5ft 1 71,
1548-5 Tub FEP Nat 1/16 x .020 x 5ft 1 19,
1548L Tub FEP Nat 1/16 x .020 x 50ft 1 117,
1548M Tub FEP Nat 1/16x.020 x 1000ft 1 1.828§
1548XL Tub FEP Nat 1/16x.020x100ft 1 193,
1559 Tub PEEK Nat 1/16 x 25um x 5ft 1 52,
1560 Tub PEEK Nat 1/16x.0025x5ft 1 49,
1560L TUBE,PEEK,NAT,1/16x.0025x50' 1 284,
1560M Tub PEEK Nat 1/16x.0025x1000ft 1 4. 548
1560XL Tub PEEK Nat 1/16x.0025x100ft 1 482,
1561 Tub PEEK BIk 1/16 x .004 x 5ft 1 49,
1561L Tub PEEK BIk 1/16x.004x50ft 1 280,
1561M Tub PEEK BIk 1/16x.004x 1000ft 1 4. 4509
1561XL Tub PEEK Blk 1/16x.004x100ft 1 47 3,
1568 Tub PEEK Nat 1/32 x .015 x 5ft 1 58,
1568L Tub PEEK Nat 1/32x.015x50ft 1 335,
1568M Tub PEEK Nat 1/32x.015x 1000ft 1 5. 3985
1568XL Tub PEEK Nat 1/32x.015x100ft 1 572,
1569 Tub PEEK Ora 1/32 x .020 x 5ft 1 58,
1569L Tub PEEK Ora 1/32x.020x50ft 1 499,
1569M Tub PEEK Ora 1/32x.020x 1000ft 1 5. 3985
1569XL Tub PEEK Ora 1/32x.020x100ft 1 572,
1570 Tub PEEK Nat 360umx50umx5ft 1 58,
1571 Tub PEEK Red 360pumx100umx5ft 1 58,
1572 Tub PEEK Yel 360umx150umx5ft 1 58, 1
1574 Tub PEEK Nat 360umx25umx5ft 1 58,
1576 Tub PEEK Red 1/32 x .005 x 5ft 1 58,
1576L Tub PEEK Red 1/32x.005x50ft 1 335,
1576M Tub PEEK Red 1/32x.005x 1000ft 1 5. 3985
1576XL Tub PEEK Red 1/32x.005x100ft 1 851,
1577 Tub PEEK Yel 1/32 x .007 x 5ft 1 58,
1577L Tub PEEK Yel 1/32x.007x50ft 1 499,
1577M Tub PEEK Yel 1/32x 007x 1000ft 1 10.62
1577XL Tub PEEK Yel 1/32x.007x100ft 1 1.124
1581 Tub PEEK Blu 1/32x.010x5ft 1 58,
1581L Tub PEEK Blu 1/32x.010x50ft 1 335,
1581M Tub PEEK Blu 1/32x.010x1000ft 1 5. 3985
1581 XL Tub PEEK Blu 1/32x.010x100ft 1 572,
1582 Adapt 10-32 Male x 1/4-28 Fem 1 29,
1583 Adapt 10-32 Fem x 1/4-28 Fem 1 36,
1583-01 Adapt Body 1583 1 31,
1586 Adapt 10-32 Malex1/4-28 Male 5 158,
1587 Upch Adapt 10-32 Fem x M6 Fem 1 46,
1587-01 Adapt Body 1587 5 104,




1588 Adapt Waters Type FemxM6 Fem 1 82, ;
1591 Adapt 10-32 Fem x 1/4-28 Male 1 32,
1591-01 Adapt Body 1591 1 16,
1592 Adapt Assy 1/16 Fem x 1/8 Fem 1 70,
1593 Union Assy - 1/8in Prep 1 115,
1593-01 Union Body - 1/8in Prep 5 74, 1
1622-5 Tub PFA Hi Pur 1/16x.020x5ft 1 28,
1622L Tub PFA Hi Pur 1/16x.020x50ft 1 168,
1622M TubPFA Hi Pur 1/16x.020x1000ft 1 3. 083
1632-5 Tub PFA Hi Pur 1/16x.030x5ft 1 28,
1632L Tub PFA Hi Pur 1/16x.030x50ft 1 163,
1632M TubPFA Hi Pur 1/16x.030x1000ft 1 2. 9985
1641-5 Tub PFA Hi Pur 1/8x.062x5ft 1 44, 4
1641L Tub PFA Hi Pur 1/8x.062x50ft 1 251,
1642L Tub PFA Hi Pur 3/16x.125x50ft 1 279,
1642XL Tub PFA Hi Pur 3/16x.125x100ft 1 476,
1645L Tub PFA Hi Pur 1/4x.188x50ft 1 352,
1645XL Tub PFA Hi Pur 1/4x.188x100ft 1 5909,
1648 Tub Tfzl Nat 1/8 x .093 x 5ft 1 37,
1648L Tub Tfzl Nat 1/8 x .093 x 50ft 1 2009,
1648XL Tub Tfzl Nat 1/8x.093x100ft 1 353,
1650L Tub FEP Nat 1/4 x .188 x 50ft 1 330,
1650XL Tub FEP Nat 1/4 x .188 x 100ft 1 562,
1671L Tub FEP Nat 1mm x 0.5mm x 15m 1 169,
1673L Tub FEP Nat 2mm x 1mm x 15m 1 169,
1677L Tub FEP Nat 3mm x 2mm x 15m 1 169,
1800 Sample Loop PEEK 2uL Assy 1 32,
1805-1 Sample Loop PEEK 50puL Tube 5 8 8,
1810 Sample Loop PEEK 100puL Assy 1 4 3,
1826 Sample Loop PEEK 20mL Assy 1 288,
1876 Sample Loop SS 10mL Assy 1 212,
1902-5 Tub HPFA+ 1/16 x .010 x 5ft 1 33,
1902L Tub HPFA+ 1/16 x .010 x 50ft 1 191,
1902M Tub HPFA+ 1/16 x .010 x 1000ft 1 3.611
1907-5 Tub HPFA+ 1/16 x .020 x 5ft 1 33,
1907L Tub HPFA+ 1/16 x .020 x 50ft 1 191,
1907M Tub HPFA+ 1/16 x .020 x 1000ft 1 3.611
1912-5 Tub HPFA+ 1/16 x .030 x 5ft 1 33,
1912L Tub HPFA+ 1/16 x .030 x 50ft 1 191,
1912M Tub HPFA+ 1/16 x .030 x 1000ft 1 3.611
1921-5 Tub HPFA+ 1/8 x .062 x 5ft 1 53,
1921L Tub HPFA+ 1/8 x .062 x 50ft 1 302,
1958-01 10-32 Fto M4 F 1 35,
1959-01 M4 Union Body, SS, 1/32" Tub 1 59,
2100 HPLC Starter Kit 1 106,
310010 PEEKSsiIl 1/32x100pumx10cm/2pk 1 37,
310015 PEEKSsiIl 1/32x100pumx15cm/2pk 1 55,
310020 PEEKSsiIl 1/32x100umx20cm/2pk 1 49,
31005 Tub PEEKSIl 1/32x100umx5cm/2pk 1 41,
310050 PEEKSsil 1/32x100umx50cm/2pk 1 78,
315010 PEEKSsiIl 1/32x150umx10cm/2pk 1 44,
315015 PEEKSsiIl 1/32x150umx15cm/2pk 1 55,
315020 PEEKSsiIl 1/32x150umx20cm/2pk 1 73,
31505 Tub PEEKSIl 1/32x150umx5cm/2pk 1 41,




315050 PEEKSsil 1/32x150umx50cm/2pk 1 78,
32510 Tub PEEKSIl 1/32x25umx10cm/2pk 1 37,
32515 Tub PEEKSIl 1/32x25umx15cm/2pk 1 46,
32520 Tub PEEKSIl 1/32x25umx20cm/2pk 1 131,
3255 Tub PEEKSIl 1/32x25umx5cm/2pk 1 27,
32550 Tub PEEKSIl 1/32x25umx50cm/2pk 1 78,
35010 Tub PEEKSIl 1/32x50umx10cm/2pk 1 37,
35015 Tub PEEKSIl 1/32x50pumx15cm/2pk 1 37,
35020 Tub PEEKSiIl 1/32x50umx20cm/2pk 1 49,
3505 Tub PEEKSIl 1/32x50pumx5cm/2pk 1 27,
35050 Tub PEEKSiIl 1/32x50umx50cm/2pk 1 78,
37510 Tub PEEKSIl 1/32x75umx10cm/2pk 1 30,
37515 Tub PEEKSIl 1/32x75umx15cm/2pk 1 55,
37520 Tub PEEKSIl 1/32x75umx20cm/2pk 1 49,
3755 Tub PEEKSIl 1/32x75umx5cm/2pk 1 41,
37550 Tub PEEKSIl 1/32x75umx50cm/2pk 1 78,
610010 PEEKSsiIl 1/16x100pumx10cm/5pk 1 79,
610015 PEEKSsiIl 1/16x100umx15cm/5pk 1 93,
610020 PEEKSsiIl 1/16x100umx20cm/5pk 1 107,
61005 Tub PEEKSIl 1/16x100pmx5cm/5pk 1 914,
610050 PEEKSsiIl 1/16x100umx50cm/2pk 1 78,
615010 PEEKSsiIl 1/16x150umx10cm/5pk 1 112,
615015 PEEKSiIl 1/16x150pumx15cm/5pk 1 93,
615020 PEEKSsiIl 1/16x150pumx20cm/5pk 1 157,
61505 Tub PEEKSIl 1/16x150umx5cm/5pk 1 94,
615050 PEEKSIl 1/16x150pumx50cm/2pk 1 78,
617510 PEEKSIl 1/16x175umx10cm/5pk 1 77,
617520 PEEKSsiIl 1/16x175umx20cm/5pk 1 157,
617550 PEEKSIl 1/16x175umx50cm/2pk 1 112,
620010 PEEKSiIl 1/16x200pumx10cm/5pk 1 77,
620015 PEEKSIl 1/16x200umx15cm/5pk 1 93,
620020 PEEKSiIl 1/16x200umx20cm/5pk 1 210,
62005 Tub PEEKSIl 1/16x200umx5cm/5pk 1 78,
620050 PEEKSiIl 1/16x200umx50cm/2pk 1 78,
62510 Tub PEEKSIl 1/16x25umx10cm/5pk 1 96,
62515 Tub PEEKSIl 1/16x25umx15cm/5pk 1 93,
62520 Tub PEEKSIl 1/16x25umx20cm/5pk 1 107,
6255 Tub PEEKSIl 1/16x25umx5cm/5pk 1 914,
62550 Tub PEEKSIl 1/16x25umx50cm/2pk 1 78,
630010 PEEKSsiIl 1/16x300umx10cm/5pk 1 182,
630015 PEEKSsiIl 1/16x300umx15cm/5pk 1 133,
630020 PEEKSsiIl 1/16x300umx20cm/5pk 1 105,
63005 Tub PEEKSIl 1/16x300umx5cm/5pk 1 103,
630050 PEEKSsiIl 1/16x300umx50cm/2pk 1 78,
65010 Tub PEEKSIl 1/16x50umx10cm/5pk 1 78,
65015 Tub PEEKSIl 1/16x50umx15cm/5pk 1 93,
65020 Tub PEEKSIl 1/16x50umx20cm/5pk 1 107,
6505 Tub PEEKSIl 1/16x50pumx5cm/5pk 1 6 3,
65050 Tub PEEKSIl 1/16x50umx50cm/2pk 1 78,
67510 Tub PEEKSIl 1/16x75umx10cm/5pk 1 78,
67515 Tub PEEKSIl 1/16x75umx15cm/5pk 1 93,
67520 Tub PEEKSIl 1/16x75umx20cm/5pk 1 107,
6755 Tub PEEKSIl 1/16x75umx5cm/5pk 1 94,
67550 Tub PEEKSIl 1/16x75umx50cm/2pk 1 78,




6810 IDEX Wrench 1/4 in and 5/16 in 1 51,
7755-300 Smpl Loop SS for Titan HT 5pL 1 137,
A-100 Frit SS 2um .094x.065x.2485 1 4 3
A-101 Frit SS 2um .062x.065x.2485 1 4, 3
A-102 Frit SS 0.5um .062x.065x.2485 1 4, 3
A-103 Frit SS 0.5um .094x.065x.250 1 4, 3
A-105 Frit SS 10um .062x.065x.250 25 7,5
A-106 Frit SS 10um .094x.065x.250 1 7,6
A-107 Frit SS 10um .189x.074x.254 1 7, 6
A-112 Frit UHMW 2um .065x.065x.250 1 8, 9
A-113 Frit UHMW 2pum .094x.065x.250 1 9, 2
A-115 Frit UHMW 2um .190x.074x.254 1 6, 3
A-116 Frit UHMW 10um .062x.065x.250 25 22,
A-119 Frit UHMW 10um .188x.074x.254 1 7,6
A-120 Frit SS 20um .125x.065x.250 1 4,9
A-122 Frit SS 20um .188x.074x.254 1 4, 8
A-200 Solvent Filter Inlet Kit 20um 1 167,
A-201 Kit Solvent Filter Inlet 2um 1 115,
A-210 Tub Teflon 3ft & P-100 1 19,
A-220 Solvent Filt Inlet 10pum 1/8 1 19,
A-221 Solvent Filter Inlet 10um/5pk 1 98,
A-222 Solvent Filter Inlet 2um 1/8 1 18,
A-223 Solvent Filter Inlet 2um 5pk 1 90,
A-224 Frit SS PTFE20um.188x.074x.254 1 5,1
A-225 Solvent Filter Inlet 20um 1/16 1 27,
A-225A Solvent Filter Inlet 20pum 1/8 1 40,
A-225A-1 Filter inlet 20um 1 59,
A-226A Solvent Filter let 10pum 5/16 1 228,
A-227A Solvent Filter Inlet 10um 1/4 1 8 3,
A-228 Solvent Filter Inlet 2um 1/8 1 71,
A-230A Solvent Filter Inlet 20um 1/4 1 86,
A-231A Filter Inlet 20um5/16-24,3/16 1 40,
A-240 Solvent Filter Inlet 10um 1/8 1 46,
A-241 Solvent Filter Inlet 10pum/5pk 1 153,
A-242 SolventFilter Inlet 2um 1/8Tub 1 29,
A-243 Solvent Filter Inlet 2um/5pk 1 195,
A-302 Solvent Filter Inlet General 1 22,
A-302A Solvent Filter inlet 1/4-28 1 28, 1
A-302S Solvent Filter Inlet, Select 1 31,
A-304 Wrench Open End 1/4 x 5/16 1 15,
A-305 Wrench Open End 1/2 x 9/16 1 23,
A-309 BOB Solvent Filter Assy 10um 1 29,
A-310 Solvent Filterinlet WatersType 1 28,
A-311 Solvent Filter Inlet Prep 1 69,
A-311A Solv Filter Inlet Prep 1/4-28 1 76,
A-313 Filter - Inline SS w/20um Frit 1 69,
A-314 Solvent Filter - Inline 1 69,
A-314-01 Solvent Filter, Inline-Female 1 36,
A-314-02 Solvent Filter, Inline-Male 1 30,
A-315 Precolumn Filter Assy 2um 1 69,
A-315-01 Precolumn Filter Female End 1 36,
A-315-02 Precolumn Filter Male End 1 45,
A-316 Precolumn Filter 0.5um 1 70,
A-318 Precolumn Filter 0.5um 1 89




A-320 Wrench Open End 3/8 x 7/16 1 23,
A-327 Plastic Tubing Cutter 1 27, 1
A-328 Tub Cutter Blade 5pk 1 7,1
A-329 Polymer Tubing Cutter Lg Bore 1 27,
A-330 Semi-Prep Filter Assy 1 105,
A-331 Frit SS Nat 10pum 5 15,
A-332 Semi-Prep Nat Frit Assy 2um 5 15,
A-337 Frit SS 20pum .750x.070x.881 1 15,
A-343 Frit SS Grn 2um .625 x .750 1 16,
A-345 Frit SS Nat 20um .625 x .750 25 13,
A-346 Frit PEEK 2pm .613x.070x.750 1 14,
A-350 Tube Cutter Capillary Polymer 1 137,
A-355 Filter PreColumn PEEK 2um 1 72,
A-355-01 Filter Body PreColumn Biocomp 1 31,
A-355-02 Filter Cap PreColumn Biocomp 1 31,
A-356 Filter PreColumn PEEK 0.5um 1 72,
A-360 Semi-Prep Filter Asy 5/16-24 1 156,
A-410 Semi-Prep Filter 2um 1 124,
A-411 Semi-Prep Filter 10um 1 124,
A-415 Filter Lo Press - 1/16 Tub 5 30,
A-416 Filter Lo Press - 1/8 Tub 1 30,
A-417 Frit SS Grn 2um .062x.065x.200 1 11,
A-418 Frit SS 0.5um .062x.065x.200 25 21,
A-420 Frit SS Grn 2um .125x.065x.200 1 7, 4
A-422 Frit UHMW 2um .065x.065x.200 25 17,
A-423 Frit UHMW 10um .062x.065x.200 1 7,7
A-424 Fltr Inline Metal Free 2um 1 23,
A-425 Fltr Inline Metal Free 10um 1 23,
A-426 Solvent Filter UHMWPE 10um 1 20,
A-427 Filter Body UHMWPE 10um/5pk 1 29,
A-428X Filter End Ftg 0.5um PEEK/10pk 1 75,
A-429X Filter End Ftg 2um PEEK/10pk 1 75,
A-430 Filter 2um 1 35,
A-431 Filter 0.5um 1 31, 1
A-435 BOB Filter Assy PEEK 1 30,
A-436 BOB Filter Assy PEEK 3/16 1 30,
A-437 BOB Filter Asy PEEK 1/8 2um 1 30,
A-438 BOB Filter Asy PEEK 1/8 10um 1 30,
A-440 BOB Filter Assy PEEK 1/8 10um 1 30,
A-441 BOB Filter Assy PEEK 3/16 10um 1 30,
A-445 Solvent Filter UHMW 1/16 10um 1 23,
A-446 Solvent Filter UHMWPE 1/8 10um 1 23,
A-450 BOB Filter Assy PEEK 1/16 2um 1 42,
A-451 BOB Filter Assy PEEK 1/16 10um 1 28,
A-452 BOB Filter Asy PEEK 1/16 2um 1 42,
A-453 BOB Filter Asy PEEK 1/16 10um 1 28,
A-510 Semi-Prep Filter 5um 3/16 1 125,
A-511 Semi-Prep Filter 5um 1/4 1 179,
A-520X Repl Filter Cup 10pum - 10pk 1 34,
A-522X Repl Filter Cup 2um - 10pk 1 34,
A-550 Fltr Asy 10um for 1/8 OD Tub 1 79,
A-551 Fltr Asy 2um for 1/8 OD Tub 1 79,
A-610 Bottle Cap Assy 3/16 1 28,
A-620 Bottle Cap Assy 1/8 1 28,




A-622 Bottle Cap Assy 1/8-Small Neck 1 28,
A-626 Bottle Cap Plug 1 5, 6
A-627 Plug Bttle SS 20um-Taper Hole 1 10,
A-628 Bottle Cap Plug 1/8 1 5, 6
A-629 Plug Bttle SS Fltr 20um-1/8 1 14,
A-630 Bottle Cap Assy 1/16 1 28,
A-632 Bottle Cap Asy 1/16 Small 1 42,
A-700 Frit PEEK 2um .062x.065x.250 1 10,
A-701 FRIT,PK,3LU,.5UM,.062X.065X.25 1 10,
A-702 Frit PEEK 2um .091x.065x.250 1 10,
A-703 Frit PEEK 0.5um .094x.065x.250 1 10,
A-704 Frit PEEK 2um .125x.065x.250 1 10,
A-706 Frit PEEK 2pm .188x.065x.250 1 10,
A-707 Frit PEEK 0.5um .195x.064x.247 1 10,
A-708 Frit PEEK 2pm .062x.065x.200 1 10,
A-710 Frit PEEK 2um .125x.065x.200 1 10,
A-720 Frit PEEK 10pm .125x.077x.250 1 10,
A-722 Frit PEEK 10um .197x.074x.247 1 10,
A-735 MicroFIt 0.5um .045x.033x.192 25 15,
A-735X Frit MicrFltr PEEK 0.5um/10pk 1 99,
B-300 Bottle 1L Wide Safety-Coated 1 50,
B-310 Syringe 10cc Luer-lok 1 1,2
C-1000 Semi-Prep Guard Column Holder 1 277,
C-1030 Threaded Repl Cap SS 2um 1 31,
C-1033 Dry Packing Funnel 10mm 1 67,
C-1035 Semi-Prep Guard Asy 10mm x 1cm 1 66,
C-1100-01 Col Holder - PEEK 5 167,
C-1210 Col Coupler Sample Trap 5 102,
C-128 MicroBore Guard Column 1 166,
C-128-31 Frit SS BIk 0.5um 1 6, 6
C-128-40 Slurry Packing Adapter 1 184,
C-1300 Col Assy Sample Trap Ti 1 981,
C-130-40 Slurry Packing Adapter & Seal 1 64,
C-130B Grd Col 2mm x 2cm 1 140,
C-1326 Col Holder Assy Ti 1 941,
C-140-30 Frit SS 0.5um .188x.074x.254 1 4, 3
C-160 Cartridge Holder Assy 1 1409,
C-1600 Col Assy Sample Trap Ti 25mm 1 420,
C-161 Cartridge Assy 25 54,
C-161-02 Cartridge Sleeve Inner 1 7,8
C-168 Cartridge Assy 2mm x 1cm 25 43,
C-168-01 Cartridge Sleeve Inner 2mm 1 11,
C-169 Cartridge Assy 4mm x 1cm 25 43, 1
C-235 Male Nut 1/8 1 11,
C-235X Male Nut 1/8 10pk 1 105,
C-236 Ferrule 1/8 1 6, 7
C-236X Ferrule 1/8 10pk 1 6 3,
C-270 Cartridge HIdr FngrTgts Bio 1 167,
C-281 Col 2mm x 1cm w/C-270 6pk 1 781,
C-282 Col 2mm x 1cm - ODS 10pk 1 00
C-290-01 Col End Ftg Tefzel Flgls Nut 1 14,
C-401 Frit SS 2um .125x.065x.2485 1 4, 3
C-402 Frit SS Nat 2um .187x.074x.254 1 4, 3
C-407 Frit SS Grn 2um .038x.030x.062 1 7, 3




C-407-02 Disc SS 2um @.038 x .028 25 1,7
C-408 Frit SS Nat .038 x .030 x .125 1 7, 2
C-409 Frit SS 0.5um .038x.030x.062 1 7, 3
C-420 Frit SS 2um .038 x .031 x .192 1 8, 7
C-425 McroFIt 0.5um .038x.031x.192 25 8, 7
C-610 Grd Col Assy 2pum 4.6mm x 1cm 1 30,

C-710 Col Cartridge 4.3mm x 1cm 1 36,

C-710-01 Cartridge Body 4.3mm x 1cm 1 26,

C-751 Col 4.3mm x 1cm w/C-270 6pk 1 659,
C-752 Col 4.3mm x 1cm - ODS 10pk 1 813,
CV-3000 CV Inline Assy 1 106,
CV-3000NF CV Inline Assy w/o Fittings 1 103,
CV-3001 CV Inline Cartridge 1 140,
CV-3010 CV Inline Assy 3 psi 1/8in 1 106,
CV-3011 CV Inline Cartridge 3 psi 1 202,
CV-3301 CV Inlet 1/4-28 (Perfluor) 1 75,

CV-3302 CV Outlet Asy 1/4-28 (Perflu) 1 75,

CV-3310 CV Inline Assy 3 psi 1/4-28 1 118,
CV-3315 CV Inlet Asy 3psi 1/4-28 .020 1 117,
CV-3316 CV Outlet 3 psi 1/4-28 .020 1 117,
CV-3320 CV Inlet Non-Metallic 1 117,
CVv-3321 CV Outlet Non-Metallic 1 117,
CV-3322 CV Inlet Non-Metallic.040 thru 1 118,
CVv-3323 CV Outlet Non-Metallic .040 1 118,
CV-3324 CV Inlet Non-Metallic.060 thru 1 117,
CV-3325 CV Outlet Non-Metallic .060 1 117,
CV-3330 CV Inline Non-Metallic 1/4-28 1 117,
CV-3335 CV Inlet Non-Met 1/4-28110-32E 1 117,
CV-3336 CV Out Non-Met 1/4-28110-32E 1 223,
CV-3340 CV Inline Non-Metallic 10-32 1 117,
CV-3345 CV Inline Outlet 1 117,
CV-3500 Micro-Volume Check Valve 1 170,
CV-3500-05 Check Valve Diaphragm 1 77,

D-223BLK Flgls Nut Short 1/16 Blk PP 25 1,6
D-301 Flangeless Nut 1/8 Blk Delr 1 0, 9
D-323BLK Flgls Nut Short 1/8 Blk PP 25 2, 4
D-324BLK Flat Bottom Plug 1/4-28 Blk PP 1 0,9
D-646 Swivel Barb Ftg, 1/16in 1 5, 2
D-647 Swivel Barb Ftg, 3/32in 1 5, 2
D-648 Swivel Barb Ftg, 1/8in 25 5, 2
F-100 FingerTight | Male Nut-Red 1 22,

F-100X FngrTt | Male Nut-Red/10pk 1 2009,
F-110 FingerTight Male Nut 1/4-28 25 22,

F-112 MicroFerrule 1/32in 1 9,0
F-113 FingerTight MicroFerrule,1/32 1 10,

F-120 FingerTight | PEEK 1 7,5
F-120B FingerTight | PEEK Blue 25 14,

F-120BLK FingerTight | PEEK Black 1 7,5
F-120G FingerTight | PEEK Green 25 14,

F-120R FingerTight | PEEK Red 25 14,

F-120X FingerTight | PEEK/10pk 1 72,

F-120Y FingerTight | PEEK Yellow 25 21,

F-123H Hdls Nut 6-32FB 360/510um/1/32 1 8,9
F-123S 6-32 FB Nut 360/510um & 1/32 25 34,




F-124H Headless Nut 6-32 Coned 360um 1 8,9
F-124HX Hdls Nut 6-32 Coned 360um/10pk 1 814,
F-124S Standard Nut 6-32 Coned 360um 1 8, 9
F-124SX Std Nut 6-32 Coned 360um/10pk 1 84,
F-125 Micro FingerTight PEEK 6-32 1 8,9
F-125H Headless Nut 6-32 Coned .025in 1 13,
F-125HX Hdls Nut 6-32 Coned .025/10pk 1 8 4,
F-125X Micro FngrTt PEEK 6-32/10pk 1 87,
F-126 6-32 Coned Nut 1/32in Natural 1 8,9
F-126H NUT,HEADLESS,6-32,CONED,1/32 25 8,9
F-126HX Hdls Nut 6-32 Coned 1/32/10pk 1 8 4,
F-126S NUT,STD,6-32,CONED,1/32 1 8,9
F-126SX Std Nut 6-32 Coned 1/32in/10pk 1 87,
F-130 Long FingerTight | PEEK Nat 1 7,5
F-130X Long FngrTt | PEEK Nat/10pk 1 72,
F-132 MicroFerrule 1/16in 1 17,
F-142 Repl Ferr Hi Press FngrTt Ii 1 5,1
F-142N Repl 1/16 Ferrule Nat ETFE 1 5,1
F-142NX Repl 1/16 Ferr Nat ETFE/10pk 1 50,
F-142X Ferr Hi Press FngrTt/10pk 1 50,
F-148 Micro FngrTt Ferr .009in ID 1 16,
F-151 Micro FngrTt Ferr .015in ID 1 16,
F-152 Mini MicroFilter Ferr .015in 1 9,0
F-152BLK Mi MicrFltr Ferr .015 PEEK BIk 1 17,
F-156 Female Nut PEEK BIk 1/4-28 1/8 1 8,0
F-156X F Nut PEEK Blk 1/4-28 1/8 10pk 1 75,
F-160 FingerTight Il 1/4-28 Hi Press 1 21, 1
F-160X FngrTt Il 1/4-28 Hi Press 10pk 1 136,
F-162 FngrTt Ferr 1/4-28 Hi Press 1 5,1
F-172 MicroFerrule .025in PEEK Black 1 9,0
F-180 MicroTight Slv Red .005 x .025 1 2,9
F-181 MicroTight Slv Yel .007 x .025 1 2,9
F-182 MicroTight Slv Nat .009 x .025 1 4 4
F-183 MicroTight Slv Blu .011 x .025 1 4, 4
F-184 MicroTight Slv Ora .013 x .025 1 2,9
F-185 MicroTight Slv Grn .0155x.025 1 2,9
F-185X MicTgt Slv Grn .0155x.025/10pk 1 28,
F-186 MicroTight Slv Blk .018 x .025 1 4, 4
F-187 MicroTight Slv Nat .021 x .025 1 4, 4
F-188 MicroTight Slv Pur .006 x .025 1 2,9
F-192 SealTight Ferrule 1 5, 2
F-192X SealTight Ferrule/10pk 1 50,
F-193 SealTight Short Hex-head 1 7,5
F-193X SealTight Short Hex-head/10pk 1 70,
F-195 Short SealTight Fitting 10-32 1 7,5
F-195X Short SealTight Ftg 10-32/10pk 1 72,
F-196 Long SealTight Fitting 10-32 1 7,5
F-196X Long SealTight Ftg 10-32/10pk 1 70,
F-197 M6 SealTight Assy 25 13,
F-200 FingerTight Il 10-32 Red 1 6, 7
F-225 Tub Slv PEEK Red .062 x .005 1 7,7
F-226 Tub Slv PEEK Yel .062 x .007 1 5,1
F-227 Tub Slv PEEK Yel .062 x .009 1 5,1
F-228 Tub Slv PEEK Blu .062 x .011 1 7,7




F-229 Tub Slv PEEK Nat .062 x .013 1 5,1
F-230 TUB SLV PEEK ORA .062X.016 1 5,1
F-231 Tub Slv PEEK Nat .062 x .022 1 7,7
F-232 Tub Slv PEEK Nat .062 x .031 1 5,1
F-233 Tub Slv PEEK Blu .062 x .034 1 5,1
F-234 Tub Slv PEEK Yel .062 x .027 1 5,1
F-237 Slv FEP Red 1/16 x .005 x 1.55 1 2,9
F-238 Slv FEP Yel 1/16 x .007 x 1.55 1 2,9
F-239 Slv FEP Nat 1/16x.0085x1.55 1 2,9
F-240 Slv FEP Blu 1/16 x .011 x 1.55 1 2,9
F-241 Slv FEP Ora 1/16 x .013 x 1.55 1 2,9
F-241N Slv FEP Nat 1/16 x .013 x 1.55 25 17,

F-242 Slv FEP Grn 1/16x.0155x1.55 1 2,9
F-242X SLV,FEP,GRN,1/16x.0155x1.55, 1 28,

F-243 Slv FEP Blk 1/16 x .018 x 1.55 1 2,9
F-244 Slv FEP Nat 1/16 x.021 x 1.55 1 2,9
F-245 Slv FEP Red 1/16 x .024 x 1.55 1 2,9
F-246 Slv FEP Yel 1/16 x .027 x 1.55 1 2,9
F-247 Slv FEP Grn 1/16 x .033 x 1.55 1 2,9
F-252 Slv FEP Pur 1/16 x .042 x 1.55 1 2,9
F-252X Slv FEP Pur 1/16x.042/10pk 1 27,

F-262 Slv FEP Grn 1/16 x .0155 x 2in 25 6, 3
F-264 Slv FEP Nat 1/16 x .021 x 2in 1 4,7
F-267B Slv FEP Blu 1/16 x .033 x 2in 1 3,1
F-287 SealTight PEEK Fat-Head 1 7,5
F-287-01 SealTight PEEK Fat-Head Nut 1 3,3
F-287X SealTight PEEK Fat-Head/10pk 1 70,

F-290 Flangeless SealTight Ferrule 1 6, 2
F-292 SealTight Flangeless Nut Delr 25 2,5
F-294 SealTight Flangeless Nut PEEK 1 3,7
F-298 Shrt SealTight FIngs Nut PEEK 1 3,7
F-300 FingerTight 111 10-32 1 7,5
F-300X FingerTight 111 10-32/10pk 1 72,

F-301 FingerTight Ill 1/4-28 1 7,5
F-301-01 FingerTight 11l 1/4-28 Body 25 5, 6
F-330 Long FingerTight 2pc PEEK 25 7,5
F-330X Long FingerTight 2pc PEEK/10pk 1 72,

F-331 Short Fingertight 2pc PEEK 25 7,5
F-331X Short FngrTt 2pc PEEK/10pk 1 70,

F-333N Ftg NT PEEK Hdls Short 1/16 25 7,5
F-333NX Ftg PEEK Hdls Short 1/16-10pk 1 72,

F-345 Flush Nut Wrench 10-32 Nuts 1 96,

F-346 Flush Nut Wrench 1/4-28 Nuts 1 92,

F-350 Flush Nut 1/16 SealTight Type 1 13,

F-350X Flush Nut 1/16 SealTight /10pk 1 126,
F-354 Flush Nut 1/16 LiteTouch Type 1 13,

F-354X Flush Nut 1/16 LT /10pk 1 126,
F-356 SS FlushNut 1/4-28 Thread 1 13,

F-356X SS FlushNut 1/4-28 Thread/10pk 1 126,
F-358 Flush Nut 1/16 Flangeless Type 1 13,

F-364 Flush Nut 1/8 LiteTouch Type 1 13,

F-364X Flush Nut 1/8 LT /10pk 1 126,
F-368 Flush Nut 1/8 Flangeless Type 1 13,

F-370 Slv FEP Nat 1/32 x .003 x 1.55 1 2,9




F-372 Slv FEP Yel 1/32 x .007 x 1.55 1 2,9
F-373 Slv FEP Nat 1/32 x .009 x 1.55 1 2,9
F-374 Slv FEP Blu 1/32 x .011 x 1.55 1 4, 4
F-375 Slv FEP Ora 1/32 x .013 x 1.55 1 4, 4
F-376 Slv FEP Grn 1/32x.0155x1.55 1 2,9
F-380 Slv PEEK Red 1/32x.005x1.55 1 4, 4
F-381 Slv PEEK Yel 1/32x.007x1.55 1 4, 4
F-382 Slv PEEK Nat 1/32x.008x1.55 1 4, 4
F-383 Slv PEEK Gry 1/32x.009x1.55 1 2,9
F-384 Slv PEEK Blu 1/32x.010x1.55 1 2,9
F-385 Sleeve,PEEK,Nat,1/32 x .015 1 2,9
F-385X SLV,PEEK,NAT,1/32,X.015X1.55 1 28,
F-386 Slv PEEK Ora 1/32x.020x1.55 1 4, 4
F-387 Slv PEEK Red 1/32x.011x1.55 25 8, 6
F-388 Slv PEEK Blk 1/32x.013x1.55 1 4,9
FS-110 Fused Silica 360umx100umx2m 1 114,
FS-115 Fused Silica 360umx150umx2m 1 114,
FS-120 Tub Fused Silica 360pumx20pumx2m 1 114,
FS-150 Tub Fused Silica 360pumx50umx2m 1 114,
FS-175 Tub Fused Silica 360pumx75pmx2m 1 114,
FS-310 Fused Silica Cleaving Stone 1 11,
FS-311 Fused Silica Carbide Cutter 1 13,
FS-315 Fused Silica Tub Cut Shortix 1 456,
FS-315-02 Shortix Maintenance Kit 1 240,
FSCK- 12C FS Com Cable 12C 1 15,
LT-100 LiteTouch Ferrule 1/16in 1 7, 2
LT-100X LiteTouch Ferr 1/16in - 10pk 1 70,
LT-105 Sprflangels/LiteTouch SS Nut 1 21,
LT-105X SF/LT SS Nut/10pk 1 140,
LT-110 LiteTouch Nut 1/16in 1 3, 8
LT-110X LiteTouch Nut 1/16in 10pk 1 37,
LT-111 LiteTouch Flangeless Ftg 1/16 1 4,1
LT-115 Nut SF Short 1/16in PEEK Nat 1 3,8
LT-115B Nut SF Short 1/16in PEEK Blue 25 7, 3
LT-115BLK Nut SF Short 1/16in PEEK Black 1 3,8
LT-115G Nut SF Short 1/16in PEEK Green 25 7, 3
LT-115GY Nut SF Short 1/16in PEEK Gray 1 3,8
LT-1150R Nut SF Short 1/16 PEEK Orange 25 21, 1
LT-115R Nut SF Short 1/16in PEEK Red 25 5, 6
LT-115X NUT,SF SHORT,1/16,PEEK,10/pk 1 37,
LT-132 LiteTouch Micro Ferrule 1/32in 1 10,
LT-132X LiteTouch Micro Ferr 1/32 10pk 1 102,
LT-135 LiteTouch SealTight Ferr Assy 1 7, 2
LT-135X LT SealTight Ferr Asy 10pk 1 68,
LT-200 LiteTouch Ferrule 1/8in 1 7,5
LT-200X LiteTouch Ferrule 1/8in 10pk 1 70,
LT-210 LiteTouch Nut 1/8in 25 3,8
LT-210X LiteTouch Nut 1/8in 10pk 1 36,
LT-215 Short 1/8 LT Male Nut PEEK Nat 1 3,8
LT-215B Short 1/8 LT Male Nut PEEK Blu 25 7,3
LT-215BLK Short 1/8 LT Male Nut PEEK Blk 25 3,8
LT-215G Short 1/8 LT Male Nut PEEK Grn 25 10,
LT-215GY Short 1/8 LT M Nut PEEK Gray 25 5, 8
LT-215X Short 1/8 LT Nut PEEK Nat/10pk 1 36,




LT-300 LiteTouch Parting Tool 1 40,
LT-300-02 LiteTouch Blade 1 32,
M-100 MiniTight Male Nut 1 24,
M-110 Micro MiniTight Kel-F 1 24,
M-120 Filter End Fitting 0.5um PEEK 5 17,
M-120X Filter End Ftg 0.5um PEEK/10pk 1 151,
M-121 Filter Cap Assy 1um Green/2pk 1 64,
M-123 Filter Cap 1pm Blue use M-533 1 50,
M-124 Filt Cap 2um Red/Grn use M-532 1 53,
M-124NF PEEK Capsule Union-No Filter 1 36,
M-125 Nanofilter Cap 1um SS/2pk 1 73,
M-126 Nanofilter Cap 1pum Ti/2pk 1 89,
M-128 Conductive Capsule 1um SS 2pk 1 154,
M-128NF Conductive Union - SS 1 69,
M-131 Filter Cap Assy 1um Tan/2pk 1 96,
M-133 Fltr Cap 1um SS BIk/Tn 2pk 1 72,
M-134 Fltr Cap 1um Ti Tn/Blk 2pk 1 129,
M-135-1 Inline MicroFilter Assy 1um SS 1 107,
M-138NF MicroUnion Capsule 1/32in 5 203,
M-140 Filter End Ftg 0.5um PEEK-1/32 5 23,
M-150 Swaging Tool TinyTight 1 48,
M-152 Swaging Tool 6-32 1 39,
M-200 PEEK Spacer for 1/16in Tubing 1 20,
M-215 MicroFerrule Conductive 360um 1 69,
M-250 SF 10-32 FB Ferr Asy 1/16 1 18,
M-250X SF 10-32 FB Ferr 1/16 10pk 1 165,
M-400 Valve Adapter 1 103,
M-405S Micro-Splitter VIv 6-32 SS 1 212,
M-410 Micro-Volume BPR PEEK Tubing 1 300,
M-412 Micro-Volume BPR 500 psi 1 300,
M-420 Micro-Volume BPR 100 psi 10um 1 441,
M-432 MIV Injection Port Adapt Assy 1 107,
M-432-03 Repl Tubing/Fitting Assy 1 4 4,
M-433 Injection Port Adapt Assy 1/32 1 89,
M-447 Insulating Mtng Bracket Assy 1 61,
M-472 Micro-Splitter 10-32/6-32 Grad 1 466,
M-500 MicroFilter Fused Silica 0.5um 1 129,
M-500-04 MicroFilter Tube & Ferr Assy 1 17,
M-510 Precolumn MicroFilter Assy 1 129,
M-520 Inline MicroFilter Assy 1 116,
M-520-01 Inline MicrFiltr Bdy .006 thru 1 40,
M-525 Inlin MicrFiltr Kit 0.5um PEEK 1 122,
M-533 Mini MicroFilter Assy 1um 1 197,
M-540 Micro Static Mixing Tee Assy 1 206,
M-540A Micro Static Mix Tee No Frit 1 164,
M-542 MicrFltr 1/32 Tub 2um Screen 1 289,
M-543 MicrFltr 1/32 Tub 1pum Screen 1 345,
M-547 MicrFltr Asy 1/32 1um SS Disc 1 247,
M-548 MicrFltr Asy 1/32 1um Ti Disc 1 280,
M-550 Precolumn MicroFilter 0.5um SS 1 129,
M-555-1 MicroFilter 1/16 Tubing 2um 1 100,
M-560 Precolumn MicrFltr 0.5um PEEK 1 129,
M-560-1 MicrFltr 1/16 Tub 0.5um PEEK 1 277,
M-572 Conductive MicroUnion Assy 1 101




M-615-1 Manual VIv Mountg Kit-4 port 1 64,
M-615-2 Manual VIv Mountg Kit-6 port 1 77,
M-644-02 SF TinyTight Loc Rng 1/16 Tub 1 7,6
M-644-03 SuperFInglss TyTight PEEK Nut 1 5,0
M-644-03X S,FInglss, TyTight,PK,Nut/10pk 1 47,
M-645 Fitting, FT Valco 1 15,
M-645X Ftg Valco Comp 1/32 6-40 10pk 1 140,
M-646 SuperFInglss TyTight Ftg .030 1 23,
M-646-01 SF TyTight Ferr PEEK BIk 1 10, 1
M-647 TT Mstac Ferr PEEK Nat .020 1 18,
M-650 SF FB Ferr Asy 1/16 SS Rg 1 18,
M-650X SF,FLAT BTTM,FERR,1/16,SS/10pk 1 165,
M-652 Nut SF Short Hex 1/16 PEEK Grn 1 4,9
M-652X Nut SF ShortHex 1/16 PEEK/10pk 1 47,
M-653 Nut SF Short Knurl 1/16 PEEK 1 5,0
M-653X Nut SF Short Knurl PEEK/10pk 1 47,
M-654 Nut SF Knurl-Hex 1/16 PEEK Grn 25 5,0
M-655 Nut SF Long Hex Head 1/16 PEEK 1 4, 9
M-655X Nut SF Long Hex 1/16 PEEK/10pk 1 47,
M-657 TT Mstac Ferr PEEK Blk .030 1 18,
M-660 SF Nut-PEEK Nat 6-32 1 5,0
M-660X SF Nut-PEEK Nat 6-32/10PK 1 47,
N-123-02 NanoPort Gasket FB Port 1 28,
N-123-03 NanoPort Ferr FB 360/510um 1 108,
N-123-03X NanoPrt Ferr 6-32FB 360um/10pk 1 1.037
N-290 Extender Tool-Nano Hdls Nut 1 33, 1
N-291 EXTDR Torque Wrench Headless 1 8 3,
N-333 NanoPort Hdls 10-32 Cnd 1/16 1 27,
N-333-01 NanoPort 10-32 Coned 1 25,
0C-416 PEEK Omega Frit w/Rg (2um) Grn 1 20,
0C-419 Omega End Ftg/Nat - Hex 1 16,
0OC-419BLK Omega End Fitting/Black - Hex 1 16,
0C-802 Mega Frit w/Ring 2um PCTFE Grn 1 20,
0OC-803 Frit PEEK 10um .457x.077x.560 1 20,
0C-805 Frit PEEK 5um .455x.058x.560 1 14,
0C-815 Frit PEEK 5um .294x.062x.375 1 16,
P-100 Male Nut PlasticTight 1/8in 1 12,
P-1000 Stnd Knurl TQ Tool 4in-lbs 1 591,
P-1082BLKX Flanged Ftg Knurl M6 1/8 10pk 1 19,
P-1087X Washer SS M6 1/8in 10pk 1 21,
P-1100 Sprflangels Ferr Assy 1mm OD 1 11,
P-116 Plug Micro Ferrule 1 9,7
P-120 Plug PlasticTight 1/16in 1 29,
P-123 Plug Tefzel 1/4-28 Hex Head 25 2,5
P-130 Nut PEEK 5/16-24 for 1/8 Flgls 1 5, 6
P-131 Nut PEEK 5/16-24-1/8 LT 1 5, 6
P-132 Nut PEEK 5/16-24 - 3/16 Flgls 1 5, 8
P-133 Flgls Ferr 3/16 Tefzel Blue 1 1,5
P-133N Flgls Ferr 3/16 Tefzel Nat 1 1,5
P-133NX Flgls Ferr 3/16 Tfz Nat 10pk 1 14,
P-133X Flgls Ferr 3/16 Tfz Blue 10pk 1 14,
P-134 Union Body PEEK 5/16in 1 18,
P-135 Adapt 1/4-28 x 5/16-24 PEEK 1 18,
P-136 5/16-24 Nut 1/16 Flgls Ftg 1 5, 6




P-136BLK 5/16-24 Nut 1/16 Flgls Ftg Blk 25 20,

P-137 Nut SF PEEK Blk 5/16-24 - 3/16 1 5, 8
P-137X NutSFPEEKBIk5/16-24-3/16/10Pk 1 54,

P-138 Flgls Nut 5/16-24 for 3/16-4mm 1 5, 3
P-139 PCTFE Flangless Ferrule 4mm OD 1 4 2
P-140 SF Ferrule Assy Tefzel 3/16in 1 4, 3
P-140X SF Ferr Assy Tefzel 3/16/10pk 1 40,

P-141 Nut PEEK SF 5/16-24 for 1/16 25 28,

P-141X Nut PK SF 5/16-24 forl/16 10pk 1 249,
P-150 Manifold Assy 7 Port 1/16in 1 115,
P-150-01 Manifold Body 7 Port 1/16in 1 103,
P-151 Manifold Assy 7 Port 1/8in 1 112,
P-151-01 Manifold Body 7 Port 1/8in 1 104,
P-152 Manifold Assy 6 Port 1/16in 1 108,
P-152-01 Manifold Body 6 Port 1/16in 1 199,
P-153 Manifold Assy 6 Port 1/8in 1 105,
P-153-01 Manifold Body 6 Port 1/8in 1 120,
P-154 Manifold Assy 5 Port 1/16in 1 122,
P-154-01 Manifold Body 5 Port 1/16in 1 146,
P-155 Manifold Assy 5 Port 1/8in 1 100,
P-155-01 Manifold Body 5 Port 1/8in 5 121,
P-170 Manifold Assy 7 Port 10-32 Std 1 113,
P-170-01 Manifold Body 7 Port 10-32 Std 5 109,
P-190 Manifold Assy 9 Port 1/8in 1 150,
P-190-01 Manifold Body 9 Port 1/8in 1 94, 1
P-191 Manifold Assy 9 Port 1/16in 1 149,
P-191-01 Manifold Body 9 Port 1/16in 5 97,

P-200 FERRULE,FLANGLESS,1/16,BLUE 1 1,5
P-200N Flangeless Ferr 1/16in Nat 1 1,5
P-200NX Flangeless Ferr 1/16 Nat/10pk 1 15,

P-200R Flangeless Ferrule 1/16in Red 1 1, 8
P-200X Flangeless Ferr 1/16 Blue/10pk 1 15,

P-201 Flangeless Male Nut 1/16in Blk 1 1,5
P-202 Flangeless Male Nut 1/16in Red 25 1,5
P-202X Male Nut 1/16in Red/10pk 1 15,

P-203 Flangeless Male Nut 1/16in Wht 1 1,5
P-204 Flangeless Male Nut 1/16 Cream 25 1,5
P-205 Flangeless Male Nut 1/16in Grn 25 1,5
P-206 Flangeless Male Nut 1/16 Blue 25 1,5
P-207 Flgls Metric Male Nut 1/16 Blk 1 1,5
P-207S NUT,MALE,M6,1/16,SHORT 25 1,5
P-207SX Male Nut M6-1/16in Short/10PK 1 14,

P-207X Male Nut Metric 1/16 BIk/10pk 1 14,

P-208 Flangeless Nut 1/16 Blk Short 1 1,5
P-208W Flangeless Nut 1/16 Wht Short 25 1,5
P-210 Male Nut Extra Long 1 3,5
P-210N Flangeless Nut Extra Long Nat 25 3,5
P-213 NUT,HEADLESS,M6,1/16,SHORT 1 3,7
P-213X HeadlessM6 Nut 1/16in Sht 10pk 1 35,

P-215 Flangeless Nut 1/16 Tefzel 1 2,3
P-215B Flgls Nut 1/16 Tefzel Blue 25 3,5
P-215BLK Flangeless Nut 1/16 Tefzel Bk 25 2,3
P-215G Flangeless Nut 1/16 Tefzel Grn 25 2, 3
P-215R Flangeless Nut 1/16 Tefzel Red 25 2,3




pP-215Y Flgls Nut 1/16 Tefzel Yellow 25 2,3
P-217 Sprflangels Nut 1/16in PPS M6 1 3,1
P-217X SF Nut 1/16in PPS M6 10pk 1 30,
P-218 Short Flangeless Nut 1/16 1 2,3
P-218B Short Tefzel Nut 1/16 Blue 25 8, 4
P-218BLK Short Tefzel Nut 1/16 Black 25 2,8
P-218R Short Tefzel Nut 1/16 Red 25 4 2
P-219 Short 1/16 LT Male Nut PEEK M6 1 3,7
P-219X Short 1/16 LT Nut PEEK M6 10pk 1 35,
P-220 Flgls Male Nut 1/16 PP Nat 1 1,5
P-220B Flgls Male Nut 1/16 PP Blu 25 1,9
P-220BLK Flgls Male Nut 1/16 PP BIk 25 1,9
P-220G Flgls Male Nut 1/16 PP Grn 25 1,9
P-2200R Flgls Male Nut 1/16 PP Ora 25 1,9
P-220R Flgls Male Nut 1/16 PP Red 25 1,9
P-220Y Flgls Male Nut 1/16 PP Yel 25 2, 3
p-221 Flangeless Ferr 1/16 Polyprop 1 1,5
P-225 M6 Flangeless Nut 1/16 Tefzel 1 3,5
pP-225Y NUT,FLANGLESS,M6,1/16,TZ,YEL 1 2, 3
P-225YX M6 Flgls Nut 1/16 Tefzel/10pk 1 23,
P-226 Flgls Nut 1/16 Tub PFA M6 25 4, 6
P-229 One Piece FB 1/16 M6 Assy 25 32,
P-229X One Piece FB 1/16 M6 10pk 1 210,
P-230 Flangeless Nut PEEK 1/16in 1 3,7
P-230BLK Flangeless Nut PEEK 1/16in Blk 25 3,7
P-232 SF Headless Nut 1/16 Short 1 3,8
P-232X SF Hdls Nut 1/16 Short 10pk 1 36,
P-235 NUT,FLANGLESS,1/16,PEEK,SHORT 1 3,7
P-235B Flgls Nut 1/16 PEEK Short Blue 25 4,5
P-235X Flgls Nut 1/16 PEEK Short/10pk 1 36,
P-238 Flgls Male Nut 1/16 Purple 25 3,0
P-240 Flangeless Ferrule 1/16 Tefzel 1 1,5
P-240X Flgls Ferr 1/16 Tefzel/10pk 1 14,
P-245 Flangeless Nut 1/16in PFA 1 2,3
P-245B Flangeless Nut 1/16in PFA Blue 1 4 6
P-246 Sprflangels Nut 1/16in PFA Nat 25 2, 4
P-246X SF Nut 1/16 PFA Nat/10pk 1 22,
P-247 Flgls Nut Short M6 PEEK BIk 1 3,7
P-247X Flgls Nut Short M6 PEEK/10pk 1 35,
P-248 Sprflangels Ferr Assy 1/32 Grn 1 3,6
P-248X SuperFInglss Ferr 1/32/10pk 1 35,
P-249 One Piece FB 1/16 Assy 1 10, {
P-249X One Piece FB 1/16 10pk 1 95,
P-250 SF Ferr w/SS Ring 1/16in PEEK 1 4,0
P-250X FERRULE,SF,SS RING,1/16,PK, 1 39,
P-251 Sprflangels Ftg Nut 1/16in 25 3,8
P-252 Sprflangels Ftg Nut 1/16in 1 1,6
P-252BLK Sprflangels Ftg Nut 1/16in Blk 1 1,6
P-252X Sprflangels Nut 1/16 Delr 10pk 1 15,
P-255 Sprflangels Ftg Nut 1/16 PEEK 1 3, 8
P-255B Sprflangels Nut 1/16 PEEK Blue 25 9,0
P-255BLK Sprflangels Nut 1/16 PEEK BIk 1 3, 8
P-255R Sprflangels Nut 1/16 PEEK Red 25 7, 3
P-255X Sprflangels Ftg Nut PEEK/10pk 1 37,




P-258-01 Sprflangels Ferr Tefzel Yellow 25 5,0
P-258-01B Sprflangels Ferr Tefzel Blue 25 8,9
P-259 SF Ferr w/SS Rg 1/16 Tefzel 1 3,6
P-259X FERRULE,SF,SS RING,1/16,TZ 1 35,
P-260 SuperFlangeless Ferrule PEEK 1 5,9
P-260X Sprflangels Ferr PEEK/10pk 1 56,
P-268 Extender Tool for 1/4in hex 1 144,
P-270 Frit Ferr 2um SF PEEK SS Rg 1 10, 1
p-272 Frit in Ferr 2um SS/PCTFE Grn 1 8, 6
P-273 Frit Ferr 0.5um SS/PCTFE Blue 1 8, 6
P-274 Frit Ferr 2um SF PEEK SS Rg 1 12,
P-275 Frit Ferr 0.5um SF PEEK SS Rg 25 12,
P-276 Frit Ferr 10um SF ETFE SS Rg 1 10,
P-277 Extender Tool-MicroNut 1 6 3,
pP-278 Extender Tool for Micro F Nut 1 60,
P-279 Extender Tool-MicroNut 1 6 3,
P-281 SuperFlangeless Nut 1/16in PPS 1 3,2
P-281X SF Nut 1/16in PPS 10pk 1 30,
P-283 Headless Nut 1/16in Short 1 3, 8
P-286 Flgls Nut 1/16 PPS Headless 1 3,1
pP-287 Sprflangels Nut 1/16 PPS Hdls 1 3,2
P-287X SF Nut 1/16 PPS Hdls 10pk 1 30,
P-288 Flgls Nut 1/16 PPS Headless M6 1 3,1
P-289 SF Nut 1/16 PPS Hdlss M6 1 4, 8
P-290 Inject Port for injection vivs 25 22,
P-291 Extender Tool Std Head Hex Drv 1 60,
pP-292 Extend Hdls for Torque Wrench 1 62,
P-295 Adj Injection Port Adapter 1 32,
P-296 Tub/Ferr Assy for Adij. j. Port 25 9, 3
P-297 Extender Tool-Headless Nut 1 13,
P-298 Extender Tool Delr-Flgls Nut 1 9,0
P-299 Extender Tool-Flangeless Nut 1 18,
P-300 Flangeless Ferr 1/8in Yellow 1 1,5
P-300N Flangeless Ferr 1/8in Nat 1 1,5
P-300NX Flangeless Ferr 1/8in Nat/10pk 1 15,
P-300X Flangeless Ferr 1/8 Yello 10pk 1 15,
P-301 Flangeless Male Nut 1/8 - Blk 1 1,5
P-301X Flgls Male Nut 1/8 BIk/10pk 1 15,
P-302 Flangeless Male Nut 1/8 - Red 25 1,5
P-303 Flangeless Male Nut 1/8 - Wht 25 1,5
P-304 Flangeless Male Nut 1/8 Cream 25 1,5
P-305 Flangeless Male Nut 1/8 - Grn 25 1,5
P-305X Flgls Male Nut 1/8 Grn 10pk 1 15,
P-306 Flangeless Male Nut 1/8 - Blue 25 1,5
P-307 FInglss Metric M Nut 1/8-Blk 1 1,5
P-307S Male Nut Short M6 - 1/8in 1 1,5
P-307SX Male Nut Short M6 - 1/8in/10PK 1 14,
P-307X Finglss Nut M6 1/8/10pk 1 14,
P-308 Flangeless Short Nut 1/8 - Blk 1 1,5
P-308W Flangeless Short Nut 1/8 - Wht 25 2,3
P-309 Flange Type Ftg Plug - Blk 1 1,5
P-310N Male Nut Extra Long 1/8 Tub 25 2,3
P-311 Plug Tefzel - 1/4-28 1 2,3
pP-312 Lock Nut - Flangeless Fitting 1 3,1




P-312X Lock Nut Flangeless Ftg /10pk 1 30,

P-314 Plug Tefzel - M6 x1 1 2, 3
P-314N Plug Tefzel Natural - M6 x1 25 2,3
P-315 Flangeless Nut Tefzel 1/8in 1 2, 3
P-315B Flangeless Nut Tefzel 1/8 Blue 25 4 2
P-315BLK Flangeless Nut Tefzel 1/8 Blk 25 4, 2
P-315G Flangeless Nut Tefzel 1/8 Grn 25 3,5
P-315R Flangeless Nut Tefzel 1/8 Red 25 3,5
P-315Y Flgls Nut Tefzel 1/8 Yellow 25 4 2
P-316 PLUG,PFA,1/4-28 FLAT BOTTOM 1 2,4
P-317 Sprflangels Nut 1/8in PPS M6 1 3,2
P-317X SF Nut 1/8in PPS M6 10pk 1 36,

P-318 Flangeless Nut 1/8in Short 1 2,3
P-318B FIngls Nut Tefzel 1/8 Short 1 7,1
P-318BLK Flgls Nut Tefzel 1/8 Short Blk 25 2, 8
P-318G Flgls Nut Tefzel 1/8 Short Grn 1 2, 3
P-318R Flgls Nut Tefzel 1/8 Short Red 1 2,3
P-318Y Flgls Nut Tefzel 1/8 Short 25 5, 2
P-319 SF Nut 1/8 PEEK M6 Short 1 3,8
P-319X SF Nut 1/8 PEEK M6 Short 10pk 1 36,

P-320 Flangeless Nut Polyprop 1/8in 1 1,5
P-320B Flgls Nut Polyprop 1/8 Blue 25 1,5
P-320BLK Flgls Nut Polyprop 1/8 Blk 25 1,9
P-3200R Flgls Nut Polyprop 1/8 Orange 25 2,8
P-320R Flgls Nut Polyprop 1/8 Red 25 2,8
P-320Y Flgls Nut Polyprop 1/8 Yellow 25 3,5
P-321 Plug PEEK Nat 1/4-28 1 14,

P-325 Flangeless Nut Tefzel 1/8 M6 1 3,5
P-326 Flangeless Nut PFA 1/8 Blk M6 1 2, 4
P-329 One Piece FB 1/8 M6 Assy 5 43,

P-329X One Piece FB 1/8 M6 10pk 1 258,
P-330 NUT,FLANGLESS,1/8,PEEK 1 3,7
P-330B Nut Flangeless 1/8in PEEK Blue 25 3,7
P-330BLK Nut Flangeless 1/8in PEEK Blk 25 3,7
P-330G Nut Flangeless 1/8in PEEK Grn 25 3,7
P-3300R Nut Flangeless 1/8 PEEK Orange 25 4,5
P-330R Nut Flangeless 1/8in PEEK Red 25 6, 8
P-330X Nut Flangeless 1/8in PEEK/10pk 1 36,

P-330Y Nut Flangeless 1/8 PEEK Yellow 25 3,7
P-331 Sprflangels Nut 1/8in PEEK Nat 1 3, 8
P-331B Sprflangels Nut 1/8 PEEK Blue 25 7,3
P-331BLK Sprflangels Nut 1/8 PEEK BIlk 1 3, 8
P-331G Sprflangels Nut 1/8 PEEK Gr 1 3,8
P-3310R Sprflangels Nut 1/8 PEEK Or 25 7, 3
P-331X SF Nut 1/8in PEEK Nat 10pk 1 36,

P-331Y SF Nut 1/8 PEEK Yellow 25 3,8
P-332 Sprflangels Nut 1/8 Delr Blk 1 1,6
P-332B Sprflangels Nut 1/8 Delr Blue 1 1,6
P-332X Sprflangels Nut 1/8 Delr/10pk 1 15,

P-335 Nut Flangeless Short 1/8 PEEK 1 3,7
P-335B Nut Flgls Short 1/8 PEEK Blue 1 3,7
P-335G Nut Flgls Short 1/8 PEEK Grn 25 4,5
P-3350R Flgls Nut PEEK 1/8 Short 25 4,5
P-335R Nut Flgls Short 1/8 PEEK Red 25 4,5




P-335X Nut Flgls Short 1/8 PEEK/10pk 1 36,
P-335Y Flgls Nut PEEK 1/8 Short 25 4,5
P-336 SF Nut 1/8 Short Hdlss 1 3, 8
P-336X SF Nut 1/8 Short Hdlss 10pk 1 36,
P-337X SF Nut Short Hdls M6-1/8 10pk 1 31,
P-338 Nut Flangeless 1/8 Delr Purple 1 1,5
P-340 Flangeless Ferrule 1/8in 1 1,5
P-340X Flangeless Ferrule 1/8in/10pk 1 14,
P-342 Flangeless Ferrule 1.8mm 1 1,5
P-342X Flangeless Ferrule 1.8mm/10pk 1 15,
P-343 Flangeless Ferrule 3mm 1 1,5
P-343X Flangeless Ferrule 3mm/10pk 1 15,
P-344 Flangeless Ferrule 4mmOD Tfzl 25 4 3
P-344X Flgless Ferrule 4mmOD Tfzl 10p 1 51,
P-345 Flangeless Nut Teflon 1/8in 1 2, 4
P-345X Flangeless Nut Teflon 1/8 10pk 1 22,
P-347 Nut Flgls Short M6 PEEK BIlk 1 3,7
P-347B Nut Flgls Short M6 PEEK Blue 1 3,7
P-347BX Nut Flgls Short M6 PEEK/10pk 1 44,
P-347X Nut Flgls Short M6 PEEK/10pk 1 36,
P-348 Short Headless Nut 1/8in 1 3,7
P-349 One Piece FB 1/8 Assy 1 8,5
P-349X One Piece FB 1/8 10pk 1 79,
P-350 SF Ferr w/SS Ring 1/8in PEEK 1 4,0
P-350X Sprflangels Ferr PEEK 1/8 10pk 1 39,
P-352 SuperFlangeless Ferrule M6 1 4,1
P-352X Sprflangels Ferr M6/10pk 1 38,
P-353 Flangeless Ferr 2.5mm Tube 1 1,5
P-353X Flangeless Ferr 2.5mm Tub/10pk 1 14,
P-355 SF Ferrule 1.8mm 1 6, 0
P-355X SF Ferrule 1.8mm x 2mm/10pk 1 38,
P-357 Two-Piece SF Ftg PEEK 2mm OD 1 13,
P-357-1 SF Nut 2mm PEEK M6 Short 25 4,7
P-357-2 SF Ferrule w/SS Ring 2mm PEEK 1 7,5
P-357-2-01 SuperFlangeless Ferrule 2mm 1 4, 9
P-357-2X Sprflangels Ferr 2mm/10pk 1 57,
P-357X SF Ftg PEEK 2mm OD/10pk 1 8 8,
P-359 Sprflangels Ferr Assy Tfzl 1/8 1 3,6
P-359-01 SF Ferrule Tefzel (Yel) 1 3,8
P-359X SF Ferr Asy Tfzl 1/8 10pk 1 35,
P-360 SuperFlangeless Ferrule 1/8in 1 6, 5
P-360X Sprflangels Ferr 1/8in 10pk 1 6 3,
P-362 Short Hdls M6 Nut 2.5mm Tub 1 3,8
P-363R Flangeless Ferrule 2.0mm 1 1,5
P-363RX Flangeless Ferrule 2.0mm 10pk 1 14,
P-366 SF Ferr 2.5mm PEEK Nat M6 1 4, 1
P-366X SF Ferr 2.5mm PEEK Nat M6 10pk 1 39,
P-370 Frit Ferr 2um SF PEEK SS Rg 1 10,
P-371X Frit Ferr 0.5um SF PEEK/10pk 1 147,
pP-372 Frit in Ferr 2um SS/PCTFE Grn 1 8, 6
P-373 Frit Ferr 0.5um SS/PCTFE Blue 1 8,5
P-374 Frit Ferr 2um SF PEEK SS Rg 1 12,
P-381 SuperFlangeless Nut 1/8in PPS 1 3,2
P-381X SF Nut 1/8in PPS 10pk 1 30,




P-387 Sprflangels Nut 1/8 PPS Hdls 1 3,2
P-387X SF Nut 1/8 PPS Hdls 10pk 1 30,
P-398 Extender Tool 8mm Hex 1 32,
P-399 Extender Tool Short-Flgls Nut 1 18,
P-400 SuperFlangeless Nut 1/8in PFA 1 3,5
P-401 Flanged Nut/Washer 1/16 - Blk 1 3,1
P-401-01 Flanged Nut 1/16in - Black 1 1, 4
P-401X Flanged Fitting 1/16 Blk 10pk 1 19,
P-402 Flanged Nut/Washer 1/16 - Red 1 3,1
P-403 Flanged Nut/Washer 1/16 - Wht 1 2,1
P-405 Flanged Nut/Washer 1/16 - Grn 1 2,1
P-406 Flanged Nut/Washer 1/16 - Blue 1 3,1
P-407-01 Washer SS 1/16in 1 1, 3
P-407X Washer SS 1/16in 10pk 1 8, 3
P-408 Flanged Fitting Plug - 1/4-28 1 2, 4
P-411 Plug PEEK BIk ZDV 6-32 Port 1 7,9
P-416 Female Nut (Micro Fittings) 1 8,0
P-416BLK Female Nut 5/16-24 PEEK Black 1 8,0
P-416G Female Nut 5/16-24 PEEK Green 1 23,
P-417 Fem Nut 5/16-24 PEEK Nat 1/8 1 8,0
P-420 Fem Nut PEEK Nat for 1/16 Tub 1 8,0
P-430 Elbow Assy PEEK - 1/16in 1 59,
P-430-01 Elbow Body PEEK 1/4-28 .020 1 53, ;
P-432 Elbow Assy PEEK - 1/8in 1 59, 1
P-432-01 Elbow Body PEEK 1/4-28 .062 1 79,
P-440 Union Assy PEEK 1/16 Bulkhead 1 18,
P-440-01 Union Body PEEK 1/16 Bulkhead 1 16,
P-441 Union Asy PEEK 1/4-28 BIkHd 1 18,
P-441-01 Union Body PEEK 1/4-28 BIkHd 1 24,
P-441-01BLK Union Body PEEK 1/4-28 BIkHd 1 24,
P-441-01N Union Body PEEK 1/4-28 BIkHd 1 16,
P-441B Union Asy PEEK 1/4-28 BIkHd 1 18,
P-441BLK Union Asy PEEK 1/4-28 BIkHd 1 18,
P-441G Union Asy PEEK 1/4-28 BIkHd 1 18,
P-441N Union Asy PEEK 1/4-28 BIkHd 1 18,
P-442 Union Assy PEEK M6 Bulkhead 1 22,
P-445 Micro Ming viv Assy 1/4-28 1 71,
P-445NF Micro Ming vlv - No Ftgs 1 60,
P-446 Micro Metering Valve Assy 1/16 1 71, 4
P-446NF Micro VIv Assy No Fittings 1 60,
P-447 Micro Metering Valve Assy 1/8 1 71,
P-450 Micro-Splitter viv Assy 1/4-28 1 8 6,
P-451 Micro-Splitter vlv Assy 10-32 1 79,
P-452 Micro-Split VIv Asy 10-32/6-32 1 125,
P-455 BPR Assembly 1000 psi Biocomp 1 115,
P-460S Micro-Split VIv 10-32 Hi Press 1 183,
P-460T Stream Split Hi Press Titanium 1 251,
P-465 BPR Hidr Assy - Bio 1 113,
P-470 Micro-Splitter vlv 10-32 Grad 1 452,
P-482B Flanged Fttg Knurl 1/16 - Blue 25 2,7
P-482BLK Flanged Fttg Knurl 1/16 - BIk 1 3,1
P-482C Flanged Fttg Knurl 1/16 Cream 25 4,1
P-482G Flanged Fttg Knurl 1/16 - Grn 25 2,7
P-482R Flanged Fttg Knurl 1/16 - Red 25 4,0




P-482T Flanged Fttg Knurl 1/16 Tefzel 1 2,2
P-482T-01 Flanged Nut Knurl 1/16 Tefzel 25 2, 3
P-501 Flanged Nut/Washer 1/8in - Blk 25 2,1
P-501-01 Flanged Nut 1/8in - Black 1 2,7
P-501X Flanged Fitting 1/8 Blk 10pk 1 19,
P-502 Flanged Nut/Washer 1/8in - Red 25 2,6
P-503 Flanged Nut/Washer 1/8in - Wht 25 2,1
P-503-01 Flanged Nut 1/8in - White 25 16,
P-504 Flanged Nut/Washer 1/8 - Cream 25 2,1
P-505 Flanged Nut/Washer 1/8in - Grn 25 2,6
P-506 Flanged Nut/Washer 1/8 - Blue 25 2,1
P-507-01 Washer SS 1/8in 1 0, 9
P-507X Washer SS 1/8in 10pk 1 8, 3
P-508 Flanged Nut/Washer 1/8 - Gray 1 2,1
P-512 Y Assy PEEK 1/4-28 .020in 1 38, {
P-512-01 Y Body PEEK 1/4-28 .020in 1 25,
P-513 Y Assy PEEK 1/4-28 .040in 1 38, {
P-513-01 Y Body PEEK 1/4-28 .040in 1 25,
P-514 Y Assy PEEK 1/4-28 .060in 1 38, {
P-514-01 Y Body PEEK 1/4-28 .060in 1 25,
P-515 Y Assy PEEK 5/16-24 .125in 1 38, {
P-515-01 Y Body PEEK 5/16-24 .125in 1 25,
P-520 Plug SS 10-32 Coned w 5/16 Hex 1 15,
P-550 Col Plug, PEEK Nat 10-32 25 3,1
P-550BLK Plug PEEK BIk 10-32 Extra Long 25 3,1
P-551 Col Plug PEEK Natural 10-32 1 3,1
P-551BLK Col Plug PEEK Black 10-32 25 3,9
P-552 Ftg Plug for Valco Comp Port 25 40,
P-553 MicroTight Gauge Plug 6-32 1 7,6
P-554 MicroTight Gauge Plug 10-32 1 7,6
P-555 MicroTight Plug 6-32 PEEK 1 8,0
P-556 Plug PEEK 5/16-24 25 22,
P-557 Plug Delrin White - 5/16-24 1 15,
P-558 Plug PEEK Green 6-40 FB 1 4,9
P-559 Plug PEEK Nat 6-32 FB 1 4,9
P-582B Flanged Fttg Knurl 1/8in Blue 25 3, 8
P-582C Flanged Fttg Knurl 1/8in Cream 25 3,8
P-582T Flanged Fttg Knurl 1/8 Tefzel 25 3,9
P-600 Adapt Body PEEK Btle Capx6-32 1 29,
P-602 Union Delr Blk M6 Fem x M6 Fem 1 5, 3
P-603 Union Delr Wht 1/4-28x1/4-28 1 3,4
P-604 Female Luer x 1/4-28 Male Delr 1 3,5
P-605 Male Luer x 1/4-28 Male - Delr 1 3,8
P-606 Union Delr Bk M6 Fem .060thru 1 5, 3
P-612 Pressure Relief Valve Tee Assy 1 79,
P-612-01 Pressure Relief Valve Tee Body 1 143,
P-612S Press Relief VIv Asy 5/16-24 1 113,
P-615 Union Assy PEEK 1/8in x 1/8in 1 165,
P-618 Fem Luerx1/4-28 Male Polyprop 1 3,5
P-618L Luer Polyprop F1/4-28 1/8 1 3,5
P-619 Male Luer 1/4-28 Male Polyprop 1 3,5
P-620 Union Body Polyprop 1/4-28 1 3,4
P-621 Adapt Body Tefzel 1/4-28xM6 1 6, 3
P-622 Union Body Tefzel M6 x 1 1 13,




P-623 Union Tefzel 1/4-28x1/4-28 1 5, 3
P-624 Female Luerx1/4-28 Male Tefzel 1 4,6
P-625 Male Luer x 1/4-28 Male Tefzel 1 4 6
P-626 Adapt Asy 10-32 x M6 .020 thru 1 31,
P-626-01 Adapt Body 10-32 Fem x M6 Fem 5 42,
P-627 Adapt Asy 10-32x1/4-28 .020 1 31,
P-627-01 Adapt Body 10-32 Fx1/4-28 F 1 27,
P-628 Female Luer - Female Union 1 4, 6
P-628P Female Luer - Female Union 1/8 1 5, 7
P-628S Female Luer - Female Union 1 20,
P-629 Fem Luerx10-32 Fem Tefzel 1 4 6
P-629BLK Female Luer Female Union Blk 1 6, 9
P-630 Union Assy Tefzel - 1/16in Tub 1 12,
P-631 Union Assy Tefzel - 1/8in Tube 1 12,
P-632 Tee Asy Tefzel 1/16 .020 thru 1 36,
P-632-01 Tee Body Tefzel .020 thru 5 27,
P-633 Tee Asy Tefzel 1/8 - .050 thru 1 36,
P-633-01 Tee Body Tefzel .050 thru 1 27, 1
P-634 Cross Asy Tefzel 1/16 .020 1 38,
P-634-01 Cross Body Tefzel .020in thru 5 28,
P-635 Cross Asy Tefzel 1/8 .050 thru 1 38,
P-635-01 Cross Body Tefzel .050in thru 1 28,
P-636 Adapt - 10-32M x 10-32F - PEEK 1 27,
P-639 Adapt 1/16 Barbx10-32 FB PEEK 5 18,
P-640 Adapt Assy F-200 x 1/4-28 Male 1 46,
P-640-01 Adapt 10-32 Fx1/4-28 M PCTFE 5 70,
P-642 Adapt - Fem Luer to FngrTt 1 4., 7
P-642BLK Adapt - Fem Luer to FngrTt-Blk 1 4., 7
P-643 Adapt Hi Press 10-32x1/4-28 1 38, ]
P-645 Mounting Stud - Kel-F 1 15,
P-646 Adapt 1/16 Barbx1/4-28M ETFE 1 4,6
P-647 Adapt Body 1/8 M Barbx1/4-28 M 1 4, 6
P-648 Adapt 3/16 Barb x 1/4-28 Male 1 4 6
P-649 Adapt Body 1/4-28 Mx5/16-24 F 1 33,
P-650 Adapt - M6 x 10-32 Std - PEEK 1 17,
P-651 Adapt M6 x 10-32 Waters PEEK 1 18,
P-652 Adapt - 1/4-28 x 10-32 - PEEK 1 17,
P-653 Adapt Metric Extra Long PEEK 1 57, 1
P-654 Adapt - Extra Long - PEEK 1 19,
P-655 1/4-28 Female - Male Luer Assy 1 16, 1
P-655-01 1/4-28 Female to Male Luer Nut 25 13,
P-656 10-32 Female to Male Luer Assy 1 16, ;
P-656-01 10-32 Female to Male Luer Nut 1 13,
P-657 Luer Asy M6 Female to Male 1 16,
P-658 1/4-28 Female to Female Luer 1 15, 1
P-659 10-32 Female to Female Luer 1 15, 1
P-660 Luer M6 Female to Female 1 15, 1
P-661 Adapt F Luerx5/16-24 M ETFE 1 5,1
P-662 Female Luer to MicroTight Assy 1 54,
P-662-01 Female Luer to MicroTight Body 1 51,
P-663 Adapt - 1/16 Barb x 10-32 Male 1 4,6
P-664 Adapt - 1/8 Barb x 10-32 Male 1 4, 6
P-665 Adapt - 3/16 Barb x 10-32 Male 1 4,6
P-668 Adapt 1/16 Barbx1/4-28 PEEK 1 11,




P-669 Adapt Assy PEEK 10-32 x 1/4-28 1 31,
P-669-01 Adapt PEEK 10-32Fx1/4-28M 1 26,
P-670 Adapt M6 Femx1/4-28 Male PCTFE 1 26,
P-671 Adapt Body 1/4-28 Fx1/4-28 M 1 40,
P-672 Adapt 1/4-28 x 10-32 FB PEEK 1 26,
P-673 Adapt - 5/16-24 Fem x M6 Male 1 26,
P-674 Adapt 5/16-24Fx1/4-28Mx.040 1 26,
P-675 1/4-28 Female to Male Luer Asy 1 11,
P-675-01 1/4-28 Female to Male Luer Red 25 8, 8
P-676 10-32F to M Luer Asy Tefzel 1 14,
P-677 M6 Fem to Male Luer Asy Tefzel 1 11,
P-677-01 M6 Fem to Male Luer-Tefzel Blk 1 7, 8
P-678 1/4-28 Fem to Fem Luer Tefzel 1 8, 8
P-679 10-32 Fem to Fem Luer Tefzel 1 13,
P-680 Luer Tefzel Blk M6 Fem-Fem 1 8, 8
P-681 Adapt 5/16-24Fx1/4-28Mx.125 1 26,
P-683 1/4-28 Male to Luer Lock Assy 1 23,
P-683-01 1/4-28 Male to Luer Lock Male 1 22,
P-684 Adapt 1/2-20 Fx1/4-28 M PCTFE 1 29,
P-686 Female Luer - M6 Tefzel Black 1 4, 6
P-689 Adapt 3/16 Barb x 5/16-24 Male 1 32,
P-690 Tefzel Conical Adapter Body 1 8,5
P-691 Tefzel Peri Adpt (2.4mm-3.2mm) 1 8,5
P-692 Conical Adapter Body PEEK 1 14,
P-693 Adapt Long 1/4-28Fx1/4-28M 1 32,
P-694 Adpt 1/4-28 Female to M6 Male 1 26,
P-696 Quick St Luer Check vlv Assy 1 101,
P-697 Quick Stop Luer Check Valve 1 82,
P-699 Bulkhead Quick Stop Luer CV 1 91,
P-702 Union Assy PEEK .020 thru 1/16 1 24,
P-702-01 Union Body PEEK .020 thru 1/16 1 15,
P-703 Union Assy PEEK .050 thru 1/8 1 24,
P-703-01 Union Body PEEK .050in thru 1 15,
P-704 Union PEEK .020 10-32 1 38, 1
P-704-01 Union Body .020 -10-32 Thrd 1 25,
P-705 Union Asy PEEK .020 Hi Press 1 38, 1
P-706 Union Asy PEEK .050 Hi Press 1 38, 1
P-706-01 Union Body PEEK .050 Hi Press 5 50,
P-708-02 Luer Lock Hub - PEEK Black 1 4,1
P-710 Tefzel Union w/.030 thru 1 19,
P-710-01 Tefzel Union Body w/.030 thru 1 12,
P-712 Tee Assy 1/16in PEEK .020 thru 1 38, 1
P-712-01 PEEK Tee Body w/.020 thru 1 24,
P-712-01R PEEK Tee Body (Red) .020 thru 1 26,
P-713 Tee Assy 1/8in PEEK .050 thru 1 38, ;
P-713-01 PEEK Tee Body w/.050 thru 1 24,
P-714 Tee Assy 1/16in PEEK .040 thru 1 38,
P-714-01 PEEK Tee Body w/.040 thru 1 24,
P-715 Tee Asy PEEK .020 Hi Press 1 41,
P-716 Tee Asy PEEK .050 Hi Press 1 61,
P-718 Adapt 1/4-28 Femx5/16-24 Male 1 26,
P-719 Female Luer to 10-32 Male PEEK 1 34,
P-720 Union Assy MicroTight PEEK 1 43,
P-720-01 Union Body MicroTight PEEK 5 36,




P-720-01BLK Union Body MicroTight PEEK Blk 1 24,
P-721 Shut Off VIv Asy Tefzel .040 1 52,
P-721A Shut Off viv .040 thru o Ftgs 1 4 4
pP-722 Cross Assy PEEK .020in thru 1 47,
P-722-01 Cross Body PEEK w/.020in thru 1 28,
P-723 Cross Assy PEEK .050in thru 1 47 ,
P-723-01 Cross Body PEEK w/.050in thru 1 29,
P-724 Adapt PCTFE M6Fx5/16-24M 1 81,
P-726 Cross Asy PEEK .050 Hi Press 1 85,
pP-727 PEEK Tee .020 thru hole/F-300 1 42,
P-727-01 PEEK Tee Body .020/10-32 Thrd 1 21,
P-728 Tee Asy PEEK .050 thru Hi Pres 1 41,
P-728-01 PEEK Tee Body .050/10-32 Thrd 5 21,
P-729 Cross Asy PEEK .020 F-300 1 57,
P-729-01 Cross Body PEEK .020 /10-32 5 30,
P-730 Cross Asy PEEK .050 thru F-300 1 57,
P-730-01 Cross Body PEEK .050 /10-32 1 45,
P-731S PEEK Drain Valve - SS Needle 1 222,
P-732 2-Way vlv Bio w/ 1/16in Ftgs 1 57,
P-732A 2-Way Valve Bio w/o Fittings 1 54,
P-733 2-Way vlv Bio w/ 1/8in Ftgs 1 57,
P-733A 2-Way Valve Bio 1 53,
P-739-01 Cross Body PEEK w/.030in thru 1 27,
P-742 Union Asy PEEK .010 10-32 1 38, 1
P-742-01 Union Body PEEK .010in thru 1 25,
P-753 Sparging Relief Valve 1 176,
P-754 Tefzel Cap - 1/16in Male Nut 1 3, 2
P-754BLK Tefzel Cap - 1/16 Male Nut-Blk 25 3,9
P-755 Tefzel Cap for 1/4-28 Nut 1 3,1
P-756 Tefzel Cap for M6 Nut 1 3,2
P-757 Peristaltic Tubing Adapter Set 1 4 3,
P-758 Small Plastic Tub Coiler Clip 1 53,
P-759 Large Plastic Tub Coiler Clip 5 19,
P-759-01 Large Plastic Tubing Coiler 1 24,
P-760 Union Asy PEEK 10-32 .050 Ftgs 1 38, ;
P-760-01 Union Body PEEK .050in 1 25,
P-761 BPR Cartridge 40 psi Gold Coat 1 80,
P-762 BPR Cartridge 75 psi Gold Coat 1 80,
P-763 BPR Cartridge 100psi Gold Coat 1 80,
P-764 BPR Cartridge 250psi Gold Coat 1 80,
P-765 BPR Cartridge 500psi Gold Coat 1 80,
P-767 Peristaltic Tubing Adapter Set 1 48,
P-768 BPR Cartridge 5 psi 1 77,
P-769 BPR Cartridge 20 psi 1 111,
P-770 Adapt - ZDV - PEEK 1 43,
P-770-01 MicroTight Adapter Body PEEK 5 42,
P-771 Union Micro PEEK for 1/32 Tub 1 4 3,
P-771-01 Union Micro PEEK for 1/32 Tub 1 24,
pP-772 Union Assy .015 MicroTight Il 1 48, 1
pP-772-01 Union Body MicroTight I 5 24,
P-775 MicroTee Assembly .025in 1 132,
P-775-01 MicroTee Body PEEK 1 93,
P-777 MicroCross Assy .025in 1 150,
P-777-01 MicroCross Body PEEK 1 163,




P-779 UNION, PEEK NATURAL 1 61,
P-779-01 UNION BODY,NANO TIGHT,.005 1 48,
P-780 Tubing Expanding Awl 1 17,
P-782 2-Way vlv Tefzel w/ 1/16 Ftgs 1 52, {
P-782NF 2-Way vlv Tefzel w/o Ftgs 1 44,
P-783 2-Way vlv Tefzel w/ 1/8in Ftgs 1 51,
P-783-01 2-Way vlv Tefzel w/o Ftgs 1 44,
P-785 BPR Assembly 40 psi - Biocomp 1 114,
P-786 BPR Assembly 75 psi - Biocomp 1 114,
P-787 BPR Assembly 100 psi - Biocomp 1 114,
P-788 BPR Assembly 250 psi - Biocomp 1 114,
P-789 BPR Assembly 500 psi - Biocomp 1 115,
P-790 BPR Assembly 5 psi w/Cartridge 1 114,
P-791 BPR Assembly 20 psi Cartridge 1 114,
P-794 PeriTub 1/16 ConAdap 0.5-0.8mm 1 23,
P-795 BPR Cartridge 750 psi 1 81,
P-796 BPR Cartridge 1000 psi 1 81,
P-797 PeriTub 1/16 ConAdap 1.6-2.4mm 1 16,
P-798 PeriTub 1/8 Con Adap 1.6-2.4mm 1 16,
P-799 PeriTub 1/8 Con Adap 2.4-3.2mm 1 17,
P-800 Tee Assy 1/8in PEEK .062 thru 5 75,
P-800-01 Tee Body PEEK w/.062in Hole 25 30,
P-801 Connector Barbed 1/16 x 1/16 1 0, 7
P-802 Connector Barbed 1/8 x 1/8 1 0, 7
P-803 Connector Barbed 3/16 x 3/16 1 0, 7
P-805 Connector Barbed 3/8 x 3/8 1 0, 7
P-807 Reducer Barbed 1/16 x 1/8 1 1,0
P-808 Reducer Barbed 3/16 x 1/8 1 0, 7
P-809 Reducer Barbed 1/4 x 3/16 1 0, 7
P-810 Reducer Barbed 3/8 x 1/4 1 0, 7
P-830 Female Luer Ftg System - 1/8 1 4, 4
P-830-02 Luer Ferrule 1/8in 1 1, 4
P-830T Set Plug for LuerTights 1 13,
P-831 Adapt Male Luer -1/8in 1 4 4
P-834-01 Adapt Body PEEK 1/4-28/6-40 FB 1 34,
P-835 Female Luer Ftg System - 1/16 1 4, 4
P-836 Adapt Male Luer -1/16in 1 4 4
P-836-02 LuerTight Ferr 1/16in Yellow 1 2,5
P-837 LuerTight System 1/16in 1 17,
P-838 LuerTight System 1/8in 1 17,
P-840 VacuTight Ferrule Tefzel Red 1 1,5
P-842 VacuTight Fttg - Hex 1 5,9
P-842-01 VacuTight Fttg - Hex 10-32 Red 25 4,5
P-842X VacuTight Fttg - Hex/10pk 1 58,
P-844 VacuTight Fttg - Headless 25 5,9
P-844-01 VacuTight Nut - Headless 10-32 25 5,6
P-844X VacuTight Headless 10pk 1 58,
P-845-01 VacuTight Union 1 15,
P-846 VacuTight Headless Long 1 5,9
P-846-01 VacuTight Nut - Headless Long 1 4,5
P-846X VacuTight Headless Long 10pk 1 56,
P-849 Plug Delr - 10-32 Flat Bottom 1 9,0
P-850 Luer Lock Male 1/16in Barb 1 1,0
P-851 Luer Lock Male 3/32in Barb 1 1,0




P-852 Luer Lock Male 1/8in Barb 1 1,0
P-853 Luer Lock Male 5/32in Barb 1 1,5
P-854 Luer Male - 1/16in Barb 1 1,0
P-855 Luer Male - 3/32in Barb 1 1,0
P-856 Luer Male - 1/8in Barb 1 1,5
P-857 Luer Female - 1/16in Barb 1 1,0
P-858 Luer Female - 3/32in Barb 1 1,0
P-859 Luer Female - 1/8in Barb 1 1,0
P-860 Y Barbed 1/16in 1 1, 8
P-861 Y Barbed 3/32in 1 2,7
P-862 Y Barbed 1/8in 1 1, 8
P-863 Y Barbed 3/16in 1 1, 8
P-864 Y Barbed 1/4in 1 3,4
P-870 Fem Luer-Barb 1/16 ID Tefzel 1 4,5
P-871 Fem Luer-Barb 3/32 ID Tefzel 1 6, 7
P-872 Fem Luer-Barb 1/8 ID Tefzel 1 4,5
P-874 MicroElbow Assy w/Mountg Hole 1 132,
P-875 MicroTee Assy w/Mounting Hole 1 133,
P-875-01 MicroTee Body w/ Mounting Hole 5 77,
P-880 Adjustable BPR 1 172,
P-881 ADAPT,PK,RED,1/16x1/32,W/FITG 1 43,
P-881-01 Adapt Body PEEK Red 1/16x1/32 1 28,
P-882 Adapt PEEK 1/16x360um Ftngs 1 4 3,
P-882-01 Adapt Body PEEK Blu 1/16x360um 1 28,
P-885 MICRO TEE PEEK 1/32W/FITTINGS 1 133,
P-885-01 MicroTee Body PEEK 1/32in 5 108,
P-887 MicroCross PEEK 1/32in w/Ftgs 1 152,
P-887-01 MicroCross Body PEEK 1/32in 5 265,
P-888 MicroTee PEEK 360um w/Fittings 1 132,
P-888-01 MicroTee Body PEEK 360um 1 94,
P-889 MicroCross PEEK 360um w/Ftgs 1 151,
P-889-01 MicroCross Body PEEK 360um 5 141,
P-890 MicroTee Assy PEEK - 1/16in 1 132,
P-890-01 MicroTee Body PEEK - 1/16in 1 93,
P-891 MicroCross Assy PEEK - 1/16in 1 151,
P-920-01 Adapt 10-32 Fem x M6 Male PEEK 1 26,
P-930 VacuTight Fttg 1/4-28 - 1/16 25 6, 1
P-930-01 VacuTight Nut 1/4-28 - 1/16 1 4 5
P-930X VacTht Fttg 1/4-28 - 1/16 10pk 1 57,
P-931 VacuTight Fttg M6 - 1/16 25 41,
P-931X VacuTight Fttg M6 - 1/16 10pk 1 158,
P-932 VcTgt Fttg 1/4-28 - 1/16 Short 1 6,0
P-933X VcTgt Fttg M6 1/16 Short 10pk 1 168,
P-934 VcTgt Ftg Headless 1/4-28 1/16 1 18,
P-938 VacTht Fttg 1/4-28 - 1/16 PEEK 1 10,
P-938X VcTgt 1/4-28 1/16 PEEK 10pk 1 96,
P-940 VacuTight Ferrule 1/8in 1 1, 6
P-940X VacuTight Ferrule 1/8in/10pk 1 15,
P-942 VacuTight Fttg 1/4-28 - 1/8 1 6, 1
P-942X VacTht Fttg 1/4-28 - 1/8 10pk 1 57,
P-943-01 VacuTight Nut M6 - 1/8 1 4,5
P-944 VacTht Fttg 1/4-28 - 1/8 Short 1 6,0
P-945 VacuTight Fttg M6 - 1/8 Short 25 15,
P-945X VcTgt Fttg M6 - 1/8 Short 10pk 1 98,




P-946 VcTgt Fttg Headless 1/4-28 1/8 1 8,9
P-946X VcTgt Headless 1/4-28 1/8 10pk 1 56,

P-947X VacTht Headless M6 - 1/8 10pk 1 168,
P-948 VacTht Fttg 1/4-28 - 1/8 PEEK 1 6, 1
P-948X VcTgt Ftg 1/4-28 1/8 PEEK 10pk 1 57,

P-982BLKX Flanged Ftg Knurl M6 1/16 10pk 1 20,

PK-100X LT Ferr Asy 1/16 PK/10pk 1 8 4,

PK-110X LT Nut 1/16 Polyketone/10pk 1 44,

PK-112 UHP MicroFerrule 1/32in 1 10,

PK-120BLK FingerTight | - PEEK 1 9,0
PK-120BLKX FngrTt | - Polyketone/10pk 1 8 8,

PK-124 MicTgt Ftg UHP 6/32 360um 1 19,

PK-124X MicTgt Ftg UHP 6/32 360um 10pk 1 116,
PK-126 MicroTight Ftg UHP 6-32 1/32 1 13,

PK-126H MicTgt Hdls Ftg UHP 6/32 1/32 1 16,

PK-126HX MicTgt Hdls Ftg 6/32 1/32 10pk 1 102,
PK-126X MicTgt Ftg UHP 6-32 1/32 10pk 1 121,
PK-132 LT Micro Ferr Asy 1/32 PK 1 13,

PK-132X LT Micro Ferr 1/32 PK-10pk 1 120,
PK-152 UHP MicroFerrule 360um 1 10,

PK-250-01 Sprflangels Ferr 1/16in - PK 1 6, 3
PK-250X SF Ferr 1/16 Polyketone 10pk 1 47,

PM-1000-F Tub FEP Nat .062 x .030 1 0, 4
PM-1014-F Tub FEP Nat .062 x .035 1 0,5
PM-1022 Tub FEP Nat .062 x .022 6000 in Min 0,5
PM-1043-F Tub PFA Nat .062 x .042 1 0, 4
PM-1044-F Tub PFA Nat .062 x .040 1 0, 4
PM-1045-F Tub FEP Nat .125 x .045 1 0, 8
PM-1061BLK-F Tub FEP BIk .0305 x 100pum 6000 in Min 0, 9
PM-1062R-F Tub FEP Red .0305 x 125um 6000 in Min 2,9
PM-1065-F Tub FEP Nat .0305 x 205um 6000 in Min 1,0
PM-1066B-F Tub FEP Blu .0305 x 230um 6000 in Min 0, 4
PM-1069 Tub FEP Nat .81mm x 100um 6000 in Min 1,9
PM-1073-F Tub FEP Nat .0305 x 400um 6000 in Min 0, 4
PM-1100-F Tub FEP Nat .124 x .062 1 0, 6
PM-1110-F Tub FEP Nat .125 x .062 1 0, 6
PM-1138R-F Tub FEP Red .062 x 125um 1 1,0
PM-1140-F Tub FEP Nat .124 x .080 1 0, 6
PM-1144Y-F Tub FEP Yel .062 x 180pum 1 1,0
PM-1145-F Tub FEP Nat .124 x .085 1 0, 6
PM-1148BLK-F Tub FEP Blk .062 x .004 1 1,2
PM-1148-F Tub FEP Nat .062 x .004 1 1,0
PM-1200-F Tub FEP Nat .181 x .125 1 0,7
PM-1204-F Tub FEP Nat .250 x .188 1 1,1
PM-1210-F Tub FEP Nat .062 x .020 1 0, 4
PM-1215-F Tub FEP Nat .062 x .0155 6000 in Min 0, 4
PM-1220 Tub FEP Nat .085 x .053 6000 in Min 1,1
PM-1238-F Tub FEP Nat .312 x .250 1 1,7
PM-1240-F Tub FEP Nat .188 x .125 1 0,7
PM-1300-F Tub FEP Nat .062 x .010 1 0, 5
PM-1420-F Tub PFA Nat .062 x .020 1 0, 4
PM-1421-F Tub HPFA .0625 x .020 1 1,0
PM-1430-F Tub PFA Nat .062 x .030 1 0, 4
PM-1431-F Tub HPFA .0625 x .030 1 0, 5




PM-1440-F Tub PFA Nat .124 x .062 1 0,7
PM-1441-F Tub HPFA .124 x .062 1 1,7
PM-1447-F Tub HPFA .250 x .188 1 1,2
PM-1450-F Tub HPFA+ .062 x .010 1 0, 6
PM-1451-F Tub HPFA+ .062 x .020 1 0, 6
PM-1452-F Tub HPFA+ .062 x .030 1 0, 6
PM-1453-F Tub HPFA+ .124 x .062 1 1,0
PM-1499 Tub Tfzl Nat .062 x .007 6000 in Min 0, 2
PM-1500-F Tub Tfzl Nat .062 x .010 1 0, 4
PM-1502-F Tub Tfzl Nat .062 x .012 1 0, 4
PM-1550-F Tub Tfzl Nat .062 x .020 1 0, 4
PM-1600-F Tub Tfzl Nat .062 x .030 1 0, 4
PM-1640-F Tub Tfzl Nat .062 x .040 1 0, 4
PM-1700-F Tub Tfzl Nat .124 x .062 1 0, 7
PM-1750-F Tub Tfzl Nat .125 x .093 1 0, 7
PM-1803P Tub PEEK Pur .062 x .003 6000 in Min 0,9
PM-1804BLK-F Tub PEEK BIlk .062 x 100um 1 0, 9
PM-1805-F Tub PEEK Nat .062 x 25um 1 0,9
PM-1819BLK Tub PEEK Blk .040 x .017 6000 in Min 0, 3
PM-1819-F Tub PEEK Nat .040 x .017 1 0, 6
PM-18190R Tub PEEK Ora .040 x .017 6000 in Min 0, 3
PM-1819P Tub PEEK Pur .040 x .017 6000 in Min 0, 3
PM-1819R Tub PEEK Red .040 x .017 6000 in Min 0, 3
PM-1819Y Tub PEEK Yel .040 x .017 6000 in Min 0, 3
PM-1820B-F Tub PEEK Blu .062 x .030 1 0, 6
PM-1820BLK-F Tub PEEK Blk .062 x .030 1 0, 6
PM-1820-F Tub PEEK Nat .062 x .030 1 0, 6
PM-1820G-F Tub PEEK Grn .062 x .030 1 0, 6
PM-1835-F Tub PEEK Nat .062 x 65um 1 1,0
PM-1850 Tub PEEK Nat .110 x .020 6000 in Min 0, 8
PM-1850B Tub PEEK Blu .110 x .020 6000 in Min 0, 8
PM-1850BLK Tub PEEK Blk .110 x .020 6000 in Min 0, 8
PM-18500R Tub PEEK Ora .110 x .020 6000 in Min 0, 8
PM-1850R Tub PEEK Red .110 x .020 6000 in Min 0, 8
PM-18760R-F Tub PEEK Ora .0305 x .020 1 1,1
PM-1877-F Tub PEEK Nat .0305 x .015 1 1,1
PM-1878-F Tub PEEK Nat .0305 x .010 1 1,1
PM-1880Y-F Tub PEEK Yel .0305 x 180um 1 1,1
PM-1881R-F Tub PEEK Red .0305 x 125um 1 1,1
PM-1930-F Tub PEEK Nat .124 x .062 1 1, 4
PM-1945-F Tub PEEK Nat .062 x 125um 1 1,0
PM-1945R-F Tub PEEK Red .062 x 125um 1 0, 9
PM-1950Y-F Tub PEEK Yel .062 x 180um 1 0, 6
PM-1960B-F Tub PEEK Blu .062 x .010 1 0, 6
PM-1960-F Tub PEEK Nat .062 x .010 1 0, 6
PM-1960G Tub PEEK Grn .062 x .010 6000 in Min 1,5
PM-1970-F Tub PEEK Nat .062 x .020 1 0, 6
PM-19700R-F Tub PEEK Ora .062 x .020 1 0, 6
PM-1980-F Tub PEEK Nat .124 x .080 1 1, 4
PM-2020-F Tub PEEK Nat .062 x .040 1 0, 6
PM-2030-F Tub PEEK Nat .062 x .055 1 0, 9
PM-2300-F Tub FEP Nat 1mm x 0.5mm 1 0, 8
PM-2320-F Tub FEP Nat 2mm x 1mm 1 0, 6
PM-2330-F Tub FEP Nat 3mm x 2mm 1 0, 6




PM-2500GR-F Tub PEEK Gry .062 x .015 1 0,7
PM-2604R-F Tub PEEK Red .0145 x 100um 1 2,6
PM-2606Y-F Tub PEEK Yel .0145 x 150um 1 1,7
PM-2614B-F Tub PEEK Blu .0305 x .010 1 1,1
PM-2700 Tub PEEK Nat .0236 x 160um 6000 in Min 0, 5
PM-2718 Tub PEEK Nat .062 x .0027 6000 in Min 0, 9
PSCKA PS 12C-USB Adapter 1 71,
TF-201 Tub PFA Nat 1/16 x .020 x 24in 1 5,5
TF-234 Tub FEP Ora .062 x .013 x 10mm 1 0, 8
TP-235 Tub PEEK Gry 1/16 x .015 x 5ft 1 20,
TP-240 Tub PEEK BIk 1/32x90umx157mm 1 4, 4
TP-349 PEEK Red 1/16x.005x66cm 1 20,
TP-390 Tub PEEK Nat 1/8 x .080 x 10ft 1 322,
TP-423 Tub PEEK .062 x 65um x 10ft 1 6 0,
TP-424 Tub PEEK Blk .062x100umx10ft 1 116,
TP-425 Tub PEEK Red .062x125umx10ft 1 6 0,
TP-426 Tub PEEK Pur .062x150umx210ft 1 168,
TP-427 Tub PEEK Yel .062x180umx10ft 1 8 5,
TP-429 Tub PEEK Blu .062x.010x10ft 1 85,
TP-431 Tub PEEK Ora .062x.020x10ft 1 123,
TP-432 Tub PEEK Grn .062x.030x10ft 1 85,
TP-433 Tub PEEK Nat .062x.040x10ft 1 8 5,
TP-438 Tub PEEK Red 1/16x.005 x 26in 1 13, {
TP-444 Tub PEEK Ora .062x.020 x 650mm 1 8, 7
TP-451 Tub PEEK Yel 1/32 x 180umx31mm 1 1, 3
TPS-3100165 Tub PEEKSIl 1/32x100pumx165mm 1 58, 1
TPS-315016.5 Tub PEEKSIl 1/32x150umx16.5cm 1 8 4,
TPS-325100 Tub PEEKSiIl 1/32x25umx100cm 1 332,
TPS-32525 Tub PEEKSIl 1/32x25umx25cm 1 96,
TPS-32530 Tub PEEKSiIl 1/32 x 25um x 30cm 1 90,
TPS-32540 Tub PEEKSIl 1/32 x 25um x 40cm 1 103,
TPS-32560 Tub PEEKSiIl 1/32 x 25um x 60cm 1 211,
TPS-350100 Tub PEEKSIl 1/32 x 50um x100cm 1 296,
TPS-35025 Tub PEEKSiIl 1/32 x 50um x 25cm 1 108,
TPS-35030-1 Tub PEEKSiIl 1/32 x 50um x 30cm 1 237,
TPS-35040 Tub PEEKSiIl 1/32 x 50um x 40cm 1 105,
TPS-35075-1 Tub PEEKSIl 1/32 x 50pum x 75cm 1 173,
TPS-630030-1 Tub PEEKSIl 1/16x300pumx30cm 1 117,
TPS-650100 Tub PEEKSIl 1/16 x 50pum x 1m 1 280,
TPS-65075-1 Tub PEEKSIl 1/16 x 50um x 75cm 1 166,
TPS-6757875-1 Tub PEEKSIl 1/16x75umx78.74cm 1 223,
TS-171 Tub SS 1/16 x .030 x 40cm 25 26,
TS-203 Tub SS 1/16 x 125um x 0.75in 25 5,1
TS-210 Tub SS 1/16 x .030 x 15cm 25 20,
TS-333 Tub SS 1/16 x .030 x 5in 25 12, 4
TS-380 Tub SS 1/16 x .030 x 1.25in 25 9,7
TS-430 TubSS1/16 x125um x15.75in/40cm 25 52,
TS-431 Tub SS 1/16 x 125um x 15cm 25 22,
TS-484 Tub SS 1/16 x .010 x 0.75in 25 10,
TS-500F SS .0625 x .005 1 2,3
TS-502F SS .0625 x .007 1 3,5
TS-503F SS .0625 x .010 1 3,5
TS-504F SS .0625 x .020 1 2,4
TS-505F SS .0625 x .030 1 3,5




TS-506F SS .0625 x .040 1 3,5
TS-524 Tub SS 1/16 x .030 x 50in 25 89, 1
TS-541 Tub SS 1/16x.030x5ft Straight 25 8 4,
TS-595 Tub SS 1/16 x .030 x 16cm 25 27,
TS-632 Tub SS 1/16 x .010 x 15cm 25 14,
TS-706 Tub SS 1/16 x 125um x 60cm 25 61,
TS-741 Tub SS 1/32 x .015 x 19mm 25 14,
TS-813 Tub SS 1/16 x .010 x 630mm 25 59, 1
TS-868 Tub SS 1/16 x .005 x 60cm 25 40,
TS-873 Tub SS 1/16 X .005 X 2.42in 25 32,
TS-936 Tub SS 1/16 x .005 x 20.5in 25 41,
TS-973 Tub SS 1/16 x .010 x 70cm 25 60,
U-101 Tub SS 1/16 x .020 x 5cm 1 4, 2
U-102 Tub SS 1/16 x .020 x 10cm 1 5, 4
U-103 Tub SS 1/16 x .020 x 20cm 1 7,5
U-104 Tub SS 1/16 x .020 x 30cm 1 9,7
U-105 Tub SS 1/16 x .020 x 5ft 1 36,
U-106 Tub SS 1/16 x .010 x 5ft 1 41,
uU-107 Tub SS 1/16 x .030 x 5ft 1 41,
U-108 Tub SS 1/16 x 180um x 5ft 1 41,
U-111 Tub SS 1/16 x .010 x 5cm 1 4,5
U-1113 Tub SS 1/32 x 100um x 25mm 1 15,
U-1114 Tub SS 1/32 x 100pum x 5cm 1 14,
U-1115 Tub SS 1/32 x 100um x 10cm 1 39,
U-1116 Tub SS 1/32 x 100um x 20cm 1 30,
U-1117 Tub SS 1/32 x 100um x 30cm 1 34,
U-112 Tub SS 1/16 x .010 x 10cm 1 5, 8
U-1120 Tub SS 1/32 x 150um x 5¢cm 1 14,
U-1122 Tub SS 1/32 x 150um x 20cm 1 30,
U-1123 Tub SS 1/32 x 150um x 30cm 1 27,
U-1125 Tub SS 1/32 x 205um x 5cm 1 14,
U-1126 Tub SS 1/32 x 205um x 10cm 1 13,
U-1128 Tub SS 1/32 x 205um x 30cm 1 27,
U-113 Tub SS 1/16 x .010 x 20cm 1 8, 3
U-1130 Tub SS 1/32 x .010 x 5cm 1 12,
U-1131 Tub SS 1/32 x .010 x 10cm 1 19,
U-1132 Tub SS 1/32 x .010 x 20cm 1 30,
U-1133 Tub SS 1/32 x .010 x 30cm 1 40,
U-114 Tub SS 1/16 x .010 x 30cm 1 10,
U-1140 Tub SS 1/32 x .015 x 5cm 1 13,
U-1141 Tub SS 1/32 x .015 x 10cm 1 19,
U-1142 Tub SS 1/32 x .015 x 20cm 1 30,
U-1143 Tub SS 1/32 x .015 x 30cm 1 40,
U-1145 Tub SS 1/32 x .018 x 5cm 1 10,
U-1146 Tub SS 1/32 x .018 x 10cm 1 19,
U-1148 Tub SS 1/32 x .018 x 30cm 1 40,
U-115 Tub SS 1/16 x .030 x 5cm 1 4,5
U-116 Tub SS 1/16 x .030 x 10cm 1 7,1
U-117 Tub SS 1/16 x .030 x 20cm 1 8, 3
U-118 Tub SS 1/16 x .030 x 30cm 1 10,
U-126 Tub SS 1/16 x 180um x 5cm 1 4,5
U-127 Tub SS 1/16 x 180um x 10cm 1 5, 8
U-128 Tub SS 1/16 x 180um x 20cm 1 8, 3
U-129 Tub SS 1/16 x 180um x 30cm 1 31,




U-130 Tub SS 1/16 x 180um x 0.5m 1 15,
U-131 Tub SS 1/16 x 180um x 1m 1 28,
U-132 Tub SS 1/16 x .010 x 0.5m 1 15,
U-133 Tub SS 1/16 x .010 x 1m 1 28,
U-134 Tub SS 1/16 x .020 x 0.5m 1 14,
U-135 Tub SS 1/16 x .020 x 1m 1 24,
U-136 Tub SS 1/16 x .030 x 0.5m 1 15,
U-137 Tub SS 1/16 x .030 x 1m 1 28,
U-138 Tub SS 1/16 x .040 x 5cm 1 6, 5
U-139 Tub SS 1/16 x .040 x 10cm 1 9, 6
U-140 Tub SS 1/16 x .040 x 20cm 1 16,
U-141 Tub SS 1/16 x .040 x 30cm 1 22, 4
U-142 Tub SS 1/16 x .040 x 0.5m 1 35, {
U-143 Tub SS 1/16 x .040 x 1m 1 67,
U-144 Tub SS 1/16 x .040 x 5ft 1 101,
U-145 Tub SS 1/16 x .046 x 5cm 1 6, 7
U-146 Tub SS 1/16 x .046 x 10cm 1 10,
U-147 Tub SS 1/16 x .046 x 20cm 1 26,
U-148 Tub SS 1/16 x .046 x 30cm 1 24,
U-149 Tub SS 1/16 x .046 x 0.5m 1 57,
U-150 Tub SS 1/16 x .046 x 1m 1 74,
U-151 Tub SS 1/16 x .046 x 5ft 1 109,
U-152 Tub SS 1/16 x 125um x 5cm 1 4 6
U-153 Tub SS 1/16 x 125um x 10cm 1 6,1
U-154 Tub SS 1/16 x 125um x 20cm 1 8,9
U-155 Tub SS 1/16 x 125um x 30cm 1 11,
U-156 Tub SS 1/16 x 125um x 0.5m 1 17,
U-157 Tub SS 1/16 x 125um x 1m 1 32,
U-158 Tub SS 1/16 x 125um x 5ft 1 47,
U-160 Tub SS 1/16 x 125um x 25ft 1 210,
U-161 Tub SS 1/16 x 180um x 25ft 1 183,
U-162 Tub SS 1/16 x .010 x 25ft 1 183,
U-163 Tub SS 1/16 x .020 x 25ft 1 163,
U-164 Tub SS 1/16 x .030 x 25ft 1 183,
U-165 Tub SS 1/16 x .040 x 25ft 1 327,
U-179 Tub SS 1/16 x .005 x 50ft 1 362,
U-180 Tub SS 1/16 x .007 x 50ft 1 363,
U-181 Tub SS 1/16 x .010 x 50ft 1 536,
U-182 Tub SS 1/16 x .020 x 50ft 1 362,
U-183 Tub SS 1/16 x .030 x 50ft 1 213,
U-184 Tub SS 1/16 x .040 x 50ft 1 504,
U-186 Tub SS 1/16 x .005 x 100ft 1 .00¢
U-188 Tub SS 1/16 x .010 x 100ft 1 675,
U-189 Tub SS 1/16 x .020 x 100ft 1 675,
U-190 Tub SS 1/16 x .030 x 100ft 1 425,
U-191 Tub SS 1/16 x .040 x 100ft 1 499
U-281 Upchurch Precolumn Coupler 1 76,
U-283 Stub Coupler 1 40,
U-284 Col Coupler FingerTight Il 1 20,
U-287 Col Coupler Bio PEEK 1 25,
U-288 Coupler PEEK Male/Male-1/2in 1 57,
U-310 Male Nut - Rheodyne Type Short 1 5,0
U-313 M Nut Rheodyne Extra Long 1 8, 4
U-320 M Nut Valco Comp 316 S.S. 1 5,1




U-320X Male Nut Valco Compatible 10pk 1 49,
U-321 Ferr - Valco Compatible 316SS 1 3,4
U-321X Ferr - Valco Compatible 10pk 1 33,
U-322 Union Assy ZDV Valco Type 1 45,
U-322-01 Union Body ZDV Valco Type 1 40,
U-350 Male Nut - SSI Type 1 8, 2
U-352 Union Assy ZDV - SSI Type 1 132,
U-400 Upchurch Male Nut 1 5,0
U-400X Upchurch Male Nut 10pk 1 49,
U-401 Upchurch Ferrule 1/16in 1 3,4
U-401X Upchurch Ferrule 1/16in 10pk 1 33,
U-402 USI Union True ZDV .020 SS 1 33,
U-402-01 USI Union Body ZDV .020 SS 1 23, {
U-410 Male Nut - Waters Type 1 5,1
U-410X Male Nut - Waters Type 10pk 1 48,
U-411 USI Union Assy ZDV .007 SS 1 54,
U-411-01 USI Union Body ZDV .007 SS 1 37,
U-412 Union Assy ZDV Waters Type 1 37,
U-412-01 Union Body ZDV Waters Type 1 35,
U-413 Upchurch Union ZDV 1 73,
U-421 Union Assy LDV .050 Bulkhead 1 50,
U-428 Upchurch Tee Assy .020in thru 1 82,
U-428-01 Upchurch Tee Body .020in thru 1 8 6,
U-429 Upchurch Tee Assy .040in thru 1 78,
U-429-01 Upchurch Tee Body .040in thru 1 106,
U-430 USI Cross Assy .020in thru 1 102,
U-431 USI Cross Assy .040in thru 1 100,
U-433 Tee 1 92,
U-435 USI Union Assy ZDV .010 SS 1 40,
U-435-01 USI Union Body ZDV .010 SS 1 25,
U-437 USI Union Assy LDV .050 SS 1 30,
U-437-01 USI Union Body LDV .050 SS 1 26, {
U-438 USI Union True ZDV .062 SS 1 30,
U-438-01 USI Union Body ZDV .062 SS 1 15,
U-440 Union Asy ZDV .020 thru BlkHd 1 66,
U-440-01 Union Body ZDV .020 Bulkhead 1 57,
U-441 Union Asy ZDV .010 thru BIkHd 1 58,
U-450 Upchurch M6 Male Nut 1 13,
U-450X Upchurch M6 Male Nut/10pk 1 123,
U-453 Union Asy Flat Bttm .040 BlkHd 1 87,
U-453-02 SS Nut 3/8-24 Thread 1 2,1
U-455 Pressure Relief viv Assy 5 psi 1 158,
U-456 Press Relief VIv Asy 100 psi 1 159,
U-459 Male Nut 5/16-24 - 1/8 Tubing 1 20,
U-466 High Press Mixing Tee 1 129,
U-466-02 High Press Mix Tee Body .020 1 208,
U-466S High Press Mixg Tee - SS Frit 1 129,
U-467B Col Plug Acetal Blue 1 1,0
U-467BLK Col Plug Acetal Black 1 1,0
U-467R Col Plug Acetal Red 1 1,0
U-467W Col Plug Acetal White 1 1,0
U-468B Col Plug Tefzel Blue 25 1,6
U-468BLK Col Plug Tefzel Black 1 1, 9
U-468G Col Plug Tefzel Grn 25 2,5




U-468N Col Plug Tefzel Natural 1 1, 3
U-468R Col Plug Tefzel Red 25 2,4
U-468Y Col Plug Tefzel Yellow 1 1,9
U-469 BPR Cartridge Holder w/F-300 1 1009,
U-469-02C BPR Hidr Body SS 1/16 End Coat 1 285,
U-500 Adapt Asy PEEK 1/4 NPT 1/4-28 1 19,
U-500-01 Adpt Body PEEK 1/4ANPTx1/4-28F 1 12,
U-501 Adpt Body PEEK 1/4NPTx1/4-28M 1 18,
U-502 Adapt Assy PEEK 1/4 NPT - M6 1 29,
U-503 Adapt Asy PEEK 1/4 NPT 5/16-24 1 20,
U-503-01 Adpt Body PEEK 1/4ANPTx5/16-24F 1 12,
U-504 Adapt Asy PEEK 1/4 NPT 5/16-24 1 19,
U-504-01 Adpt Body PEEK 1/4ANPTx5/16-24F 1 18,
U-510 Adapt Asy PEEK 1/8 NPTx1/4-28 1 19,
U-510-01 Adpt Body PEEK 1/8NPTx1/4-28F 1 12,
U-511 Adpt Body PEEK 1/8NPTx1/4-28M 1 12,
U-512 Adapt Assy PEEK 1/8 NPT - M6 1 29,
U-512-01 Adpt Body PEEK 1/8NPTXM6F 1 18,
U-513 Adapt Asy PEEK 1/8 NPT 5/16-24 1 19,
U-514 Adapt Asy PEEK 1/8 NPT 5/16-24 1 19,
U-514-01 Adpt Bdy PEEK 1/8NPTx5/16-24F 1 12,
U-605 BPR Assembly 40 psi 1 151,
U-606 BPR Assembly 75 psi 1 151,
U-607 BPR Assembly 100 psi 1 151,
U-608 BPR Assembly 250 psi 1 151,
U-609 BPR Assembly 500 psi 1 151,
U-610 BPR Assembly 750 psi w/SS Hidr 1 151,
U-620 PEEK Nut 1/2-20 Coned Port 1 10,
U-650 Flangeless Ferrule 1/4in Tub 1 2, 2
U-650X Flangeless Ferr 1/4in Tub 10pk 1 21,
U-655 Flangeless Nut 1/4 Tub 1 7,1
U-658 Union Assy - 1/4in Tubing 1 53,
U-658-01 Union Body 3/16 thru - 1/2-20 1 8 6,
U-659 Adapt Asy 1/2-20 Fx5/16-24 F 1 61,
U-660 Flangeless Ferrule 5/16 Tub 1 4 7
U-660X Flangeless Ferr 5/16 Tub 10pk 1 30,
U-662 Male Nut 1/2-20 5/16 Tub BIk 1 10,
U-665 Adapt Asy 1/2-20 Fx1/4-28 F 1 35,
U-665-01 Adapt Body 1/2-20 x 1/4-28 1 44,
U-800 Tub SS 1/8 x .080 x 1m 1 101,
U-803 Tub SS 1/8 x .080 x 3m 1 285,
U-805 Tub SS 1/8 x .080 x 5m 1 471,
U-825 Tub SS 1/8 x .080 x 25cm 1 30,
UH-196 Ftg UltraHigh Press 1/16x10-32 1 39,
UH-196X Ftg UH Press 1/16/10pk 1 361,
UH-293 Ferr UltraHigh Pressure 1/32in 1 9, 8
UH-293X Ferr UH Press 1/32/10pk 1 95,
UH-296 Ftg UltraHigh Press 1/32x10-32 1 20, 1
UH-298X Ftg 1/32x10-32 Waters Cmp 10pk 1 397,
UH-402 Union UH Press 10-32 1/16 SS 1 54,
UH-427 Tee UH Press 10-32 1/16 SS 1 103,
UH-429 Cross UH Press 10-32 1/16 SS 1 183,
UH-432 MicroUnion UH Press 1/32 1 113,
UH-435X MicroUnion UHPress Non-C 360um 1 1.308




UH-436 MicroUnion UH Press 360um 112,
UH-630 Adpt UH Press 10-32/6-32 6 6,

UH-631-01 Adapt Body UH 10-32/6-40 coned 8 8,

UH-632 Union UH Press 6-32 SS ZDV 70,

UH-634 Adapt SS 1/16x360um Ftngs 74,

UH-700 MicroTee Assy SS 1/32in 163,
UH-702 MicroCross Assy SS 1/32in 265,
UH-750 MicroTee Assy SS 360um 126,
UH-752 MicroCross Assy SS 360um 194,
UH-753 MicroTee Assy SS 360um 232,
UH-881 Adpt UltraHigh Press 1/16x1/32 89,

UH-904 Ftg UltraHigh Pressure 1/32xM4 13,

UH-904X Ftg UH Press 1/32xM4 10pk 30,
UH-906 MicroCross Assy SS 360um 72,
UPFF-6025070 MarvelX FS 25umx70mm Kit 6 4,
UPFF-6025150 MarvelX FS 25umx150mm Kit 6 6,
UPFF-6025350 MarvelX FS 25umx350mm Kit 65,
UPFF-6025600 MarvelX FS 25umx600mm Kit 6 8,
UPFF-6050070 MarvelX FS 50umx70mm Kit 6 4,
UPFF-6050150 MarvelX FS 50umx150mm Kit 6 6,
UPFF-6050600 MarvelX FS 50pumx600mm Kit 6 8,
UPFP-6025070 MarvelX PLS 25um x 70mm Kit 6 4,
UPFP-6025070T MarvelX PLS 25um x 70mm Tube 4 7 ,
UPFP-6025150 MarvelX PLS 25umx150mm Kit 66,
UPFP-6025150T MarvelX PLS 25umx150mm Tube 49,
UPFP-6025250 MarvelX PLS 25um x 250mm Kit 68

UPFP-6025250T

MarvelX PLS 25um x 250mm Tube

UPFP-6025350

MarvelX PLS 25umx350mm Kit

UPFP-6025350T

MarvelX PLS 25umx350mm Tube

UPFP-6025500

MarvelX PLS 25um x 500mm Kit

UPFP-6025500T

MarvelX PLS 25um x 500mm Tube

UPFP-6025600

MarvelX PLS 25um x 600mm Kit

UPFP-6025600T

MarvelX PLS 25um x 600mm Tube

UPFP-6050070

MarvelX PLS 50pum x 70mm Kit

UPFP-6050070T

MarvelX PLS 50um x 70mm Tube

UPFP-6050150

MarvelX PLS 50pum x 150mm Kit

UPFP-6050150T

MarvelX PLS 50pm x 150mm Tube

UPFP-6050250

MarvelX PLS 50pum x 250mm Kit

UPFP-6050250T

MarvelX PLS 50pm x 250mm Tube

UPFP-6050350

MarvelX PLS 50pum x 350mm Kit

UPFP-6050350T

MarvelX PLS 50pm x 350mm Tube

UPFP-6050500

MarvelX PLS 50pum x 500mm Kit

UPFP-6050500T

MarvelX PLS 50pm x 500mm Tube

UPFP-6050600

MarvelX PLS 50pum x 600mm Kit

UPFP-6050600T

MarvelX PLS 50pm x 600mm Tube

UPFP-6075070

MarvelX PLS 75um x 70mm Kit

UPFP-6075070T

MarvelX PLS 75um x 70mm Tube

UPFP-6075150

MarvelX PLS 75um x 150mm Kit

UPFP-6075150T

MarvelX PLS 75pum x 150mm Tube

UPFP-6075250

MarvelX PLS 75um x 250mm Kit

UPFP-6075250T

MarvelX PLS 75um x 250mm Tube

UPFP-6075350

MarvelX PLS 75um x 350mm Kit

UPFP-6075350T

MarvelX PLS 75um x 350mm Tube

UPFP-6075500

MarvelX PLS 75um x 500mm Kit

N Y IR EIEIEIEIRIEIEIEIEIE RIS I IS Iy ey ey P PR [N FEY Y S [SY [EY RN Y RN [N [EY Y RN [SY TSN FEY P RN FRY [N FRY P RN FEN TN =Y P PR [N

RGN EE R E N EER R

o|loo|log|o|~|O|R|O|OIOO|OI|O|OIO|OIO|R~|O|A|O|OIO|OTI|O|OTO |01
DIN|OTO|O|O|O|N|PR|O|O(~|O|IN|OIO|0|O|O (N |O|OIR~|OIN]IOT|O




UPFP-6075500T

MarvelX PLS 75um x 500mm Tube

(&)
D

UPFP-6075600

MarvelX PLS 75um x 600mm Kit

(o]
(o]

UPFP-6075600T

MarvelX PLS 75um x 600mm Tube

UPFP-6100070

MarvelX PLS 100pum x 70mm Kit

(28 K&

Al

UPFP-6100070T

MarvelX PLS 100um x 70mm Tube

SN
~

UPFP-6100150

MarvelX PLS 100pumx150mm Kit

(o]
[e2]

UPFP-6100150T

MarvelX PLS 100pumx150mm Tube

UPFP-6100250

MarvelX PLS 100pum x 250mm Kit

(20 E~3
| ©

UPFP-6100250T

MarvelX PLS 100pum x 250mm Tube

UPFP-6100350

MarvelX PLS 100pumx350mm Kit

UPFP-6100350T

MarvelX PLS 100umx350mm Tube

UPFP-6100500

MarvelX PLS 100um x 500mm Kit

UPFP-6100600

MarvelX PLS 100pum x 600mm Kit

UPFP-6100600T

MarvelX PLS 100pum x 600mm Tube

UPFS-6100070

MarvelX SS 100um x 070mm Kit

UPFS-6100070T

MarvelX SS 100pm x 070mm Tube

UPFS-6100150

MarvelX SS 100um x 150mm Kit

UPFS-6100150T

MarvelX SS 100pum x 150mm Tube

UPFS-6100250

MarvelX SS 100um x 250mm Kit

UPFS-6100250T

MarvelX SS 100um x 250mm Tube

UPFS-6100350

MarvelX SS 100um x 350mm Kit

UPFS-6100350T

MarvelX SS 100pm x 350mm Tube

UPFS-6100500

MarvelX SS 100um x 500mm Kit

UPFS-6100500T

MarvelX SS 100pm x 500mm Tube

UPFS-6100600

MarvelX SS 100um x 600mm Kit

UPFS-6100600T

MarvelX SS 100pum x 600mm Tube

UPFS-6125070

MarvelX SS 125um x 70mm Kit

UPFS-6125070T

MarvelX SS 125um x 70mm Tube

UPFS-6125150

MarvelX SS 125umx150mm Kit

UPFS-6125150T

MarvelX SS 125umx150mm Tube

UPFS-6125250

MarvelX SS 125um x 250mm Kit

UPFS-6125250T

MarvelX SS 125um x 250mm Tube

UPFS-6125350

MarvelX SS 125umx350mm Kit

UPFS-6125350T

MarvelX SS 125umx350mm Tube

UPFS-6125500

MarvelX SS 125um x 500mm Kit

UPFS-6125500T

MarvelX SS 125um x 500mm Tube

UPFS-6125600

MarvelX SS 125pm x 600mm Kit

UPFS-6125600T

MarvelX SS 125um x 600mm Tube

UPFS-6254070

MarvelX SS 254pm x 70mm Kit

UPFS-6254070T

MarvelX SS 254um x 70mm Tube

UPFS-6254150

MarvelX SS 254pmx150mm Kit

UPFS-6254150T

MarvelX SS 254umx150mm Tube

UPFS-6254250

MarvelX SS 254pm x 250mm Kit

UPFS-6254250T

MarvelX SS 254um x 250mm Tube

UPFS-6254350

MarvelX SS 254pmx350mm Kit

UPFS-6254350T

MarvelX SS 254umx350mm Tube

UPFS-6254500

MarvelX SS 254pm x 500mm Kit

UPFS-6254500T

MarvelX SS 254um x 500mm Tube

UPFS-6254600

MarvelX SS 254um x 600mm Kit

UPFS-6254600T

MarvelX SS 254um x 600mm Tube

V-100D

4-Way Valve PEEK Diagonal Flow

V-100L 4-Way VIv PEEK L Flow
V-100T 4-Way Valve PEEK 3-Port Flow
V-101D 4-Way VIv PEEK D Blkhd

N Y IR EIEIEIEIRIEIEIEIEIE RIS I IS Iy ey ey P PR [N FEY Y S [SY [EY RN Y RN [N [EY Y RN [SY TSN FEY P RN FRY [N FRY P RN FEN TN =Y P PR [N

NG E RGN RN NN

WINININIFP|WIFRINIFPINIFPIN[IOIN|IOIFRINIWINIWIN|WIFLIN|FPIN|FPIN][A|O|~|lOlWOI|WjOIW|O|W]R|OI|O|O|OT|O |01
AININ(NO|O|ON]|W|OFRP[N|O|O|ON]|ON|IN|[OO|WIN|O|RININ|OW|FR|P|O|O|O ||~ |PIN]O|O|o|O|IN]OT|O




V-101L 4-Way VIv PEEK L Blkhd 1 134,
V-101L-60 4-Way VIv PEEK L Blkhd .060 1 140,
V-101T 4-Way VIv PEEK T Blkhd 1 134,
V-240 6-Port Selection viv .040 Blk 1 312,
V-241 6-Port Sel vlv .040 BlkHd 1 325,
V-340 6-Port Selection vlv .063 Red 1 312,
V-341 6-Port Sel vlv .063 Red BlkHd 1 265,
V-447 Inj Port for Actuator Mounting 1 178,
V-450 6-Port Inj Valve .040 - Black 1 312,
V-451 6-Port Inj vlv .040 - Bulkhead 1 265,
V-472-11 NanoFerrule 1 10,
V-540 6-Port Inj Valve .063 - Red 1 255,
V-541 6-Port Inj vlv .063 - Bulkhead 1 299,
VHP-1000 VHP Wrench 1/4in Hex 10inlbs 1 380,
VHP-1001 VHP Fingertight 1/4 Hex Tool 1 42,
VHP-200 VHP Ftg SS 10-32 for 1/16in 1 20,
VHP-2000 VHP Wrench 1/4in Hex 14inlbs 1 380,
VHP-200-01 VHP200 Series Ferr for 1/16in 1 10,
VHP-200-01X VHP200 Ferr for 1/16 10pk 1 94,
VHP-200X VHP Ftg SS 10-32 for 1/16 10pk 1 178,
VHP-205 VHP Ftg SS 10-32 1/16in Long 1 23,
VHP-320 VHP Ftg 1/16in 1-piece 1 45,
VHP-3200 VHP Ftg 1/16in Fingertight 1 47,
VHP-3200X VHP Ftg 1/16in FngrTt 10pk 1 435,
VHP-320X VHP Ftg 1/16in 1-piece 10pk 1 4009,
VHP-321 VHP Ftg 1/16in 1pc 8mm hex 1 4 4,
VHP-325 VHP Ftg 1/16in 1-piece Long 1 45,
VHP-325X VHP Ftg 1/16in 1-pc Long 10pk 1 430,
VHP-326 VHP Ftg 1/16in 1pc 8mm Hex Lg 1 46,
VHP-4000 Adjust Torque Driver 2-12inlbs 1 349,
VHP-500 Inline VHP Filter 0.5um 1 342,
VHP-501 VHP Replacement Filter 0.5um 1 40,
VHP-505 VHP Inline Filter 0.2um 1 336,
VHP-506 VHP Replacement Filter 0.2um 1 28,
VHP-550 VHP Precolumn Filter 0.5um 1 49 3,
VHP-551 VHP Replacement Fltr 0.5um 1 73,
VHP-555 VHP Precolumn Filter 0.2um 1 5901,
VHP-556 VHP Replacement Fltr 0.2um 1 121,
VHP-600 VHP Plug 5 119,
VHP-700X VHP Fitting 6-40 1/32in 10pk 1 301,
VHP-900 VHP Fitting M4 1/32in 1 35,
VHP-9000 Wrench 4mm hex 1 46, 1
VHP-900-01X VHP900 Ferrule 1/32 10pk 1 165,
VHP-900X VHP Fitting M4 1/32in 10 pk 1 649,
VHP-920 VHP Ftg 1/32in 1-piece 1 79,
VHP-920X VHP Ftg 1/32in 1-piece 10 pk 1 845,
VHP-920X3 VHP Ftg 1/32in 1-piece 3pk 1 221,
XF-358 Fingls Sys FlushNut 1/16in 1 14,
XF-358X FIngls Sys FlushNut 1/16 10pk 1 128,
XF-368 Fingls Sys FlushNut 1/8in 1 14,
XF-368X FIngls Sys FlushNut 1/8 10pk 1 128,
XLT-111 Fingls Sys PEEK 10-32 for 1/16 1 5, 2
XLT-111X FIngl Sys PEEK 10-32 1/16 10pk 1 49,
XP-130 Fingls Sys Nat PEEK 1/8in 1 6, 7




XP-130X Fingls Sys Nat PEEK 1/8 10pk 1 6 3,
XP-131 Super FIngls Sys Nat PEEK 1/8 1 8, 8
XP-131X SF Sys Nat PEEK 1/8 10pk 1 8 3,
XP-132 Fingls Sys Nat PEEK 3/16in 1 6, 7
XP-132X Fingls Sys Nat PEEK 3/16 10pk 1 6 3,
XP-136 Fingls Sys Nat PEEK 1/16in 1 6, 7
XP-136X Fingls Sys Nat PEEK 1/16 10pk 1 6 3,
XP-137 Super FIngls Sys Blk PEEK 3/16 25 9, 2
XP-137X SF Sys Blk PEEK 3/16 10pk 1 87,
XP-138 FIngls Sys Nat Delrin 4.0mm 1 9,0
XP-141 PEEK Nut 1/16 SF 5/16-24 1 25,
XP-141X PEEK Nut 1/16 SF 5/16-24 10pk 1 225,
XP-143X SF Sys 3.0 PEEK N 5/16-24 10pk 1 69,
XP-201 FIngls Sys Blk Delrin 1/16in 1 2,9
XP-201X Fingls Sys Blk Delr 1/16 10pk 1 27,
XP-202 FIngls Sys Red Delrin 1/16in 25 2,9
XP-202X Fingls Sys Red Delr 1/16 10pk 1 27,
XP-203 FIngls Sys Wht Delrin 1/16in 25 4, 3
XP-204 Fingls Sys Cream Delr 1/16 25 4, 3
XP-205 FIngls Sys Grn Delrin 1/16in 25 4, 3
XP-206 Fingls Sys Blue Delr 1/16 25 2,9
XP-208 FIngls Sys Short Blk Delr 1/16 25 3,6
XP-210 FIngls Sys XL Blue ETFE 1/16 1 5, 4
XP-215 Fingls Sys ETFE 1/16 25 3,6
XP-218 FIngls Sys Short Nat ETFE 1/16 25 3,7
XP-218BLKX Fingls Sys Blk ETFE 1/16 10pk 1 35, 1
XP-218X FIngls Sys Shrt ETFE 1/16 10pk 1 34,
XP-220 FIngls Sys Nat PP 1/16in 25 2,9
XP-230 FIngls Sys PEEK 1/16in 25 4,9
XP-230X Fingls Sys PEEK 1/16in 10pk 1 46,
XP-235 Fingls Sys Short PEEK 1/16in 25 4, 9
XP-235X FIngls Sys Shrt PEEK 1/16 10pk 1 48,
XP-238 Fingls Sys Purple Delr 1/16 1 4, 3
XP-238X FIngls Sys Purp Del 1/16 10pk 1 27,
XP-245 FIngls Sys PFA 1/16in 25 3,7
XP-245B FIngls Sys Blue PFA 1/16in 1 3,7
XP-245X FIngls Sys PFA 1/16in 10pk 1 34,
XP-283 FIngls Sys Hdls PEEK 1/16 1 4, 9
XP-286 FIngls Sys Hdls PPS 1/16in 1 4, 4
XP-286X FIngls Sys Hdls PPS 1/16 10pk 1 41,
XP-301 FIngls Sys BIk Delrin 1/8in 1 2,9
XP-301X FIngls Sys Blk Delr 1/8 10pk 1 27,
XP-302 FIngls Sys Red Delrin 1/8in 25 2,9
XP-302X FIngls Sys Red Delr 1/8 10pk 1 27,
XP-303 FIngls Sys Wht Delrin 1/8in 25 2,9
XP-304 Fingls Sys Cream Delr 1/8 25 4, 3
XP-305 FIngls Sys Green Delrin 1/8n 25 2,9
XP-305X Fingls Sys Grn Delr 1/8 10pk 1 27,
XP-306 FIngls Sys Blue Delrin 1/8in 25 2,9
XP-308 Fingls Sys Short Blk Delr 1/8 25 2,9
XP-308X FIngls Sys Blk Delr 1/8 10pk 1 27,
XP-315 Fingls Sys Nat ETFE 1/8in 25 3,6
XP-315X FIngls Sys Nat ETFE 1/8 10pk 1 34, {
XP-318 FIngls Sys Short Nat ETFE 1/8 25 14,




XP-320 Fingls Sys Nat PP 1/8in 25 2,9
XP-330 FIngls Sys PEEK 1/8in 25 4,9
XP-330X Fingls Sys PEEK 1/8in 10pk 1 46,

XP-335 FIngls Sys Short PEEK 1/8in 1 4,9
XP-335X Fingls Sys Short PEEK 1/8 10pk 1 48,

XP-338 FIngls Sys Purple Delr 1/8 1 2,9
XP-345 Fingls Sys PFA 1/8in 25 3,6
XP-348 FIngls Sys Short Hdls PEEK 1/8 25 8, 6
XU-620X LP Coned Sys Red PEEK 1/4 10pk 1 82,

XU-655 FIngls Sys Blk PEEK 1/4in 1 8, 7
XU-655X FIngls Sys Blk PEEK 1/4 10pk 1 8 2,

XU-662 FIngls Sys Blk PEEK 5/16in 1 9, 6
XU-662X FIngls Sys Blk PEEK 5/16 10pk 1 90,

0441-015 Knob Assy for 7000 1 117,
1006-999 Rhebuild Kit for EV/RV100-106 1 295,
2710-004 Cable,, RS232 DB9F-DB9F 3M 1 31,

3000 2/6,Manual,SV,P,Peek 1 1.544
3055-018 2mL,Peek, Sample Loop, 1/8 1 159,
3055-019 5mL,PK,Sample Loop,1/8 1 263,
3055-023 10mL,PK,Sample Loop,1/8 1 274,
3055-025 20mL,PK,Sample Loop, 1/8 1 371,
3065-018 2mL,SS,Sample Loop, 1/8 1 166,
3065-019 5mL,SS,Sample Loop, 1/8 1 270,
3065-023 10mL,SS,Sample Loop,1/8 1 371,
3065-025 20mL,SS,Sample Loop,1/8 1 546,
3505-999 RheBuild Kit for RV350-105 1 365,
3725-006 PK Stator for 3000, 3725 1 597,
3725-018 PK Rotor Seal for 3725/3725i 1 166,
3725-038 2/6,SYR,SS 1 1.82¢9
3725-039 PK Stator Face Seal for 3725 1 160,
3725-056 Needle,16GA,Peek 1 56,

3725-086 Needle,16GA,SS 1 33,

3725-999 RheBuild Kit for 3725/3725-038 1 216,
3725l 2/6,MAN,SYR P,PK,w/Switch 1 1. 684
37251-038 2/6,MAN,SYR P,SS,w/Switch 1 1. 76¢9
37251-119 2/6,SYR,INJ,SS,No SL 1 1.5714
5001-999 RheBuild Kit for EV/RV5x0-101 1 275,
5100-999 Rhebuild Kit for RV5x0-100 1 266,
5104-999 Rhebuild Kit for RV5x0-104 1 251,
5123-067 Cable,RS232 for EV 1 4 2,

5123-095 Power Cord North America 1 26,

5123-096 Power Cord Schucko (Europe) 1 26,

5123-111 Driver PCB for EV 1 517,
5123-122 Power Supply for EV/LabPro 1 172,
5123-176 PCB, Driver, Assy, MRA 1 460,
5804-500 PCB,Drvr,for LabPro,SW at 0 1 581,
5804-508 PCB,Drvr,Switch at 8 1 581,
5804-601 PCB,BCD,LabPro,Switch at 1 1 621,
6000-047 Ferrule,PK,1/16",RheFlex,Bulk 100 4, 3
6000-048 RheFlex,PK,Short Nut, Bulk 100 8, 2
6000-050 Fittings,PK,Short Nut, Bulk 100 7,3
6000-051 Ferrule,PK,1/16,5/PK 1 25,

6000-054 Fittings,Sets,PK,1/16,5/Pkg 1 36,

6000-054GN Fittings,Sets,PK,1/16",GN,5/PK 1 45, 4




6000-055 Fittings,PK,1/16,Short,5/PK 1 34,
6000-066 Fittings,Set,PK,1/16,ELG 1 30,
6000-066BL Fittings,Set,PK,1/16,ELG,BL 1 29,
6000-066GN Fittings,Set,PK,1/16,ELG,GN 1 29,
6000-076 Adapter,PK,1/8 to 1/16 1 51,
6000-078 Fittings,Set,PK,1/8 1 31,
6000-079 Ferrule,PK,1/8,5PK 1 66,
6000-082 Fittings,Set,SS,1/8,1/Pkg 1 23,
6000-083 Ferrule,SS,1/8,5/Pkg 1 47,
6000-090 Plug,PK,10-32,5/PK 1 81,
6000-109 FITTINGS,SET,SS,1/16,5/PK 1 47,
6000-110 Ferrule,SS,1/16",5/PK 1 18,
6000-111 Fittings,Set,SS,1/16",LG,5/Pkg 1 50,
6000-116 Fittings,SS,1/16",50/Pkg 1 255
6000-117 Ferrule,SS,1/16,50/Pkg 1 163
6000-118 Fittings,SS,1/16",LG,50/Pkg 1 296
6000-119 Fittings,SS,1/16",ELG,50/Pkg 1 418
6000-162 Fittings,SS,1/16",ELG,5/Pkg 1 67,
6000-209 Fittings,Set,SS,1/16,10/Pkg 1 91,
6000-210 Ferrule,SS,1/16,10/Pkg 1 34,
6000-211 Fittings,1/16,SS,LG,10/pkg 1 97,
6000-251 Ferrule,PK,1/16,10 Pieces 1 50,
6000-254 Fittings,Set,PK,1/16,10/Pkg 1 95,
6000-254BL Fittings,Set,PK,1/16,BL,10/PK 1 6 3,
6000-254GN Fittings,Set,PK,1/16,GN,10/PK 1 79,
6000-254GY Fittings,Set,PK,1/16,GY,10/PK 1 91,
6000-254MC Fittings,Set,PK,1/16,MC,10/PK 1 79,
6000-254RD Fittings,Set,PK,1/16,RD,10/PK 1 72,
6000-254WH Fittings,Set,PK,1/16,WH,10/PK 1 104
6000-254YL Fittings,Set,PK,1/16,YL,10/PK 1 6 3,
6000-255 Fittings,Set,PK,1/16,SH,10/PK 1 67,
6000-262 Fittings,Set,SS,1/16ELG,10/Pk 1 128
6000-263 Fittings,SS,1/16,10/pkg 1 56,
6000-264 Fittings,Nut,SS,1/16",LG,10/Pk 1 62,
6000-265 Fittings,SS,1/16,ELG,10/Pkg 1 97,
6000-274BL Fittings,PK,1/8", TF,BL,10/PK 1 119
6000-275 Ferrule,PK,1/8", TF,10/PK 1 24,
6000-278 Fittings,PEEK,1/8",FL,10/Pkg 1 1009
6000-278BL Fittings,PK,1/8"FL,BL,10/PK 1 104
6000-278GY Fittings,PK,1/8"FL,GY,10/PK 1 135
6000-278YL Fittings,PK,1/8"FL,YL,10/PK 1 123
6000-280RD Fittings,PK,1/16",FL,RD,10/PK 1 143
6000-280YL Fittings,PK,1/16",FL,YL,10/PK 1 143
6000-282 Fittings,PK,1/16,0P,BLK10PCS, 1 56,
6000-282BL Fittings,PK,1/16,0P,BL,10/PK 1 56,
6000-282GN Fittings,PK,1/16,0P,GN,10/PK 1 70,
6000-282GY Fittings,PK,1/16,0P,GY,10/PK 1 81,
6000-282MC Fittings,PK,1/16,0P,MC,10/PK 1 62,
6000-282RD Fittings,PK,1/16,0P,RD,10/PK 1 65,
6000-282YL Fittings,PK,1/16,0P,YL,10/PK 1 56,
6000-283 Knob,Chromtrac ID Kit, 20/PK 1 51,
6000-291 Fittings Set, PK,1/16",1/PK 1 8,
6000-312 Fittings,PK,1/16",0P,Bulk 100 7,
6000-312RD Fittings,PK,1/16",0P,RD,Bulk 100 9,




6000-337 PK M4 Micro Fitting, Bulk 100 9, 4
6000-338 PK M4 Micro Plug, Bulk 100 12,

6000-339 Fittings Kit,PEEK,M4 Micro 1 50,

6000-360 Fittings,RheFlex M4,10Pkg 1 6 8,

6000-363 Knob,Chromtrc,Black,50/PKG 1 74,

7000 2/6 Manual,SV, SS 1 748,
7000-005 Fittings for 7000 Series 1 118,
7000-016 VS Rotor Seal for 7000L 1 138,
7000L 2/6 Manual,P,SS 1 802,
7004-999 Rhebuild Kit for RV7x0-104 1 279,
7005-999 RheBuild Kit for EV7x0-105 1 275,
7010 2/6 MAN,INJ,SS 1 838,
7010-006 Bearing Ring 1 11,

7010-009 SS Nut, Bulk 100 4,0
7010-010 SS Ferrule, Bulk 100 5,7
7010-011 SS Long Nut, Bulk 100 6, 4
7010-015 Isolation Seal 1 21,

7010-032 Hex Key, 9/64 1 4,9
7010-039 VS Rotor Seal for 7010 1 120,
7010-040 SS Stator for 7010/7125 1 329,
7010-041 Stator Ring for 7010 1 136,
7010-047 SS Fittings for 7010/7125 1 62,

7010-062 SS X-Long Nut, Bulk 100 10, {
7010-066 Ti Stator for 7125 1 749,
7010-069 SS Stator for 7000 Series 1 654,
7010-071 TZ Rotor Seal for 7010 1 116,
7010-144 Stator Screw,7010/7125,10/pkg 1 13, ¢
7010-160 3/32 Hex Key 1 5, 6
7010-997 RheBuild Kit w/Stator for 7010 1 327,
7010-999 RheBuild Kit for 7010/7000 1 122,
7012 Loop Filler Port, SS 1 210,
7012-009 Needle Port Fitting 1 41, 1
7020 5uL,SS,Sample Loop,20 deg 1 61,

7021 10uL,SS,Sample Loop,20 Deg 1 59,

7022 20uL,SS,Sample Loop,20 1 53,

7023 50uL,SS,Sample Loop,20 deg 1 61, 1
7024 100uL,SS,Sample Loop,20 deg 1 6 0,

7025 200uL,SS,Sample Loop,20 deg 1 6 3,

7026 500uL,SS,Sample Loop,20 deg 1 71,

7027 1mL,SS,Sample Loop,20Deg 1 8 2,

7028 2mL,SS,Sample Loop,20 Deg 1 117,
7029 5mL,SS,Sample Loop,20 deg 1 196,
7030 2/6,Manual,3WY,SS 1 775,
7030-003 Vespel Rotor Seal for 7030 1 119,
7030-014 VS Rotor Seal for 7030L 1 133,
7030-015 TZ Rotor Seal for 7030 1 136,
7030L 2/6,Manual,3WY,P,SS 1 882,
7060 6/7,Manual,SEL,SS 1 871,
7060-039 SS Stator for 7060 1 404,
7060-052 Fittings for 7060 1 117,
7060-064 VS Rotor Seal for 7060L 1 194,
7060-065 SS Stator for 7060L 1 448,
7060-070 VS Rotor Seal for 7060 1 129,
7060-074 TZ Rotor Seal for 7060 1 119




7112-999 RheBuild Kit, RV/EV/HT 7x0-112 1 289,
7116-999 RheBuild Kit for RV7X0-116 1 271,
7120-035 VS Rotor Seal for 7120 1 267,
7123-047 SS,Stator for RV/EV500-100 1 583,
7123-128 SS Stator for RV/EV/HT700-X07 1 1. 289
7123-142 SS Stator for RV/EV500-104 1 1.147%
7123-180 SS Stator for RV/EV/HT703-X00 1 58 3,
7123-186 SS Stator for RV700-114 1 751,
7123-223 SS Stator 1 457,
7123-227 1uL Loop SFA for 7750/RV 1 249,
7123-269 SS Stator for RV700-116 1 637,
7123-270 PK Stator for RV750-116 1 1.014
7123-307 SS Stator for RV703-105 1 842,
7123-403 SS Stator for MRA100-000 1 876,
7123-493 RPC10 Rotor Seal,3 GRYV, VHP 1 339,
7123-499 PK SFS for Injector with Purge 1 105,
7123-526 RPC10,Rotor Seal for VHP 1 356,
7123-547 Stator,6P,SS, 1 738,
7123-548 Stator,6P,SS,MBB 1 783,
7123-550 SPC3,Stator,7 Port for VHP 1 993,
7123-559 SPC-1,Stator,6 Port,0.040" 1 530,
7123-565 UL Stator for HT71X, Vert Port 1 1. 447
7123-568 UL Stator for HT/PD71X-X02 1 1.61¢9
7123-754 SPC3,Stator for PD718-313 1 959,
7123-759 RPC13,Rotor Seal for PD718-313 1 390,
7124-055 Rotor Seal,1GRV,RPC13 1 328,
7124-056 RPC13 Seal,3GRV,for TitanHT 1 336,
7125 2/6 Manual Injector, SS 1 1. 4364
7125-008 Needle Guide 1 10,

7125-041 Shaft Assy for 7125 1 475,
7125-042 Thrust Bearing for 7125 1 87,

7125-044 Stator Ring for 7125 1 138,
7125-047 Vespel Rotor Seal for 7125 1 128,
7125-054 Needle Port Cleaner 1 24,

7125-067 Stator Face Assy for 7125 1 234,
7125-079 TZ Rotor Seal for 7125 1 124,
7125-132 Needle Port Tube Assy 1 41 ,

7125-999 RheBuild Kit for 7125 1 201,
7150-999 RheBuild Kit for HT/MXT715-000 1 609,
7152-999 RheBuild Kit for HT/MXT715-102 1 627,
7153-999 RheBuild Kit for HT/PD71X-202 1 643,
7154-999 RheBuild Kit for HT715-221 1 656,
7155-999 RheBuild Kit for HT715-105 1 639,
7160 Mounting Plate 1 29,

7160-010 Angle Mounting Plate 1 40,

7160-029 Ring Stand Valve Bracket 1 55,

7215 Needle, 22Ga Luer Tip 1 27,

7302-005 2um Replacement Filter,5/Pkg 1 119,
7315-010 Filter Cart. for 7315,5/Pkg 1 157,
7335 Column Inlet Filter 1 256,
7335-010 Filter Cart. for 7335, 5Pkg 1 150,
7410-038 Rotor Seal for 7410 1 120,
7410-041 Stator for 7410/7413 1 613,
7410-070 Loop Disc,0.5uL for 7410 1 232,




7410-071 1uL Loop Disc for 7410 1 159,
7410-072 2uL Loop Disc for 7410 1 244,
7410-999 RheBuild Kit for 7410 1 164,
7413-013 Vespel Rotor Seal for 7413 1 183,
7413-041 0.5-1-2uL Loop Disc for 7413 1 267,
7413-042 0.5-1-5uL Loop Disc for 7413 1 178,
7501-999 RheBuild Kit for XX7x0-100 1 279,
7502-999 Rhebuild Kit for RV7x0-102 1 289,
7507-999 RheBuild Kit, RV/EV/HT7X0-X07 1 289,
7520-011 0.2uL,Rotor,VS for 7520 1 437,
7520-012 0.5uL,Rotor, VS for 7520 1 416,
7520-013 1uL,Rotor,VS for 7520 1 437,
7520-035 Stator,Outlet for 7520 1 480,
7520-999 RheBuild Kit for 7520 1 732,
7531-999 RheBuild Kit RV/EV/HT7x3-X00 1 275,
7610-011 PK Rotor Seal for 7610-400/600 1 141,
7610-017 PK Stator Face Seal,7610-XXX 1 180,
7650-002 SS Stator for 7650E 1 601,
7725 2/6,Manual,SYR,SS 1 1. 148§
7725-009 Handle for 7725 1 165,
7725-010 Stator for 7725 1 539,
7725-026 CER,Stator Face, Assy for 7725 1 203,
7725-999 RheBuild Kit for 7725(1) 1 191,
7725l 2/6,MAN,SYR,SS,W/Pos Sensor 1 1. 231
77251-188 2/6,MAN,INJ,SEL,SS,PK,RP 1 1.33¢
7739-999 RheBuild Kit for 7739 1 128,
7750-012 Isolation Seal 1 38,

7750-016 VS Rotor Seal for 7750 1 123,
7750-027 CER Stator Face Seal,7750/XX7X 1 249,
7750-038 SS Stator for 7750/XX700-100 1 367,
7750-050 TZ Rotor Seal,7750/XX700-100 1 114,
7750-055 PK Rotor Seal,7750/XX700-100 1 137,
7750-057 PK Rotor Seal,7750,2 Groove 1 123,
7750-070 SS Stator,7750,W/90deg Stamp 1 349,
7750-176 VS Rotor Seal for 7800E 1 148,
7750-178 DL Stator for 7800E 1 639,
7750-200 VS Rotor Seal for 7860E 1 169,
7750-999 RheBuild Kit for 7750 Series 1 289,
7750E06 2/6,RC,INJ,SS 1 1.324¢
7755-015 CER,SFS,7750,XX7000-100 1 156,
7755-020 5uL,SS,Sample Loop,30 Degree 1 61,

7755-021 10uL,SS,Sample Loop,30 Degree 1 58,

7755-022 20uL,SS,Sample Loop,30 deg 1 53,

7755-023 50uL,SS,Sample Loop,30 deg 1 58,

7755-024 100uL,SS,Sample Loop,30 deg 1 6 0,

7755-025 200uL,SS,Sample Loop,30 deg 1 6 3,

7755-026 500uL,SS,Sample Loop,30 deg 1 71,

7755-027 1mL,SS,Sample Loop,30 Degree 1 81,

7755-028 2mL,SS,Sample Loop,30 deg 1 117,
7755-029 5mL,SS,Sample Loop,30 deg 1 194,
7755-060 5,50,200uL,SS,Sample Loop Kit 1 77,

7755-142 20uL,SS,Sample Loop,30D,StdNut 1 51, 1
7755-200 5uL,SS,Sample Loop,VHP 1 112,
7755-201 10uL,SS,Sample Loop,VHP 1 118,




7755-202 20uL,SS,Sample Loop,VHP 1 133,
7755-203 50uL,SS,Sample Loop,VHP 1 133,
7755-204 100uL,SS,Sample Loop,VHP 1 139,
7755-217 25uL,SS Sample Loop,VHP 1 112,
7770-003 Spanner for TitanHP 7-PORT 1 40,

7770-039 TitanEX Ferrule, 1/8, 25/Pkg 1 141,
7770-040 TitanEX Ferrule, 1/8",50/Pkg 1 339,
7770-044 TitanEX Ferrule, 1/16 25 Pkg 1 111,
7770-051 TitanEX Control Cable 1 120,
7770-052 Titan Demo Kit 1 346,
7770-067 TitanEX Driver PCB 1 267,
7770-079 Spanner for TitanHP™ 1 20,

7770-124 0O-Rings,1/16,MLP,MXX 25Pkg 1 172,
7770-179 Spanner for TitanHT 1 40,

7770-229 DL Stator for VP MHP and POD 1 . 06 3
7770-239 PCB,DRVR,MHP7900/9900-500-1 1 295,
7770-241 PCB,DRVR,Assy,10P,TitanEX 1 216,
7770-257 PCB,DRVR,6POS BCD,1X REDUCT 1 206,
7770-261 Actuator,THT,36/60 deg 1 622,
7770-352 Actuator,THT,36/60 deg,4 Lead 1 395,
777203-999 CAM for MLP777-x03/613 1 534,
777205-999 CAM for MLP777-205/605 1 475,
777206-999 CAM for MLP777-206/606 1 475,
777216-999 CAM for MLP777-216/616 1 490,
778206-999 CAM for MLP778-206/606 1 608,
7788-999 RheBuild Kit for 7725i-188 1 275,
7800-999 RheBuild Kit for 7800E 1 200,
7900-107 SS Stator for XXX-7900-XXX 1 488,
7900-146 PK Stator for XXX9900-XXX 1 388,
7900-179 Stator,Plated for MHP7900 1 432,
7900-183 Stator,Plated for MHP7970 1 123
7900-187 VS Rotor Seal for MHP7970 1 253,
7900-901 Power Adapter for Ti A nEIX T 52,

7900-999 RheBuild Kit for MV7900-XXX 1 275,
7913-999 RheBuild Kit, MHP7913/PD7913 1 270,
7920-999 RheBuild Kit MHP & PD7900/792X 1 229,
7960-014 SPC1 Stator for MHP7960-XXX-X 1 795,
7960-999 RheBuild Kit for 7960-x00 1 461,
7961-999 RheBuild Kit, MHP7960-XXX-X 1 297,
7970-999 RheBuild Kit, MHP7970/PD7970 1 273,
7980-004 DL Stator for 7980 1 419
79801-999 RheBuild Kit forMHP/PD/MXP7980 1 337,
7980-999 RheBuild Kit for 7980 1 265,
7986-000 2/10 MV Nano 1 9 8 3
7986-004 DL,Stator for 7986 1 . 839
79861-999 RheBuild Kit forMHP/PD/MXP7986 1 415,
7986-999 RheBuild Kit for 7986 1 343,
7990-005 Ti Stator for PD7991 1 981,
7991-999 RheBuild Kit for PD7991 1 327,
8010-016 SS Stator for 8010 1 489,
8020 5uL SS Loop for 8125/8126 1 98,

8021 10uL SS Loop for 8125/8126 1 98,

8022 20uL SS Loop for 8125/8126 1 143,
8023 50uL SS Loop for 8125/8126 1 1914




8125 2/6 Syringe Load Micro Inj, SS 1 1.648
8125/20UL 2/6 Syr. Load Inj, SS w/20uL 1 1.56
8125-035 Shaft for 8125/8126 1 245,
8125-038 VS Rotor Seal for 8125/8126 1 140,
8125-059 Pos. Sensor for 8125 1 69,
8125-074 Ceramic SFA for 8125 1 178,
8125-094 Ceramic SFA for 9010 1 172,
8125-097 TZ Rotor Seal for 8125/8126 1 140,
8125-098 SS Stator for 8125/8126 1 699,
8125-108 Pos. Sensor Cord 1 25,
8125-119 PEEK Rotor Seal for 8125 1 154,
8125-999 RheBuild Kit for 8125/8126 1 236,
8382-102 PCB for TitanHT 10 Position 1 410,
8382-103 PCB for TitanHT 6 Position 1 260,
8382-104 PCB For TitanHT 2 Pos 10 Port 1 260,
8382-105 PCB for TitanHT 2 Pos 6 Port 1 273,
8382-107 PCB for TitanHT 8 Position 1 410,
8382-111 PCB,TitanHT,6Position,2CBCD 1 260,
9000-1712 PCB,CLOSE LOOP CNT,PRP SC,3LED 1 592,
9010 2/6 Manual Switch,PK 1 1.13
9010-018 Pos Sensor for 7725i /9010/ 1 60,
9010-040 Fittings for 9010/9125 1 64,
9010-051 Tefzel Rotor Seal for 9010 1 116,
9010-061 Tefzel RS for 9010, .015" Grv 1 140,
9010-065 PEEK Rotor Seal for 9010 1 137,
9010-999 RheBuild Kit for 9010/9040 1 191,
9012 Loop Filler Port, PEEK 1 205,
9013 Needle Port, PEEK 1 4 3,
9055-004 PK Tubing, 1/16" x .030", 10Ft 1 6 8,
9055-020 5uL PEEK Sample Loop 1 43,
9055-021 10uL PEEK Sample Loop 1 52,
9055-022 20uL PEEK Sample Loop 1 47,
9055-023 50uL PEEK Sample Loop 1 47,
9055-024 100uL PK Sample Loop 1 52,
9055-025 200uL PEEK Sample Loop 1 73,
9055-026 500uL PK Sample Loop 1 77,
9055-027 1mL PK Sample Loop 1 102,
9055-028 2mL PEEK Sample Loop 1 138,
9055-029 5mL PK Sample Loop 1 245,
9055-033 10mL PEEK Sample Loop 1 437,
9055-043 100uL PEEK, Loop,w/90 deg 1 81,
9055-044 200uL,PK, Sample Loop,90 deg 1 108,
9055-045 500uL PK Loop w/ 90 deg 1 108,
9055-046 1mL PK Loop w/ 90 1 119,
9125-043 PEEK Stator for 9125 1 423,
9125-076 Needle Adapter for 9125/9126 1 69,
9125-082 Tefzel Rotor Seal for 9125 1 124,
9125-095 PEEK Rotor Seal for 9125 1 137,
9125-999 RheBuild Kit for 9125/9126 1 191,
9650-009 PEEK Stator for 9650E 1 601,
9650-015 PK Rotor Seal for 7650/9650 1 150,
9650-999 RheBuild Kit for 7650/9650 1 304,
9650E 2/10 RC Motorized Peek 1 1.194
9710-035 VS Rotor Seal for 9710-050 1 144




9725 2/6 Syr Load Inj, w/MBB, PK 1 1. 148§
9725-999 RheBuild Kit for 9725/9725I 1 191,
9725 2/6 Syr Load Inj w/ Pos Sensor 1 1.231
9740-001 2/6 A/S,Peek,w/ Drive Pin 1 816,
9750-021 PK Stator for 9750/9740 1 356,
9750-999 RheBuild Kit for 9750/9740 1 293,
9960-002 PK Stator for MV,MHP,PD 1 703,
EV100-106 6/7,EV, Low Pressure, 1/8" 1 2. 37HFH
EV500-101 EV 2 Chnl SEL, SS 1 2. 644
EV501-100 EV Low Pro 3-Col Sel, SS 1 4. 99¢(
EV551-104 EV Low Pro 6-Col Sel, PK 1 5. 414
EV700-100-S2 EV 2/6 Inj, SS w/RS-232 1 2.207
EV700-104 2/6,EV,3WY,SS 1 2. 274
EV700-105 6/7,EV,Sel,SS 1 2.500(
EV750-100 2/6, EV,Inj,PK 1 2. 241
EV750-100-S2 EV 2/6 Inj, PK W/RS-232 1 2. 207
EV750-102 EV,2/10,PK 1 2. 2617
EV750-105 EV 6/7 Sel Viv,PEEK 1 2.62H4
EV750-112 2/6,EV, Lrg Bore,PEEK 1 2.794
EZ011-820-4 10/11,TitanEZ,SEL,TZP,UM 1 908,
EZ450-000-4 4/5TitanEZ,SEL,CER,PCB 1 848,
EZ450-900 4/5,TitanEZ,SEL,CER,PK 1 1.104
EZ450-920-4 4/5,TitanEZ,CER,PK,FFKM,PCB 1 1.114
HT600-100-4 8/17,TitanHT,SV,SS,PCB,BRK 1 2.918
HT650-100-4 8/17,TitanHT,SV,PK,PCB,BRK 1 2. 281
HT700-107 10/11,TitanHT,SEL,SS 1 1.69¢(
HT700-112 2/6,TitanHT,SEL,SS 1 1. 0664
HT700-113 2/6,TitanHT,INJ,DL,VS,1/16" 1 1.20¢9
HT700-114 2/6,TitanHT,INJ,SPC1,PK 1 1.19¢9
HT704-100 8/4,TitanHT,DIV,UL 1 1. 687
HT706-100 6/7,TltanHT,SEL,UL 1 1. 6815
HT710-000 2/6,TitanHT,SV,UL 1 1.501%
HT710-000-1 Kit,2/6,TitanHT,SV,UL,PCB 1 1.694
HT710-102-1 2/10,TitanHT,SV,UL,PCB 1 2. 491
HT710-105 6/7,TitanHT,SEL,VHP,UL 1 1.56]1]
HT710-105-6 KIT,6/7,TitanHT,SEL,VHP,UL,PCB 1 1. 7449
HT710-112 2/10,TitanHT,SV,ULII 1 2.48¢(
HT715-000 2/6,THT,VHP,UL 1 1.504
HT715-102 2/10,TitanHT,SV,UL 1 2. 307
HT715-105 6/7,TitanHT,SEL,VHP,UL 1 1.561]
HT718-000 2/6 TitanHT,INJ,RPC13 1 1. 734
HT718-105 6/7 TitanHT,SEL,RPC13 1 1. 764
HT718-110 2/6 TitanHT,INJ,VP,RPC13 1 1. 8817
HT718-202 2/10,TitanHT,SV,SPC3,RPC13 1 2. 469
HT725-000 2/6,THT,UHP25 1 2. 238§
HT750-107 10/11,TitanHT,SEL,PEEK 1 1. 4614
HT750-112 2/6,TitanHT,SV,PK 1 1. 338§
HT753-100 3/7,TitanHT,LIP,PEEK 1 1.48¢
MHP0267-500-1 Actuator,2/6, TitanHP,LVL,CND 1 587,
MHP7900-000 2/6,TitanHP,DL 1 818,
MHP7900-500-1 2/6,TitanHP,DL,W/PCB LEVEL 1 928,
MHP7913-500-4 6/7,TitanHP,SP,SEL,DLII 1 1.811
MHP7920-000 2/6 TitanHP VP,DL 1 1. 6317
MHP7920-500-1 2/6,TitanHP,DL,VPort,W/PCB LVL 1 1.80€4




MHP7920-500-3 2/6,TitanHP,DL,VP,W/PCB DPIs 1 1.804
MHP7920-500-4 2/6,TitanHP,V Port w/PCB BCD 1 1.8064
MHP7960-000 2/10,TitanHP,SS 1 1.161
MHP7960-500-1 2/10,TitanHP,SS,W/PCB Level 1 1.67A4
MHP7970-000 6/7,TitanHP,SEL,DLII,1/16" 1 1. 344
MHP7970-500-4 6/7,TitanHP,SEL,Ti,PCB 1 1.97]1
MHP7980-000 2/6,TitanHP,Nano,Ti,no PCB 1 2.1449
MHP7986-500-1 2/10,TitanHP,Nano,Ti,w/PCB LVL 1 2.850¢(
MHP9900-000 2/6,TitanHP,SEL,PEEK 1 828,
MHP9900-500-1 2/6,TitanHP,PK,W/PCBLEVEL 1 899,
MHP9960-000 2/10,TitanHP,PEEK 1 1.161
MHP9960-500-1 2/10,TitanHP,PK,W/PCB LEVEL 1 1.2771
MLP777-201 2/6 TitanEX,RPC7,1/16" 1 752,
MLP777-203 2/6 TitanEX 3WY,RPC7 1 684,
MLP777-205 6/7 TitanEX Sel, RPC7, 1/16" 1 684,
MLP777-206 6/7 TitanEX Sel, RPC7, 1/8" 1 684,
MLP777-216 6/7 TitanEX Sel. RPC7, 1/8" 1 684,
MLP777-601 2/6,TitanEX,SV,RPC7,1/16",PCB 1 1.04H4
MLP777-612 2/6 TitanEX,3GRV,.060,1/8" 1 1.04H5
MLP777-615 6/7,TitanEX,SEL,RPC7,1/16",PCB 1 863,
MLP777-616 6/7 TitanEX, RPC-7,1/8" 1 996,
MLP777-624 6/6,TitanEX,SP,KF,UM,w/PCB 1 796,
MLP777-625 6/7,TitanEX,SEL,INJ,W/PCB 1 763,
MLP777-656 6/7 TitanEX,1/8",RPC7,Lock Con 1 782,
MLP777-805 6/7,TitanEX,450HP,1/16",PCB 1 830,
MLP778-205 10/11 TitanEX SEL,RPC7, 1/16" 1 849,
MLP778-206 10/11 TitanEX SEL,RPC7, 1/8" 1 849,
MLP778-207 2/10,TITANEX,SV,RPC7,1/16" 1 89 3,
MLP778-605 10/11, TitanEX,SEL,RPC7,1/16", 1 1.217
MLP778-606 10/11,TitanEX SEL,RPC7,1/8"PCB 1 1.15¢9
MLP778-607 2/10,TitanEX,SV,RPC7,1/16",PCB 1 1.0604
MRA100-000 6/4,MRA,SV,SS 1 7. 424
MRA1-999 RheBuild Kit for MRA100-000 1 853,
MXP7900-000 2/6,MX,TitanHP,DL 1 1. 711
MXP7920-000 2/6,MX TitanHP,VP,DL 1 2.964
MXP7960-000 2/10,MX,TitanHP,SS 1 2. 171
MXP7970-000 6/7,MX,TitanHP,DLII 1 2. 097
MXP7980-000 2/6,MX,TitanHP,Nano,Ti 1 2.93/4
MXP7986-000 2/10,MX, TitanHP,Nano,Ti 1 3.536
MXP9900-000 2/6,MX,TitanHP,SEL, PK 1 1. 601
MXP9960-000 2/10,MX, TitanHP,PK 1 2.171
MXT715-000 2/6,MX,TitanHT,VHP,UL 1 2. 073
MXT715-102 2/10,MX, TitanHT,VHP,UL 1 3.017
MXT715-105 6/7,MX TitanHT,SEL,UL 1 2. 2472
MXX777-601 2/6,MX,TitanEX,SV,RPC7,1/16 1 1.56¢9
MXX777-603 2/6,MX,TitanEX,3WY,RPC7 1 1.53¢9
MXX777-605 6/7,MX,TitanEX,RPC7,1/16 1 1.614
MXX777-612 2/6,MX,TitanEX,3GRV,.060,1/8 1 1.614
MXX777-616 6/7,MX,TitanEX,RPC7,1/8 1 1.614
MXX778-605 10/11,MX,TitanEX,SEL,RPC7,1/16 1 1.74¢9
PD700-107 10/11,TitanHT,Pod,SEL,SS 1 1. 46 7
PD700-112 2/6,TitanHT,PD,SV,SS,PK 1 800,
PD704-100 8/4,TitanHT,PD,DIV,UL 1 1. 264
PD710-000 2/6,TitanHT,Pod,SV,UL 1 1.144




PD710-102 2/10,TitanHT,SV,PD,UL,RP 1 1.954
PD710-112 2/10,TitanHT,SV,PD,ULII 1 2. 08¢9
PD715-000 2/6,TitanHT,Pod,SEL,UL 1 1.203
PD715-102 2/10,TitanHT,PD,SV,UL 1 1.95¢4
PD715-105 6/7,TitanHT,Pod,SEL,UL 1 1. 2664
PD715-121 2/6,TitanHT,PD,INJ,VP,UL 1 1.80¢9
PD715-221 2/6,TitanHT,POD,VP,SPC3,RPC13 1 1.80¢9
PD718-105 6/7,TitanHT,PD,SEL,SUL 1 1.31¢9
PD718-202 2/10,TitanHT,PD,SV,SL,SS 1 2.11¢
PD718-313 2/6,TitanHT,INJPD,VP,SPC3,RP13 1 1.587
PD725-000 2/6, TITANHT,POD,UHP25 1 1.94H4
PD750-107 10/11,TitanHT, Pod,SEL,PK 1 1.09¢9
PD7900 2/6 TitanHP Pod,SV,DL 1 555,
PD7913 6/7,TitanHP,Pod,DLII 1 1.014
PD7920 2/6 TitanHP Pod,DL,VP 1 1. 238§
PD7960 2/10,TitanHP Pod,SEL,DL 1 941,
PD7970 6/7,TitanHP,Pod,SEL,CP,DL2 1 1.078§
PD7980 2/6,TitanHP,Nano,Pod 1 1. 888
PD7986 2/10,TitanHP,Nano,Pod 1 2. 458§
PD7991 2/6 TitanHP Pod,VP,ULII,1/16" 1 1.82¢
PD9900 2/6,TitanHP,Pod,Peek 1 551,
PD9960 2/10 TitanHP,Pod,Peek 1 880,
0001-6254 Open Frm Mini Vac DG,4 Ch,48 1 2. 7014
0001-6271 Open Frm Mini Vac DG, 2 Ch, 19 1 1.977
0001-6274 OPEN FRM MINI DG, 2 CH, 480uL 1 2. 2017
0001-6293 L Bracket Vac Src,Prep Sc,w/3 1 1.284
0001-6352 Vac DG 2003,Gen,2 Ch,w/Validat 1 2. 2817
0001-6354 Vac DG 2003,Gen,4 Ch,w/Validat 1 2. 7717
0001-6484 Vac,DG2003,Prep Sc,2Ch,13.8mL 1 9. 184
0001-6500 Vac DG 2003,2 Ch,480uL 1 2. 283
0001-6501 Vac DG 2003,4 Ch,480uL 1 2. 7717
0001-6622 Vac DG,Genric,2CH,w/Valid,Sten 1 2.341
0001-6624 Vac DG,Genric,4CH,w/Valid,Sten 1 2. 83(
0001-6682 DG, OEM MINI LITE, 1-CHAN 1 1. 259
0001-6683 DG, OEM MINI LITE, 2-CHAN 1 1. 404
0001-6684 DG, OEM MINI LITE, 3-CHAN 1 1.5604d
0001-6685 DG, OEM MINI LITE, 4-CHAN 1 1.694
0001-6686 DG, OEM MINI LITE, 5-CHAN 1 1.790¢
9000-1000 Asy,Mini DG Ch,PEEK,100uL 1 337,
9000-1001 Asy,Mini DG Ch,PEEK,195uL 1 378,
9000-1004 Asy,Mini DG Ch,PEEK,480uL 1 500,
9000-1006 Asy,Mini DG Ch,PEEK,670uL 1 585,
9000-1007 Asy,Mini DG Ch,PEEK,745uL 1 6 30,
9000-1009 Asy,Mini DG Ch,PEEK,925uL 1 708,
9000-1056 Asy,Closed Loop Cnt,Analyt,w/L 1 569,
9000-1118 Asy,Chm,Dual Lumn,Dual Ch,PPS 1 5. 374
9000-1172 Asy,DG,Ch,Dual Lumen,Sngl Ch,8 1 1.45¢(
9000-1184 Asy,GPC Mini DG Ch,480uL 1 482,
9000-1292 Kit,Vac DG Ch,Sm Bore AF,14ft, 1 553,
9000-1471 Assy,Vacuum Pump 2007,Analy 1 521,
9000-1472 Assy,Vacuum Pump 2007,Prep 1 506,
9000-1540 Debubbler,2.5mL,ePTFE,No Talil 1 232,
9000-1541 Debubbler,5mL,ePTFE,No Tail 1 264,
9000-1544 Debubler,2.5mL,ePTFE,w/DG Tail 1 433,




9000-1545 Debubbler,5mL,ePTFE,w/DG Talil 1 490,
9000-1549 Transfer Line Debubbler/DG 1 265,
9000-1585 SST PUMP W/BRD AND SNSR 1 7009,
9000-1601 ASSY, FLOW RESTRICTOR, CAPILLA 1 23,
01090-27309 Tube Blank 100mm X 4.6mm 1 8,1
01090-67315 Assy End Ftg Comp 2.1mm 1 10,
0341-541 Mod Clmn Tube 2.1mm X 5cm EP 1 17,
0341-554 Pl 7.5mm X 40cm Clmn Tube 1 14,
0341-555 Pl 7.5mm X 60cm Clmn Tube 1 14,
0403-0087-36 Tube 10cm X 2.1mm I.D. 1 21,
0403-0098-36 PrEP Tube 10mm X 25cm 1 40,
050141 Solvet Filtr 10um 1/16 X 1/8 1 41,
10-001H Body Holdr SS. Metaguard Pkr 1 10,
10-021-1 Metaguard 2.1mm X 1cm 1 36,
10-021I1-1 insert 2.1mm X 1cm 1 5,1
1003 Torque Station 1 679,
10-030-1 Metaguard Assy 3mm X 1cm 1 42,
1003-1 Base Torque Station 1 179,
1003-2 Cap Torque Station 1 36,
1003-3 Torq Station Model 38A 25-Lbs 1 184,
1003-4 Socket 3/8 X 3/8 Drive 1 8, 7
1003-5 Screw 1/2X2-1/2 Lg FIt Philips 1 1,0
1003-INSTR Instr Torque Station 1 0,0
1004 Nut Scallop 10mm 1 53,
10-046-1 Metaguard 4.6 X 1cm 1 59,
10-046B-1 Body PEEK Metaguard System 1 22, 1
10-046l1-1 insert 4.6mm X 1cm 1 6, 2
101-04010-003 LC Blank 1/4X1mmx3cm 1 14,
101-04010-0033 LC Blank 1/4X1mmx3.3cm 1 15, 4
101-04010-005 LC Blank 1/4X1mmx5cm 1 20, 1
101-04010-010 LC Blank 1/4X1mmx10cm 1 24,
101-04010-015 LC Blank 1/4X1mmx15cm 1 28,
101-04010-020 LC Blank 1/4X1mmx20cm 1 34,
101-04010-025 LC Blank 1/4X1mmx25cm 1 38,
101-04010-030 LC Blank 1/4X1mmx30cm 1 55,
101-04010-100 LC Tube Blank 1/4X1X100 1 126,
101-04021-0033EP Isobore Comp Tub 2.1x33mmx1/4 1 10,
101-04021-003EP EP Blank 1/4in X 2.1mm X 3cm 1 10,
101-04021-005EP EP Blank 1/4in X 2.2mm X 5¢cm 1 12,
101-04021-0075EP EP Blank 1/4in X 2.1mm X 7.5cm 1 14,
101-04021-010EP EP Blank 1/4in X 2.1mm X 10cm 1 16,
101-04021-0125EP EP Blank 1/4X2.1X12.5cm 1 18,
101-04021-015EP EP Blank 1/4in X 2.1mm X 15cm 1 20, 1
101-04021-020EP EP Blank 1/4in X 2.1mm X 20cm 1 24,
101-04021-025EP Isobore Comp Tub 2.1x250mmx1/4 1 31, ;
101-04021-030EP EP Blank 1/4in X 2.1mm X 30cm 1 36, 1
101-04021-060EP EP Tube Blank 1/4X2.1X60cm 1 81,
101-04021-100EP EP Tube Blank 1/4X2.1X1 M 1 165,
101-04030-0033EP EP Blank 1/4in X 3mm X 3.3cm 1 12,
101-04030-003EP EP Blank 1/4in X 3mm X 3cm 1 11,
101-04030-005EP EP Blank 1/4in X 3mm X 5cm 1 12,
101-04030-0075EP EP Blank 1/4in X 3mm X 7.5¢cm 1 13,
101-04030-008EP EP Blank 1/4in X 3mm X 8cm 1 13,
101-04030-010EP EP Blank 1/4in X 3mm X 10cm 1 16,




101-04030-015EP

EP Blank 1/4in X 3mm X 15cm

101-04030-020EP

EP Blank 1/4in X 3mm X 20cm

101-04030-025EP

EP Blank 1/4in X 3mm X 25cm

101-04030-030EP

EP Blank 1/4in X 3mm X 30cm

101-04032-005EP

EP Blank 1/4in X 3.2mm X 5cm

101-04032-008EP

EP Blank 1/4in X 3.2mm X 8cm

101-04032-010EP

EP Blank 1/4in X 3.2mm X 10cm

101-04032-0125EP

EP Blank 1/4X3.2mmx12.5cm

101-04032-015EP

EP Blank 1/4in X 3.2mm X 15cm

101-04032-025EP

EP Blank 1/4in X 3.2mm X 25cm

101-04039-015EP

EP Blank 1/4in X 3.9mm X 15cm

101-04039-030EP

EP Blank 1/4in X 3.9mm X 30cm

101-04040-005EP

EP Blank 1/4in X 4mm X 5cm

101-04040-010

LC Blank 1/4X4X10cm

101-04040-010EP

EP Blank 1/4in X 4mm X 10cm

101-04040-0125

LC Blank 1/4X4X12.5cm

101-04040-0125EP

EP Blank 1/4in X 4mm X 12.5cm

101-04040-015

LC Blank 1/4X4X15cm

101-04040-015EP

EP Blank 1/4in X 4mm X 15cm

101-04040-025

LC Blank 1/4X4X25cm

101-04040-025EP

EP Blank 1/4in X 4mm X 25cm

101-04040-030

LC Blank 1/4X4X30cm

101-04040-030EP

EP Blank 1/4in X 4mm X 30cm

(S 1 V] 1 V] V] [N Y Py p o I R N I N R R IS N
I EN DY R 2 BN EN DY R S B s N S N = E Y S =)

N Y IR EIEIEIEIRIEIEIEIEIE RIS I IS Iy ey ey P PR [N FEY Y S [SY [EY RN Y RN [N [EY Y RN [SY TSN FEY P RN FRY [N FRY P RN FEN TN =Y P PR [N

101-04046-0033 LC Blank 1/4X4.6X3.3cm 6, 6
101-04046-0033EP EP Blank 1/4in X 4.6mm X 3.3cm 6, 0
101-04046-0034EP EP Blank 1/4in X 4.6mm X 3.4cm 6, 0
101-04046-003EP EP Blank 1/4in X 4.6mm X 3cm 6, 0
101-04046-004EP EP Blank 1/4in X 4.6mm X 4cm 6, 6
101-04046-005 LC Blank 1/4X4.6X5cm 6, 0
101-04046-005EP Isobore Comp Tub 4.6x50mmx 1/4 8,1
101-04046-006EP EP Blank 1/4in X 4.6mm X 6¢cm 8,1
101-04046-0075EP EP Blank 1/4in X 4.6mm X 7.5cm 9, 2
101-04046-008EP EP Blank 1/4in X 4.6mm X 8cm 9,7
101-04046-010 LC Blank 1/4X4.6X10cm 8,1
101-04046-010EP EP Blank 1/4in X 4.6mm X 10cm 11,
101-04046-011EP EP Blank 1/4in X 4.6mm X 11cm 18,
101-04046-0125 LC Blank 1/4X4.6X12.5cm 9, 2
101-04046-0125EP EP Blank 1/4X4.6X12.5cm 12,
101-04046-012EP EP Blank 1/4in X 4.6mm X 12cm 12,
101-04046-015 LC Blank 1/4X4.6X15cm 10,
101-04046-015EP EP Blank 1/4in X 4.6mm X 15cm 14,
101-04046-020 LC Blank 1/4X4.6X20cm 12,
101-04046-020EP EP Blank 1/4in X 4.6mm X 20cm 18,
101-04046-025 LC Blank 1/4X4.6X25cm 17,
101-04046-025EP Isobore Comp Tub 4.6x250mmx1/4 22,
101-04046-030 LC Blank 1/4X4.6X30cm 17, 1
101-04046-030EP EP Blank 1/4in X 4.6mm X 30cm 26,
101-04046-040EP EP Blank 1/4in X 4.6mm X 40cm 33,
101-04046-050 LC Blank 1/4X4.6X50cm 27,
101-04046-050EP EP Blank 1/4in X 4.6mm X 50cm 40,
101-04046-075 LC Blank 1/4X4.6X75cm 38, ;
101-05046-100EP IB Thg .317 X4.6X1 M 70, 1
101-06065-010 LC Blank 3/8X6.5mmx10cm 14,
101-06065-015 LC Blank 3/8X6.5mmx15cm 16




101-06065-025 LC Blank 3/8X6.5mmx25cm 1 21,
101-06065-030 LC Blank 3/8X6.5mmx.30cm 1 24,
101-06078-0035EP EP Blank 3/8in X 7.8mm X 3.5cm 1 17,
101-06078-005EP EP Blank 3/8in X 7.8mm X 5cm 1 19, 4
101-06078-010EP EP Blank 3/8in X 7.8mm X 10cm 1 25,
101-06078-015EP EP Blank 3/8in X 7.8mm X 15cm 1 30,
101-06078-020EP EP Blank 3/8in X 7.8mm X 20cm 1 35,
101-06078-025EP EP Blank 3/8in X 7.8mm X 25cm 1 40,
101-06078-030EP EP Blank 3/8in X 7.8mm X 30cm 1 51, ¢
101-06078-050EP EP Blank 3/8in X 7.8mm X 50cm 1 67,
101-06078-060EP EP Blank 3/8in X 7.8mm X 60cm 1 79,
101-08100-005 LC Blank 1/2X10mmx5cm 1 14,
101-08100-010 LC Blank 1/2X10mmx10cm 1 16,
101-08100-015 LC Blank 1/2X10mmx15cm 1 20, 1
101-08100-020 LC Blank 1/2X10mmx20cm 1 25,
101-08100-025 LC Blank 1/2X10mmx25cm 1 33,
101-08100-030 LC Blank 1/2X10mmx30cm 1 34,
101-08100-060 LC Tube Blank 1/2X10X60 1 6 3, {
101-16212-015ITG LC Tube Blank lin Grv 1 49,
101-16212-050ITG LC Tube Blank 1 inch It Groove 1 104,
1012 Asy Frt Cp Pk212X271X4.6 2um 1 5, 6
1013 Asy Frt Cp Pk169X213X2.1 2um 1 5, 6
1015 End Ftg Vydac 1/4 in 1 13,
1018 End Ftg Hex 10mm Waters 1 50,
1020-05 Iso-Prep 21.2mm Filter 0.5um 1 387,
1020-20 Iso-Prep 21.2mm Filter 2um 1 387,
1030-01 Pk Pump Hi PreSS Plumb Sub-Asy 1 2.911
1030-02 Pk Pump Air Sply Plumb Sub-Asy 1 768,
1030-03 Pk Pump Lig Sply Plumb Sub-Asy 1 669,
1030-200 Pkg Analytical Haskell Pump 1 8.914¢
103-04021-XXX SS316 Thg .250in X 2.1mm LC 1 32,
103-04021-XXXEP-G SS Thg 250X2.1 EP G 1 40,
1030-999 Pkg Sys Analytical No Pump 1 3. 455
103-19212-XXX SS Thg 1.1875X21.2 LC 1 95,
103-24300-XXX SS316 Thg 1.500in X 30mm LC 1 110,
110-01005-001 Cap Tube Red 1/16X005 X1 1 6, 0
110-01005-005 Cap Tube Red 1/16X005X5cm 1 6, 0
110-01005-005-3 Cap Tube Red 1/16X005X5 3Pk 1 17, 1
110-01005-006 Cap Tube Red 1/16X005X6cm 1 6, 2
110-01005-010 Cap Tube Red 1/16X005X10cm 1 8,0
110-01005-01016 Cap Tube Red 1/16X005X10.16cm 1 8,1
110-01005-010-3 Cap Tube Red 1/16X005X10 3Pk 1 23,
110-01005-0109 Cap Tube Red 1/16X005X10.9cm 1 7,3
110-01005-015 Cap Tube Red 1/16X005X15cm 1 8, 4
110-01005-020 Cap Tube Red 1/16X005X20cm 1 9,7
110-01005-020-3 Cap Tube Red 1/16X005X20 3Pk 1 27,
110-01005-030 Cap Tube Red 1/16X005X30cm 1 12,
110-01005-040 Cap Tube Red 1/16X005X40cm 1 16,
110-01005-050 Cap Tube Red 1/16X005X50cm 1 18,
110-01005-100 Cap Tube Red 1/16X005 X100 1 30,
110-01007-005 Cap Tube Black 1/16X007X5cm 1 6, 3
110-01007-006 Cap Tube Black 1/16X007X6cm 1 6, 6
110-01007-010 Cap Tube Black 1/16X007X10cm 1 8,7
110-01007-0109 Cap Tube Black 1/16X007X10.9cm 1 8, 3




110-01007-015 Cap Tube Black 1/16X007X15cm 9, 7
110-01007-020 Cap Tube Black 1/16X007X20cm 11,
110-01007-030 Cap Tube Black 1/16X007X30cm 14,
110-01007-050 Cap Tube Black 1/16X007X50cm 16,
110-01007-050-5 Cap Tube Black 1/16X007X50 5Pk 77, 1
110-01007-060 Cap Tube Black 1/16X007X60cm 24,
110-01007-075 Cap Tube Black 1/16X007X75cm 28,
110-01007-080 Tub SS 1/16 x .007 x 80cm 30,
110-01007-100 Cap Tube Black 1/16X007X100cm 32,

110-01010-003

Cap Tube Blue 1/16X010X3cm

110-01010-005

Cap Tube Blue 1/16X010X5cm

110-01010-010

Cap Tube Blue 1/16X010X10cm

110-01010-01016

Cap Tube Blue 1/16X010X10.16cm

110-01010-0109

Cap Tube Blue 1/16X010X10.9cm

110-01010-015

Cap Tube Blue 1/16X010X15cm

110-01010-020

Cap Tube Blue 1/16X010X20cm

[ec] N1 Kep) No2R Kep) N6 | Kép |
N[ NJOJo|NJjo O

110-01010-030 Cap Tube Blue 1/16X010X30cm 10,
110-01010-035 Cap Tube Blue 1/16X010X35cm 11,
110-01010-038 Cap Tube Blue 1/16X010X38cm 12, ;
110-01010-040 Cap Tube Blue 1/161x010X40cm 12,
110-01010-050 Cap Tube Blue 1/16X010X50cm 14,
110-01010-100 Cap Tube Blue 1/16X010X100cm 25,

110-01020-005

Cap Tube Yellow 1/16X020X5cm

110-01020-006

Cap Tube Yellow 1/16X020X6cm

110-01020-010

Cap Tube Yellow 1/16X020X10cm

110-01020-0109

Cap Tube Yello 1/16X020X10.9cm

110-01020-015

Cap Tube Yellow 1/16X020X15cm

110-01020-020

Cap Tube Yellow 1/16X020X20cm

DN |O1|O1
AIDIN|OI|O[OD

110-01020-030 Cap Tube Yellow 1/16X020X30cm 10,
110-01020-060 Cap Tube Yellow 1/16X020X60cm 15,
110-01020-092 Cap Tube Yellow 1/16X020X92cm 21,
110-01020-100 Cap Tube Yello 1/16X020X100cm 23,
110-01020-153 Cap Tube Yellow 1/16X020X 5Ft 33,

110-01030-005

Cap Tube White 1/16X030X5cm

110-01030-006

Cap Tube White 1/16X030X6cm

110-01030-0084

Cap Tube White 1/16X030X8.4cm

110-01030-010

Cap Tube White 1/16X030X10cm

110-01030-015

Cap Tube White 1/16X030X15cm

[(o] oo} ILN] Ko2} K o))
QW[N] PD

N Y IR EIEIEIEIRIEIEIEIEIE RIS I IS Iy ey ey P PR [N FEY Y S [SY [EY RN Y RN [N [EY Y RN [SY TSN FEY P RN FRY [N FRY P RN FEN TN =Y P PR [N

110-01030-020 Cap Tube White 1/16X030X20cm 11,
110-01030-030 Cap Tube White 1/16X030X30cm 14,
110-01030-050 Cap Tube White 1/16X030X50cm 22,
110-01030-060 Cap Tube White 1/16X030X60cm 25,
110-01030-096 Cap Tube White 1/16X030X96cm 37,
110-01030-100 Cap Tube White 1/16X030X100cm 39, 1
110-01040-005 Cap Tube Green 1/16X040X5cm 7,1
110-01040-006 Cap Tube Green 1/16X040X6cm 7,6
110-01040-008 Cap Tube Green 1/16X040X8cm 8, 7
110-01040-010 Cap Tube Green 1/16X040X10cm 9,7
110-01040-015 Cap Tube Green 1/16X040X15cm 12,
110-01040-020 Cap Tube Green 1/16X040X20cm 14,
110-01040-025 Cap Tube Green 1/16X040X25cm 17,
110-01040-030 Cap Tube Green 1/16X040X30cm 19, ;
110-01040-035 Cap Tube Green 1/16X040X35cm 17, 1
110-01040-040 Cap Tube Green 1/16X040X40cm 24,




110-01040-050 Cap Tube Green 1/16X040X50cm 1 29,
110-01040-080 Cap Tube Green 1/16X040X80cm 1 44,
110-01040-100 Cap Tube Green 1/16X040X100cm 1 53,
110-01040-153 Cap Tube Green 1/16X040X153cm 1 79,
110-01046-010 EP Cplry Tube 1/16X046X10cm 1 7,0
110-01046-020 EP Cplry Tube 1/16X046X20cm 1 9, 2
110-01046-030 EP Cplry Tube 1/16X046X30cm 1 11,
110-01046-035 EP Cplry Tube 1/16X046X35cm 1 12,
110-01046-090 EP Cplry Tube 1/16X046X90cm 1 25,
110-01046-100 EP Cplry Tube 1/16X046X100cm 1 27,
111-010025-153 Biosafe Pk 1/16X.0025 5 Ft 1 32,
111-01005-153 Biosafe Pk Red 1/16X005X5 Ft 1 32,
111-01005-1530 Biosafe Pk Red 1/16X005X50Ft 1 296,
111-01005-306 Biosafe Pk Red 1/16X005X10 Ft 1 6 3,
111-01005-7650 Biosafe Pk Red 1/16X005X250 Ft 1 1.28¢
111-01007-153 Biosafe Pk Yelo 1/16X007X5Ft 1 36, {
111-01007-1530 Biosafe Pk Yelo 1/16X007X50Ft 1 306,
111-01007-306 Biosafe Pk Yelo 1/16X007X10Ft 1 65,
111-01010-153 Biosafe Pk Blu 1/16X010X5Ft 1 38,
111-01010-1530 Biosafe Pk Blu 1/16X010X50Ft 1 357,
111-01010-306 Biosafe Pk Blu 1/16X010X10Ft 1 6 4,
111-01020-1530 Biosafe Org 1/16X020X50Ft 1 398,
111-01020-306 Biosafe Org 1/16X020X10Ft 1 85, {
111-01030-153 Biosafe Grn 1/16X030X5 Ft 1 48,
111-01030-1530 Biosafe Grn 1/16X030X50Ft 1 445,
111-01030-306 Biosafe Grn 1/16X030X10Ft 1 95,
111-01040-153 Biosafe Tan 1/16X040X5 Ft 1 24,
111-01040-1530 Biosafe Tan 1/16X040X50Ft 1 219,
111-01040-306 Biosafe Tan 1/16X040X10Ft 1 50,
111-300 Square Cut Tube Cutter 1 131,
111-300-01 Top Square Cut Tube Cutter 1 49,
111-300-02 Bottom Square Cut Tube Cutter 1 47,
111-300-03 Label Square Cut Tube Cutter 1 3,0
111-300-B Rpl Blade Sqr Cut Tube Cutter 1 3,5
111-300-INSTR Instr Square-Cut Tube Cutter 1 0,0
113-01005-010 Assy Pk Cplry Tube 1 10,
113-01005-010-5 Pk Surfit Rpl Cplry 005X10-5 1 49,
113-01005-040 Assy Pk Cplry Tube 1 12,
113-01005-040-5 Pk Surfit Rpl Cplry 005X40-5 1 59,
113-01005-050 Assy Pk Cplry Tube 1 14,
113-01005-050-5 PK Sure-Fit Tub .005x50cm/5pk 1 69,
113-01007-050 Assy Pk Cplry Tube 1 14,
113-01007-050-5 PK Sure-Fit Tub .007x50cm/5pk 1 69,
113-01007-100 Assy Pk Cplry Tube 1 24,
113-01007-100-5 Pk Sure-Fit Rpl Cplry 007X100- 1 119,
113-01010-010 Assy Pk Cplry Tube 1 10,
113-01010-010-5 Pk Surfit Rpl Cplry 010X10-5 1 49,
113-01010-050 Assy Pk Cplry Tube 1 14,
113-01010-050-5 PK Sure-Fit Tub .010x50cm/5pk 1 69,
1-2M Assy End Plug 2um 1 7,1
15-1004 Column Tube 1/4X2.1mmX150mm 1 21,
15-1015 Clmn Tube 5/16X4.6X150mm 1 21,
16-1V Assy End Ftg lin 1 159,
1-9102-00-0012 Clmn Sys Pk 2.2mm X 3cm 5um 1 54,




1-9102-00-0016 Clmn Sys Pk 2.1X10cm 5um 8 4,
1-9102-00-0044 Clmn Sys Pk 10mm X 5cm 5um 161,
1-9102-00-0046 Clmn Sys Pk 10mm X 10cm 5um 170,

2001-04010-003

Accel-X Clmn Tube

2001-04010-0033

Mod Clmn Tube

2001-04010-005

Mod Clmn Tube

2001-04010-0075

Mod Clmn Tube

2001-04010-010

Mod Clmn Tube

2001-04010-015

Mod Clmn Tube

2001-04010-025

Mod Clmn Tube

2001-04021-002EP

Accel-X CImn Tube

2001-04021-0033EP

Mod Clmn Tube

2001-04021-003EP

Accel-X CImn Tube

2001-04021-005EP

Mod Clmn Tube

2001-04021-0075EP

Mod Clmn Tube

2001-04021-010EP

Mod Clmn Tube

2001-04021-0125EP

Mod Clmn Tube

2001-04021-015EP

Mod Clmn Tube

2001-04021-015EPQ

Qsa Clmn Tube

2001-04021-020EP

Mod Clmn Tube

2001-04021-025EP

Mod Clmn Tube

2001-04021-030EP

Mod Clmn Tube

2001-0405-01

Bushing Clmn Tube 1/4T05/16-40

2001-05030-002EP

Accel-X Mod Clmn

2001-05030-0033EP

Mod Clmn Tube

2001-05030-003EP

Accel-X Mod Clmn

2001-05030-005EP

Mod Clmn Tube

2001-05030-0075EP

Mod Clmn Tube

2001-05030-010EP

Mod Clmn Tube

2001-05030-0125EP

Mod Clmn Tube

2001-05030-015EP

Mod Clmn Tube

WINININIFP|FPIPIFPRP]IRIWIW]IRININININ|IFPIFPIRPIRP]WOINININ|FPIFP| -
OIN|O|W|O|O|N|R~|[FR|O|O|W[|O|R|IN|O|O|N|O|IN|IN|[O[W|O|o|O|O

N Y IR EIEIEIEIRIEIEIEIEIE RIS I IS Iy ey ey P PR [N FEY Y S [SY [EY RN Y RN [N [EY Y RN [SY TSN FEY P RN FRY [N FRY P RN FEN TN =Y P PR [N

2001-05030-020EP Mod Clmn Tube 33,
2001-05030-025EP Mod Clmn Tube 37,
2001-05030-030EP Mod Clmn Tube 39,
2001-05040-002EP Accel-X Mod Clmn 24,
2001-05040-0033EP Mod Clmn Tube 24,
2001-05040-0035EP Mod Clmn Tube 24,
2001-05040-003EP Mod Clmn Tube 24,
2001-05040-005EP Mod Clmn Tube 26,
2001-05040-006EP Mod CImn Tube 28,
2001-05040-0075EP Mod Clmn Tube 27,
2001-05040-008EP Mod CImn Tube 28,
2001-05040-010EP Mod Clmn Tube 28,
2001-05040-0125EP Mod CImn Tube 29,
2001-05040-012EP Mod Clmn Tube 30,
2001-05040-015EP Mod CImn Tube 30,
2001-05040-020EP Mod Clmn Tube 32,
2001-05040-025EP Mod Cimn Tube 34,
2001-05040-030EP Mod Clmn Tube 40,
2001-05041-005EP Mod Cimn Tube 24,
2001-05041-010EP Mod Clmn Tube 29,
2001-05041-015EP Mod Cimn Tube 34,
2001-05041-025EP Mod Clmn Tube 45,
2001-05046-0025EP Mod Cimn Tube 16,




2001-05046-002EP Accel-X Mod Clmn 16, 1
2001-05046-0033EP Mod Clmn Tube 15,
2001-05046-0035EP Mod Clmn Tube 15,
2001-05046-003EP Accel-X Mod Clmn 15,
2001-05046-005EP Mod Clmn Tube 16,
2001-05046-006EP Mod Clmn Tube 16,
2001-05046-0075EP Mod Clmn Tube 17,
2001-05046-007EP Mod Cimn Tube 22, 1
2001-05046-010EP Mod Clmn Tube 19, ¢
2001-05046-0125EP Mod Cimn Tube 21,
2001-05046-012EP Mod Clmn Tube 20, 1
2001-05046-015EP Mod Clmn Tube 23,
2001-05046-020EP Mod Clmn Tube 27,
2001-05046-025EP Mod Clmn Tube 29,
2001-05046-030EP Mod Clmn Tube 31,
2001-05046-050EP Mod Clmn Tube 8 8,

2001-08078-003EP

Mod Clmn Tube

2001-08078-004EP

Mod Clmn Tube

2001-08078-005EP

Mod Clmn Tube

2001-08078-0075EP

Mod Clmn Tube

2001-08078-010EP

Mod Clmn Tube

(S0 IE= RS S
N|jo|ol|oo|

1

1

1

1

1

1

1

1

1

1

1

1

1

1

1

1

1

1

1

1

1
2001-08078-015EP Mod Clmn Tube 1 60,
2001-08078-025EP Mod Cimn Tube 1 73,
2001-08078-030EP Mod Clmn Tube 1 90,
2001-08078-050EP Mod Cimn Tube 1 109,
2001-10100-003EP Mod Cimn Tube 1 55,
2001-10100-005EP Mod Cimn Tube 1 55,
2001-10100-010EP Mod Cimn Tube 1 61, 1
2001-10100-015EP Mod Cimn Tube 1 69,
2001-10100-025EP Mod Clmn Tube 1 90,
2001-10100-030EP Mod Cimn Tube 1 123,
2001-10100-050EP Mod Clmn Tube 1 175,
2001-19212-003 Mod Cimn Tube 1 77,
2001-19212-005 Mod Clmn Tube 1 8 8,
2001-19212-006 Mod Cimn Tube 1 8 9,
2001-19212-0075 Mod CImn Tube 1 90,
2001-19212-010 Mod Cimn Tube 1 98,
2001-19212-015 Mod Clmn Tube 1 1109,
2001-19212-020 Mod Cimn Tube 1 145,
2001-19212-025 Mod Cimn Tube 1 165,
2001-19212-030 Mod Clmn Tube 1 187,
2001-19212-045 Mod Clmn Tube 1 271,
2001-19212-050 Mod Cimn Tube 1 271,
2001-19212-060 Mod CImn Tube 1 349,
2001-19212-100 Mod Clmn Tube 1 523,
2001-24300-005 Mod Cimn Tube 1 127,
2001-24300-010 Mod Cimn Tube 1 151,
2001-24300-015 Mod Cimn Tube 1 186,
2001-24300-020 Mod Clmn Tube 1 213,
2001-24300-025 Mod Cimn Tube 1 238,
2001-24300-030 Mod Clmn Tube 1 261,
2001-24300-050 Mod Cimn Tube 1 370,
2003-05046-125EP A.V.C Tube 5/16 in X 12.5cm 1 28,
2003-05046-250EP A.V.C Tube 5/16 in X 25cm 1 34,




2003-05046-265EP

A.V.C Tube 5/16 in X 26.5cm

2007-05046-020EP

Clmn Tube 4.6mm X 20cm

2009-04010-005

Clmn Tube 10mmx5cm Isobar Sys

2009-04010-010

Clmn Tube Imm X 10cm Isobar

2009-04010-015

Clmn Tube 1mm 15cm

2009-04021-0025EP

Clmn Tube 2.1X2.5cm Isobar Sys

2009-04021-002EP

Clmn Tube 2.1X2cm Isobar Sys

2009-04021-0035EP

Clmn Tube 2.1mmx3.5 cm Ibar

2009-04021-003EP

Clmn Tube 2.1X3cm Isobar Sys

2009-04021-005EP

Clmn Tube 2.1X5cm Isobar Sys

2009-04021-0075EP

Clmn Tube 2.1X7.5cm Isobar Sys

2009-04021-010EP

Clmn Tube 2.1X10cm Isobar Sys

2009-04021-015EP

Clmn Tube 2.1X15cm Isobar Sys

2009-04021-025EP

Clmn Tube 2.1X25cm Isobar Sys

2009-05030-002EP

Clmn Tube 3X2cm Isobar Sys

2009-05030-003EP

CImn Tube 3X3cm Isobar Sys

2009-05030-005EP

Clmn Tube 3X5cm Isobar Sys

2009-05030-0075EP

Clmn Tube 3X7.5cm Isobar Sys

2009-05030-010EP

Clmn Tube 3X10cm Isobar Sys

2009-05030-0125EP

Clmn Tube 3X12.5cm Isobar Sys

2009-05030-015EP

Clmn Tube 3X15cm Isobar Sys

2009-05030-025EP

Clmn Tube 3X25cm Isobar Sys

2009-05046-002EP

Clmn Tube 4.6X2cm Isobar Sys

2009-05046-003EP

CIlmn Tube 4.6X3cm Isobar Sys

2009-05046-005EP

CIlmn Tube 4.6X5cm Isobar Sys

2009-05046-0075EP

CIlmn Tube 4.6X7.5cm Isobar Sys

2009-05046-010EP

Clmn Tube 4.6X10cm Isobar Sys

2009-05046-015EP

Clmn Tube 4.6X15cm Isobar Sys

2009-05046-020EP

Clmn Tube 4.6X20cm Isobar Sys

2009-05046-025EP

CImn Tube 4.6X25cm Isobar Sys

2009-05046-030EP

Clmn Tube 4.6X30cm Isobar

WINININIFP|IFPIPIFRP[PIWIN|IWIN|FPIRPIFRPIRPIWINININ|FPIRIN|FPIFRPININIFPIN]| W
N|O|ON|O|IN[O|OAIN]|OOIN]O|IN|O|A|O|N|N]|O|IN|O|O|OI|OT|0|W[o0|O0T1|O

N Y IR EIEIEIEIRIEIEIEIEIE RIS I IS Iy ey ey P PR [N FEY Y S [SY [EY RN Y RN [N [EY Y RN [SY TSN FEY P RN FRY [N FRY P RN FEN TN =Y P PR [N

20240 Fer Blank Vespel/Graphite 1/16 7, 6
2050-56500-005NM Clmn Tube 50mmx5cm No Etch 1.1145
2050-56500-0075NM Clmn Tub50mmx7.5cm No Etched 2.5117
2050-56500-010NM Clmn Tube 50mmx10cm No Etch 1.503
2050-56500-015NM Clmn Tube 50mmx15cm No Etch 1. 891
2050-56500-025NM Clmn Tube 50mmx25cm No Etch 2. 6617
2100-05021-002 Pk Cimn Tube 15
2100-05021-003 Pk Clmn Tube 15
2100-05021-0033 Pk Cimn Tube 16
2100-05021-005 Pk Clmn Tube 17, 4
2100-05021-0075WF Pk CImn Tube 22, 1
2100-05021-010 Pk Clmn Tube 20, 1
2100-05021-015 Pk Clmn Tube 23
2100-05021-020 Pk Clmn Tube 26
2100-05021-025 Pk Cimn Tube 33
2100-05021-030 Pk Clmn Tube 61, 1
2100-08046-003 Pk CImn Tube 21
2100-08046-0033 Pk Clmn Tube 21
2100-08046-005 Pk CImn Tube 26
2100-08046-005WF Pk Clmn Tube 29
2100-08046-0075 Pk CImn Tube 33
2100-08046-010 Pk Clmn Tube 40
2100-08046-015 Pk CImn Tube 53




2100-08046-020 Pk Clmn Tube 1 67,
2100-08046-025 Pk Clmn Tube 1 81,
2100-08046-025TG Pk Clmn Tube 1 8 4,
2100-08046-030 Pk Clmn Tube 1 94,
2100-10100-005 Pk Clmn Tube .625X10mmx5cm 1 32,
2100-10100-015 Pk Clmn Tube .625X10mmx15cm 1 53,
210230-150 Mod Climn Tube 30X150 1 336,
2-1S Asy End Ftg 1/8in Flat Swaglok 1 31,
230002 Assy Frit Cap 2um For 4.0/4.6 1 9, 2
25240 Cplry Thg SS 1/16X005X5cm 3Pk 1 12,
25241 Cplry Thg SS 1/16X005X10cm 3Pk 1 14,
25242 Cplry Tbg SS 1/16X005X20cm 3Pk 1 18,
25243 Cplry Thg SS 1/16X005X30cm 3Pk 1 30,
25244 Cplry Tbg SS 1/16X007X5cm 3Pk 1 18,
25245 Cplry Thg SS 1/16X007X10cm 3Pk 1 11,
25246 Cplry Tbg SS 1/16X007X20cm 3Pk 1 15,
25247 Cplry Thg SS 1/16X007X30cm 3Pk 1 34,
25248 Cplry Thg SS 1/16X010X5cm 3Pk 1 16,
25249 Cplry Thg SS 1/16X010X10cm 3Pk 1 18,
25250 Cplry Tbg SS 1/16X010X20cm 3Pk 1 23,
25251 Cplry Thg SS 1/16X010X30cm 3Pk 1 26,
25252 Cplry Thg SS 1/16X020X5cm 3Pk 1 16,
25253 Cplry Thg SS 1/16X020X10cm 3Pk 1 18,
25254 Cplry Thg SS 1/16X020X20cm 3Pk 1 22,
25255 Cplry Thg SS 1/16X020X30cm 3Pk 1 26,
2637 Rheodyne 10-32 Male Nut 1 3,6
2638 Fer 1/16in Rheodyne Type 1 2,8
280960-005 Asy Pk Ring.325X.094X.065 1/2 1 4, 6
286SH3216 Screw SS 5/16-24 X 1 Shcs 1 11,
300-011190-F Cimn Pkg RSVr 10MI Flats 1 362,
300-10-60ENS080 Pk Pump 1 4. 646
3002 Male Ftg 1/4in 6 Deg 1 6, 6
3002-S Male Ftg 1/4in Swage-Lok 1 10,
3003 Male Ftg 1/4in 6 Deg 1 6, 6
300-4065K627 Press Gage 0-20K 1/2 Male Npt 1 246,
300-47865K43 Shut-Off 1/2 Femx1/2Male Npt 1 25,
300-4910K98 Mounting Bracket (Air Reg) 1 15,
300-4959K23 Air Reg 10-250K 1/2 Fem Npt 1 142,
300-5016K457 Con Adptr 3/4 Tubx1/2 Male Npt 1 7,1
300-53065K21 Air Hose 1/21d X 1 OD Ft 1 9, 2
300-5415K14 Hose Clamp 1 1, 9
3006 Male Ftg 1/4in 0 Deg 1 8,1
300-6534K43 Sleeve Lock 1/2 Male Npt 1 6, 6
300-6536K72 1/2 Male Hose Brb-Fem Sleeve 1 32,
3007 End Ftg Vydac 1/4 in 1 21,
3009 Male Ftg 1/4in Waters 6 Deg 1 8,1
300-DSF-122 Haskell Pump 1 5. 4272
300-SS-400-1-4 Con 1/4 Male Npt 1/4 Tube Swg 1 26,
300-SS-400-3 Tee 1/4 Tube Swagelok 1 81,
300-SS-400-71-4 Con 1/4 Tub-1/2 Fem Npt Swg 1 72,
300-SS-400-7-8 Con 1/4 Tube-1/2 Fem Npt Swg 1 57,
300-SS-400-9 Elbow 1/4 Tube Swagelok 1 57,
300-SS-445-FP Needle Vive 9/16-18 Jic Female 1 975,
300-SS-6-AN-1-4 Con 9/16-18 Mjic-1/4 Male Npt 1 53,




300-SS-8-RB-4 Bshg 1/2 To 1/4 Npt Swage 1 40,
300-WU-06080-42 Nalgene Cary TubulLation 10L 1 290,
3010NS Male Ftg 1/4in 2.1mm No Stamp 1 5,1
3013 Male Ftg 3/8in 6 Deg Cone 1 10,
3014 Male Ftg 1/4in 3.2mm Number 3 1 12,
3016 Male Ftg 1/2in 6 Deg Cone 1 19, 1
3018 Male Ftg 1/2in 6 Deg Cone 1 19, ;
307421-P-05-MK Asy Frt Rtnr Mod 2.1 .5um 1 9,7
307421-P-0-MK Frit Rtnr 2.1mm 1 9, 7
3097MK End Ftg (Merck) Ibar 1/4 1 12,
3100-SA Seal Asy Sgl Pk Grd 1mm-2.5mm 1 20, 1
3101 Pkg Adptr .216 I.D. X Clmn 1 6 4,
3101-SR Seal Ring 5/16 Pkg Adptr 1 28,
3102 Pkg Adptr .173X1/4-40 Clmn 1 65,
31021 Pkg Adptr 085 1.D.X2.1 Pk Sys 1 57,
31021-ASY Asy Pkg Adptr 1/4X2.1 Pk 085 1 81,
31021-SR Seal Ring 2.1 Pk Clmn Tube 1 16,
3102-SR Seal Ring 1/4-40 Pkg Adaptor 1 20,
31046 Pkg Adptr .181X4.6 Bio-Safe 1 57,
31046-ASY Asy Pkg Adptr 1/4X4.6 Pk .181 1 81,
31046-SR Seal Rng 4.6 B-Safe Clmn Tube 1 15,
3107-30 Pkg Adptr 30X1in Male Comp End 1 123,
3108 Pkg Adptr 10X1/2 Clmn Tube 1 138,
3108-ASY Mod 0.5 Compress 1 seal-10.0mm 1 173,
3108-SR Seal Rng 10 mmx1/2in Pkg. Adpt 1 25,
3109 Pkg Adptr 7.8mm X 1/2 in Comp 1 108,
3109-003 Clmn Adptr 1/2-20 Pkg Grd Sys 1 67,
3109-0420 Pack Guard System 4 X 2 cm 1 159,
3109-0610 Pack Guard System 6 X 1cm 1 159,
3109-08078-04 Guard System Sleeve 4 X 2 cm 1 61, 1
3109-08078-06 Guard Sys Sleeve 1 61, ¢
3109-08078-0OC End Ftg Gtp 7.8mm Pk Guard Sys 1 42,
3109-08078-SR21 Spacer Union Pkg Grd 7.8X2.1 1 11,
3109-08078-SR30 Spacer Union Pkg Grd 7.8X3 1 11,
3109-08078-SR46 Spacer Union Pkg Grd 7.8X4.6 1 11,
3109-21 Seal Kit Pack Guard Sys 2.1 1 40,
3109-30 Seal Kit Pack Guard Sys 30mm 1 40,
3109-46 Seal Kit Pack Guard Sys 4.6 1 40,
3109-ASY Asy Pkg Adptr 1/2X7.8mm .312 1 159,
3109-SR Seal Rng 7.8mmx1/2in Pkg Adptr 1 25,
3113-PT Pre-Column Rsrvr Pck Tube 50mm 1 2.124
3113-RESV Reservoir50mm Column System 1 3.288
3116-INSTR Instr 30mm Mod Pkg Sys 1 0,0
3118-001 Adptr Comp 1/4in Mod Pkg Sys 1 87,
3118-002 Clmn Adptr 1/4-40 Mod Pkg Sys 1 46,
3118-002-2CM Clmn Adptr 1/4-40 Mod Pkg 1 71,
3118-003 Clmn Adptr 5/16-40 Mod Sys 1 46,
3118-003-2CM Clmn Adptr 5/16-40 2cm Mod Sys 1 71,
3118-004-10 Seallmm 2001 Mod Pkg Sys 1 23,
3118-004-21 Seal 2.1mm 2001 Mod Pkg Sys 1 23,
3118-004-21-2CM Seal 2.1X2.1 2001 Mod Pkg Sys 1 23,
3118-004-30 Seal 3mm 2001 Mod Pkg Sys 1 23,
3118-004-40 Seal 4mm 2001 Mod Pkg Sys 1 23,
3118-004-41 Assy Hiflo Cap int 21.2mm lum 1 23




3118-004-46 Seal 4.6mm 2001 Mod Pkg Sys 1 23,
3118-10 Assy 1mm 1/4-40 Mod Pkg Sys 1 138,
3118-10-ZDV Assylmm 1/4-40 Zdv Mod Pkg Sys 1 138,
3118-21 Mod Pack Adapt seal 2.0-2.1mm 1 138,
3118-21-2CM Asy 1/4X2.1X2cm Mod Pkg Sys 1 138,
3118-21-INSTR Instr 2.1mm Mod Pkg Sys 1 0,0
3118-21-WPC10 Asy Pkg Adptr Mod 2.1 Pre Cimn 1 154,
3118-30 Assy 3mm Mod Pkg Sys 1 138,
3118-30-INSTR Instr 3mm Mod Pkg Sys 1 0,0
3118-40 Assy 4mm Mod Sys 1 138,
3118-40-INSTR Instr 4mm Mod Pkg Sys 1 0,0
3118-43-ZDV Asy 4.3 5/16-40 Zdv Mod Sys 1 138,
3118-46 Mod Packg Adapt 1 seal 4.6mm 1 138,
3118-46-WPC10 Asy Pkg Adptr Mod 4.6 Pre Cimn 1 154,
3121-21 Asy Pkg Adptr 1/4X2.1 Fer Free 1 138,
3121-21-01 Seal 2.1mm Fer Free 1 23,
3121-21-01-ZDV Seal 2.1 Zdv Isobar Pkg Sys 1 23,
3121-21-INSTR Instr 2.1mm Iso-Bar Pkg Sys 1 0,0
3121-21-ZDV Asy Pkg Adptr 1/4 X2.1 Zdv 1 138,
3121-30-INSTR Instr 3mm Isobar Pkg Sys 1 0, 0
3121-30-ZDV-INSTR Instr 3mm Isobar Pkg Sys Zdv 1 0,0
3121-46-01 Seal 4.6mm Fer Free 1 23,
3121-46-INSTR Instr 4.6mm Fer Free Pkg Sys 1 0,0
3122-100-03 Seal 10mm Pkg Adaptor 1 27,
3123-078 Assy 7.8mm Pkg Adaptor 1 196,
3123-078-INSTR Instr 7.8mm Mod Pkg Sys 1 0,0
3123-100 Assy Pkg Adaptor 10mm 1 292,
3123-100-INSTR Instr 10mm ModulLar Packing Sys 1 0,0
3125-020 Assy .020 Micro Pkg Sys 1 138,
3125-020-01 Seal .020 Microbore Pkg Sys 1 15,
3132 Packing Coupler 10mm 1 61,
3132-01 Seal 10mm Pkg Cplr 1 23,
3140-02-01 Inert Sivr Plated 1-14 SSi 1 57,
3140-02-SR Seal Rng Pk 3140 Pkg Adpt 1 47,
3140-21-10-02 Thrds Silver Plated 10mm Tube 1 102,
3140-21-INSTR Instr Asy Pkg 21 I-PrEP CIimn 1 0,0
3140-30-21-01 Pkg Adptr Hsg NoSS 30X21mm 1 119,
3140-30-INSTR Instr Asy Pkg 30 I-PrEP CIimn 1 0,0
3140-50-INSTR Instr Asy Pkg 50 I-PrEP CIimn 1 0,0
3160-001 Adptr Comp 1/4in Isobar Pkg 1 51,
3160-002 Clmn Adptr 1/4-40 Isobar Pkg 1 47,
3160-003 Clmn Adptr 5/16-40 Isobar 1 47,
3160-004 Seal Isobar Pkg Sys 3mm 1 23,
3160-005 Seal Isobar Pkg Sys 4.6mm 1 23,
3160-006 Seal 1mm Iso-Bar Pkg Sys 1 23,
3160-007 Seal Isobar Pkg Sys 2.1mm 1 23,
3160-04-10 Asy 1mm 1/4-40 Isobar Pkg 1 138,
3160-04-21 Assy Pkg Adptr Isobar 2.1mm 1 138,
3160-04-21-WPC10 Asy Pkg Adptr Isobar 2.1 W/Pre 1 154,
3160-04-XX-INSTR Instr Imm 2.1 Isobar Pkg Sys 1 0,0
3160-05-30 Assy Pkg Adptr Isobar 3mm 1 138,
3160-05-30-WPC10 Asy Pkg Adptr 3 W/Pre 1 154,
3160-05-46 Assy Pkg Adptr Isobar 4.6mm 1 138,
3160-05-XX-INSTR Instr 3 4.6 Isobar Pkg Sys 1 0,0




3170-4 Quad Distributor Barrel 1 1.600(0
3170-70 Quad MuLti Packer Assembly 1 3.6746
3170-P Lower Plate 1 242,
340035-002 Frt Rng Pk 4.6 Quad Load Rev E 1 4,0
3800-02-DCG Hsg Male End Direct Conn 1 65,
4001 Fer 1/4in 1 4,0
4002-1 Man Plunger SPME 1 8,1
4002-10 Auto Hub SPME 1 14,
4002-12 O-Ring Viton 3/8 X 1/4 X 1/16 1 0, 9
4002-32 Tbg Inner 30Ga Thin Wall SPME 1 8,1
4002-46 Thg Outer 304SS 23Ga SPME 1 2,4
4002-49 Thg inner 30Gax2cm SPME 1 2,8
4002-4D Thg Inner 304SS 30Ga SPME 1 1,5
4002-4E Tbg Outer 304SS 24Ga SPME 1 1,5
4002-5 Man Thrd Hub SPME 1 24,
4002-57 Auto Plunger Ctc SPME 1 11,
4002-6 Needle Cover Tube SPME 1 29,
4002-7 Needle Cover End SPME 1 6, 0
4002-70 Ftg Brass 24Ga. SPME 1 2,8
4002-7071 Ftg Cup Brass SPME 1 2,8
4002-8 Auto Plunger SPME 1 24,
4004 Fer 3/8in 1 7, 6
4005 Fer 1/2in 1 15,
4006 Fer 1lin Swagelock 2 Piece 1 30,
4007 Fer 1/16in SS316 1 3,7
4007U Fer 1/16in Universal 1 2,5
4007U-10 Fer 1/16in Universal 10 Pk 1 20, ¢
4007V Fer 1/16in 1 2,5
4007V-10 Fer 1/16in 1 20, 1
4007W-10 Fer 1/16in Waters 10 Pk 1 20, 1
4009 Fer 1/16in Rheodyne Type 1 4,0
4009-10 Fer 1/16in Rheodyne Type 10 Pk 1 37,
4010-MB Fer 1/8in 316SS 1 4,6
4058-3 Man Syringe Body SPME 1 36,
4058-4 Auto Syringe Body SPME 1 51,
4-1P Assy End Ftg 1/4in 1 13,
4-1PZDV Assy End Ftg 1/4in Z.D.V. 1 13,
4-1PZDV-PF Assy End Fitting 1 19, 4
4-1S Assy End Ftg 1/4in Swagelok 1 18,
4-1V 0.250 Compress 4.6mm Dist Cone 1 13,
4-1V2.1 0.250 Compress 2.1mm Dist Cone 1 14,
4-1V2.1NS Assy End Ftg 1/4in 2.1mm 1 11,
4-1V3.2 Assy End Ftg 1/4in 3.2mm No 3 1 13,
4-1W Assy End Ftg 1/4in Waters 1 14,
44226680 Pk Clmn Tube 2.0mm X 5.7cm 1 32,
44226690 Pk Clmn Tube 2.0mm X 8.2cm 1 35,
44226700 Pk Clmn Tube 2.0mm X 10.7cm 1 37, 1
44226710 Pk Clmn Tube 2.0mm X 15.7cm 1 42,
44226720 Pk Clmn Tube 2.0mm X 25.7cm 1 55,
ATZ-SS Fer 1/4in 316 SS 1 6, 6
5001 Back Nut 1/4 in 1 6, 6
5005 Backnut 1/2 in 1 15,
5006 Backnut 3/8 in 1 Piece Fer 1 10,
5007 Back Nut 1 Swage 2 Piece Fer 1 38,




5008 Backnut 1/8 in 1 8,
5021-7706 Clmn Tube 3mm 1 36,
5021-8822 Pk Clmn Tube 2.1mm X 7.5cm 1 4 4
5021-8823 End Ftg Biosafe Pk 2.1mm 1 29,
50301P-04010-005-05 Isobar System 1 72,
50301P-04010-015-05 Isobar System 1 82,
50301P-04021-002-05 Isobar System 1 53,
50301P-04021-0025-05 Isobar System 1 57,
50301P-04021-003-05 Isobar System 1 54,
50301P-04021-005-05 Isobar System 1 55,
50301P-04021-0075-05 Isobar System 1 57,
50301P-04021-010-05 Isobar System 1 59,
50301P-04021-015-05 Isobar System 1 6 4,
50301P-04021-025-05 Isobar System 1 73,
50301P-05030-002-05 Isobar System 1 53,
50301P-05030-003-05 Isobar System 1 54,
50301P-05030-005-05 Isobar System 1 56,
50301P-05030-005-20 Isobar System 1 56,
50301P-05030-0075-05 Isobar System 1 57,
50301P-05030-010-05 Isobar System 1 61,
50301P-05030-015-05 Isobar System 1 6 3,
50301P-05030-025-05 Isobar System 1 70,
50301P-05046-002-05 Isobar System 1 52,
50301P-05046-002-20 Isobar Sys 1 52,
50301P-05046-003-05 Isobar System 1 53,
50301P-05046-005-05 Isobar System 1 54,
50301P-05046-010-05 Isobar System 1 57,
50301P-05046-010-20 Isobar Sys 1 57,
50301P-05046-015-05 Isobar System 1 59,
50301P-05046-015-20 Isobar System 1 59,
50301P-05046-025-05 Isobar System 1 65,
5030I1W-04021-003-05 Isobar Sys 1 73,
50301W-04021-005-05 Isobar System 1 75,
5030I1W-04021-010-05 Isobar System 1 77,
50301W-04021-015-05 Isobar System 1 79,
5030IW-05030-002-05 Isobar System 1 55,
50301W-05030-0025-05 Isobar System 1 57,
50301W-05030-003-05 Isobar System 1 56,
50301W-05030-005-05 Isobar System 1 58,
5030IW-05030-010-05 Isobar System 1 65,
50301W-05046-005-05 Isobar System 1 67,
5040-4646 Assy Frit Pk/Pk 2.1mm 2um 1 7,
5040-4647 Frit Asy Pk Collar 2.1 1 7,
50411P-04010-0033-05 Mod Clmn Sys 1 57,
50411P-04010-005-05 Mod CIimn Sys 1 60,
50411P-04010-005-20 Mod Clmn Sys 1 58,
50411P-04010-010-05 Mod CIimn Sys 1 6 4,
50411P-04010-015-05 Mod CIimn Sys 1 70,
50411P-04010-015-20 Mod CImn Sys 1 69,
50411P-04010-025-05 Mod Clmn Sys 1 79,
50411P-04010-025-20 Mod CImn Sys 1 78,
50411P-04021-0033-20 2.1x33mm Modular Asy-2 um Frit 1 53,
50411P-04021-005-05 Mod CImn Sys 1 55,
50411P-04021-005-20 2.1x50mm Modular Asy-2 um Frit 1 55,




50411P-04021-0075-05

Mod Clmn Sys

57

50411P-04021-0075-20 Mod Clmn Sys 57
50411P-04021-010-05 Mod Clmn Sys 59
50411P-04021-010-20 Mod Clmn Sys 59
50411P-04021-0125-20 Mod Clmn Sys 61
50411P-04021-015-05 Mod Clmn Sys 6 3
50411P-04021-015-20 Mod Clmn Sys 6 3
50411P-04021-025-05 Mod Clmn Sys 73
50411P-04021-025-20 Mod Clmn Sys 73
50411P-05030-003-20 Mod Clmn Sys 45
50411P-05030-0033-05 Mod Clmn Sys 46
50411P-05030-005-05 Mod Clmn Sys 47
50411P-05030-005-20 Mod Clmn Sys 47
50411P-05030-0075-20 Mod Clmn Sys 49
50411P-05030-010-05 Mod Clmn Sys 51
50411P-05030-010-20 Mod Clmn Sys 51
50411P-05030-0125-20 Mod Clmn Sys 53
50411P-05030-015-05 Mod Clmn Sys 55
50411P-05030-015-20 Mod Clmn Sys 55
50411P-05030-020-20 Mod Clmn Sys 56
50411P-05030-025-05 Mod Clmn Sys 6 3
50411P-05030-025-20 Mod Clmn Sys 6 3
50411P-05040-005-20 Mod Clmn Sys 43
50411P-05040-0075-20 Mod Clmn Sys 45
50411P-05040-008-20 Mod Clmn Sys 46

50411P-05040-010-05

Column Assembly

47

50411P-05040-010-20 Mod Clmn Sys 49
50411P-05040-0125-20 Mod Clmn Sys 49
50411P-05040-015-05 Mod Clmn Sys 51
50411P-05040-015-20 Mod Clmn Sys 51
50411P-05040-020-20 Mod Clmn Sys 56
50411P-05040-025-20 Mod Clmn Sys 6 2
50411P-05040-030-20 Mod Clmn Sys 6 6
50411P-05041-0033-20 Mod Clmn Sys 6 3
50411P-05041-005-05 Mod Clmn Sys 6 4
50411P-05041-005-20 Mod Clmn Sys 64
50411P-05041-010-20 Mod Clmn Sys 65
50411P-05041-015-05 Mod Clmn Sys 6 6
50411P-05041-015-20 Mod Clmn Sys 6 6
50411P-05041-025-20 Mod Clmn Sys 6 8
50411P-05046-003-20 Mod Clmn Sys 45
50411P-05046-0033-05 Mod Clmn Sys 45
50411P-05046-0033-20 Mod Clmn Sys 45
50411P-05046-005-05 Mod Clmn Sys 46

50411P-05046-005-20

4.6x50mm Modular Asy-2 pm Frit

45

50411P-05046-006-20 Mod CIm Sys 47
50411P-05046-0075-05 Mod Clmn Sys 48
50411P-05046-0075-20 Mod Clmn Sys 48

50411P-05046-010-05

Mod Clmn Assy

49

N Y IR EIEIEIEIRIEIEIEIEIE RIS I IS Iy ey ey P PR [N FEY Y S [SY [EY RN Y RN [N [EY Y RN [SY TSN FEY P RN FRY [N FRY P RN FEN TN =Y P PR [N

50411P-05046-010-20 Mod Clmn Sys 49
50411P-05046-011-05 Mod Clmn Assy 58
50411P-05046-0125-20 Mod Clmn Sys 50
50411P-05046-015-05 Mod Clmn Sys 52
50411P-05046-015-20 Mod Clmn Sys 52




50411P-05046-020-05 Mod Clmn Sys 55,
50411P-05046-020-20 Mod CImn Sys 55,
50411P-05046-025-05 Mod Clmn Sys 60,
50411P-05046-025-20 Mod CIimn Sys 59,
50411P-05046-030-20 Mod Clmn Sys 6 4,

50411P-08078-003-20

HTLC Mod Cimn Sys 7.8 X 3cm

50411P-08078-004-20

Mod Clmn Sys

50411P-08078-005-20

Mod Clmn Sys

50411P-08078-010-20

Mod Clmn Sys

50411P-08078-015-20

Mod Sys

50411P-08078-025-20

Mod Sys

50411P-08078-030-20

Mod Sys

50411P-08078-050-20

Mod Sys

50411P-10100-003-20

Mod Clmn Sys

50411P-10100-005-20

Modular Asy 10x50mm 2um Frit

50411P-10100-010-20

Mod Sys

50411P-10100-015-20

Mod Sys

50411P-10100-025-05

Mod Asy 10.0x250mm-0.5um Frit

50411P-10100-025-20

Mod Asy 10.0x250mm-2um Frit

50411P-10100-030-20

Mod Sys

50411P-10100-040-20

Column Assembly

50411P-10100-050-20

Modular Asy 10x500mm 2um Frit

50411P-19212-003-05ED

Mod Clmn Sys

OIN|O|O|O|O|R]|R[WWW[WIW|WWIW[WW|W[R_]|W|N|FR|IFR|FP|IFPIFP|IFPIN|FPIFPIFP|PIFPFP -

NP WO|O|N[O]|O[O|D|D|O|R]|AINININ|IO|FR|O|R~|Olo|lO|N|O|UIN]|FR|O|oIN|[O|OIO O
NININ|IPIP|OO|N[(N|0|O|C|O|R|OIFR[FPIN|IO|A~]|R|OlWWw|OIO|O|R|OI|OIN]W|OIW]|O|O

N Y IR EIEIEIEIRIEIEIEIEIE RIS I IS Iy ey ey P PR [N FEY Y S [SY [EY RN Y RN [N [EY Y RN [SY TSN FEY P RN FRY [N FRY P RN FEN TN =Y P PR [N

50411P-19212-003-20ED |Mod CIimn Sys

50411P-19212-005-20 Mod Clmn Sys

50411P-19212-005-20ED |Mod Clmn Sys

50411P-19212-0075-20ED (Mod Clmn Sys

50411P-19212-010-20 Mod Clmn Sys

50411P-19212-010-20ED |Mod Clmn Sys

50411P-19212-015-20 Mod Clmn Sys

50411P-19212-015-20ED |Mod Clmn Sys

50411P-19212-020-20ED |Mod Clmn Sys

50411P-19212-025-20 Mod Sys

50411P-19212-030-20ED |Mod CIimn Sys

50411P-19212-050-20ED |Mod Clmn Sys

50411P-24300-005-20 Mod Clmn Sys

50411P-24300-0075-20 Mod Clmn Sys

50411P-24300-010-20 Mod Clmn Sys

50411P-24300-015-20 Mod Clmn Sys

50411P-24300-030-20 Mod Clmn Sys

50411P-24300-050-20 Mod Clmn Sys

50411V-04010-005-20 Mod Clmn Sys 58,
50411V-04010-010-20 Mod Clmn Sys 63,
50411V-04021-003-05 Mod Clmn Sys 39,
50411V-04021-003-20 Mod Clmn Sys 53,
50411V-04021-0033-20 Mod Clmn Sys 52,
50411V-04021-005-05 Mod Clmn Sys 54,
50411V-04021-005-20 Mod Clmn Sys 54,
50411V-04021-010-05 Mod Clmn Sys 58,
50411V-04021-010-20 Modular Asy 2.1x100mm 2um SS 58,
50411V-04021-015-05 Mod Clmn Sys 6 3,
50411V-04021-015-20 Modular Asy 2.1x150mm 2um SS 6 3,
50411V-04021-015-20TI Mod Clmn Sys Ti 76,
50411V-04021-020-20 Mod Clmn Sys 68,




50411V-04021-025-20 Modular Asy 2.1x250mm-2um Frit 72,
50411V-05030-003-05 Mod Clmn Sys 38,
50411V-05030-005-05 Mod Clmn Sys 49,
50411V-05030-005-20 Mod CIimn Sys 49,
50411V-05030-010-05 Mod Clmn Sys 53,
50411V-05030-010-20 Mod CIimn Sys 53,
50411V-05030-015-05 Mod Clmn Sys 59,
50411V-05030-015-20 Mod CImn Sys 59,
50411V-05030-025-05 Mod Clmn Sys 64,
50411V-05030-025-20 Mod CIimn Sys 65,
50411V-05040-010-20 Mod CIimn Sys 55,
50411V-05040-0125-20 Mod CImn Sys 57,
50411V-05040-015-20 Mod CIimn Sys 59,
50411V-05040-025-20 Mod CImn Sys 67,
50411V-05040-030-20 Mod CIimn Sys 75,
50411V-05046-003-20 Mod CImn Sys 45,
50411V-05046-0033-20 Mod CIimn Sys 45,
50411V-05046-005-05 Mod CIimn Sys 42,
50411V-05046-005-20 Modular Asy 50x4.6mm-2um Frit 46,
50411V-05046-0075-20 Mod CImn Sys 47,
50411V-05046-010-05 Mod CIimn Sys 46,
50411V-05046-010-20 Mod CImn Sys 49,
50411V-05046-0125-20 Mod CIimn Sys 49,
50411V-05046-015-05 Mod CIimn Sys 50,
50411V-05046-015-20 Modular Asy 150x4.6mm-2um Frit 52,
50411V-05046-020-20 Mod CIimn Sys 56,
50411V-05046-025-05 Mod CIimn Sys 58,
50411V-05046-025-20 Modular Asy 4.6x250mm-2um Frit 58

50411V-05046-030-05

Mod Clmn Sys

50411V-05046-030-20

Mod Clmn Sys

50451V-04021-002-05

Accel-X Clmn Sys 2.1X2cmx.5um

50461P-04010-003-05

Accel-X Clmn Sys Immx3cmx.5um

50461P-04010-003-20

Accel-X Clmn Sys Immx3cmx2um

50461P-04021-003-20

Accel-X Clmn Sys 2.1X3cmx2um

ulo|o|lu|o|o
EN] EN EN Y iy i

50461P-05040-003-20

Accel-X Clmn Sys 4X3cmx2um

ol
o

50461P-05046-003-05

Accel-X Clmn Sys 4.6X3cmx.5um

50461V-04021-003-05

Accel-X Clmn Sys 2.1X3cmx.5um

50461V-05030-003-05

Accel-X Clmn Sys 3X3cmx.5um

50501P-05021-003-20

BioSafe Clmn Sys 2.1X3cm 2um

50501P-05021-0033-20

Modular Asy 2.1mmx3.3cm 2um

50501P-05021-005-20

BioSafe Clmn Sys 2.1X5cm 2um

(o]l [(o}l K{o} §é 1 Noel K4,
|~ |A~|O|R~]|O

50501P-05021-010-20

BioSafe Clmn Sys 2.1X10cm 2um

50501P-05021-015-20

BioSafe Clmn Sys 2.1X15cm 2um

50501P-05021-020-20

BioSafe Clmn Sys 2.1X20cm 2um

50501P-05021-025-20

BioSafe Clmn Sys 2.1X25cm 2um

50501P-05021-030-20

Modular Asy 2.1mmx30cm 2um

50501P-08046-003-20

BioSafe Clmn Sys 4.6X3cm 2um

50501P-08046-0033-20

BioSafe Clmn Sys 4.6X3.3cm 2um

50501P-08046-005

BioSafe Clmn Sys 4.6X5cm NoFrt

50501P-08046-005-20

BioSafe Clmn Sys 4.6X5cm 2um

50501P-08046-0075-20

BioSafe Clmn Sys 4.6X7.5cm 2um

50501P-08046-010-20

BioSafe Clmn Sys 4.6X10cm 2um

50501P-08046-015-20

Modular Asy 4.6mmx15cm-2um

50501P-08046-020-20

BioSafe Clmn Sys 4.6X20cm 2um

N Y IR EIEIEIEIRIEIEIEIEIE RIS I IS Iy ey ey P PR [N FEY Y S [SY [EY RN Y RN [N [EY Y RN [SY TSN FEY P RN FRY [N FRY P RN FEN TN =Y P PR [N

TSN [ PN T PN Y PN S PN P P T
Alw|nv|NR|olkr|RINMiR|o|R|o
Rla|o|rlo|lo|~N|[N|olo]eo|o]n




50501P-08046-025-20 BioSafeClmn Sys 4.6mmx25cm-2um 151,
50501P-08046-030-20 BioSafe Clmn Sys 4.6X30cm 2um 159,
50501P-10100-005-50T]I BioSafe Clmn Sys 10mmx5cm 5um 188,
50501P-10100-010-50TI BioSafe Clmn Sys 10mmx10cm 5um 193,
50501P-10100-015-50T]I BioSafe Clmn Sys 10mmx15cm 5um 219,
50501P-10100-030-50TI BioSafe ClImn Sys 10mmx30cm 5um 294,
50511P-M12046-030-05PK |BCmpSysPrk4.6X30cmX0.5umPK 446,

1

1

1

1

1

1

1
5063-6517 Clmn Assy 125mm 1 41 ,
512103 Isobar Clmn 2.1mm X 3cm 1 22, 1
512105 Isobar Clmn 2.1mm X 5¢cm 1 23,
512110 Isobar Clmn 2.1mm X 10cm 1 26,
513000 Asy Frt Rtnr 3.0 .5um 907430P 1 11,
513005 2009-05030-005EP Isobar 30X5cm 1 17,
522103 SS Thg 30mm X 2.1mm Restek 1 20,
522105 SS Thg 50mm X 2.1mm Restek 1 20, ¢
522110 SS Thg 100mm X 2.1mm Restek 1 22, 1
522115 SS Thg 150mm X 2.1mm Restek 1 24,
522125 SS Thg 250mm X 2.1mm Restek 1 33,
523203 SS Thg 30mm X 3.2mm Restek 1 16,
523205 SS Thg 50mm X 3.2mm Restek 1 12,
523210 SS Thg 100mm X 3.2mm Restek 1 14,
523215 SS Thg 150mm X 3.2mm Restek 1 16,
523220 SS Thg 1/4X3.2mmx20cm Restek 1 18,
523225 SS Thg 250mm X 3.2mm Restek 1 20, 1
524010 SS Thg 100mm X 4mm Restek 1 17, 4
524015 SS Thg 150mm X 4mm Restek 1 17,
524025 SS Thg 250mm X 4mm Restek 1 18,
524030 SS Thg 300mm X 4mm Restek 1 27, 1
524603 SS Thg 30mm X 4.6mm Restek 1 10,
524605 SS Thg 50mm X 4.6mm Restek 1 10,
524610 SS Thg 100mm X 4.6mm Restek 1 11,
524615 SS Thg 150mm X 4.6mm Restek 1 12,
524620 SS Thg 200mm X 4.6mm Restek 1 13,
524625 SS Thg 250mm X 4.6mm Restek 1 15,
524630 SS Thg 300mm X 4.6mm Restek 1 15,
530021 End Ftg Isobar 1/4 in 1 8, 4
530414 Comp Ftg 1/4 X 1/16 1 13,
6002B-P End Ftg Hichrom 5/16 in 1 10,
60021-P End Ftg 5/16 in 1 10,
6002I1-V End Ftg 5/16 in 1 10,
60021V-2 End Ftg 5/16X2cmx013 020 Web 1 10,
60021-W End Ftg Waters 5/16 in 1 10,
6002Y-W End Ftg Ymc/Waters 5/16 in 1 10,
6003B-P End Ftg Hichrom 1/4 in 1 14,
6003I-P End Ftg Mod 1/4in 1 13,
6003I-V End Ftg 1/4 in 1 13,
60031V-2 End Ftg 1/4X2cmx013 020 Web 1 13,
6003Y-W End Ftg Ymc/Waters 1/4 in 1 13,
60061G-P End Ftg Gtp 7.8mm 1 42,
60071G-P End Ftg Gtp 10mm 1 47,
60111-P Assy End Ftg Qsa Pkr 1 61, 1
6022-P-013 End Ftg Accel-X 5/16X3cmx.013 1 12,
6022-V-013 End Ftg Accel-X 5/16X3cmx.013 1 12,
6023-P-013 End Ftg Accel-X 1/4X3cmx.013 1 15




6023-V End Ftg 1/4 X3cmx020 Web 1 16,
6023-V-013 End Ftg Accel-X 1/4X3cmx.010 1 15,
60513A Pk Clmn Tube 250X2.1X3cm 1 18,
60516A End Ftg Pk 2.1mm Mod Sys 1 28,
60518A Frit Asyti Pk .200X2.1X5um 1 10,
60548A Frit Asy Tl Pk .500X10mmx5um 1 14,
6-1P Assy End Ftg 3/8in 1 24,
6-1V Assy End Ftg 3/8in 1 24,
6-1VTG Assy End Ftg 3/8X12-32 Trans 1 26,
6-1W Assy End Ftg 3/8in Waters 1 24,
6208 End Ftg Bio-Safe 4.6mm 1 30,
6209 End Ftg Bio-Safe 2.1mm 1 20, 1
6209-PR End Ftg Pk 2.1 Mod Sys Primus 1 20, 1
6211 End Ftg Pk 10mm Bio-Safe 1 51,
661021 Biosafe 4.6mm X 15cm 1 39,
661021M Mod 150 X 5.5mm Pk CImn Tube 1 50,
661025 Assy Guard Cart 1 17,
661030 LC Blank 3/8X6.5mmx3.7cm 1 16,
661031M Pk Cimn Tube 4.6X5cm Transg 1 101,
661033 EP Blank 1/4in X 4.6mm X 5cm 1 10,
68152-20TI Frt Asyti Pk 250 X 1 8,7
7000-05 Frt Asy SS/Pk 250X4.6 .5um 1 5,1
7000-05-10 Frt Asy SS/Pk 250X4.6 10 Pk 1 46,
7000-100 Tube Clmn 10mm X 250mm SS 1 81,
7000-100H Frit Assy SS/Pk 250X4.6 10um 1 8,1
7000-101 Guard Clmn Tube 10mm 1 26,
7000-185B Assy Frit Ring Pk 250X4.6 1 4,6
7000-185T Assy Frit Ring Pk 250X4.6 1 4, 6
7000-20 Frit Assy 1/4 in 4.6mm 2.0um 1 5,1
7000-20-10 Frit Assy SS/Pk 250X4.6 10 Pk 1 46,
7000-20TI Frt Assy Tl Pk 250X4.6 1 9, 2
7000B Frit Ring Pk .250 X 4.6mm 1 4, 6
7000K Frit Ring Kel-F .250 X 4.6mm 1 5,1
7000T Frit Ring Pk .250 X 4.6mm 1 4, 6
7001-05 Frit Assy SS/Pk .250 X 2.1mm 1 5,1
7001-05-10 Frit Assy SS/Pk 250X2.1 10 Pk 1 46,
7001-100 Tube Clmn 21.4mm X 250mm SS 1 119,
7001-101 Guard Clmn Tube 21.4mm SS 1 102,
7001-20 Frit Assy SS/Pk .250 X 2.1mm 1 5,1
7001-20-10 FritAssy SS/Pk.250X2.1 2um10Pk 1 46,
7001-207 Guard Clmn Tube 414mmx2.5cmSS 1 61, ¢
7001-50 Frit Assy SS/Pk 250X2.1 5um 1 7,6
7002-002 Clmn Tube 41.4mm X 30cm 1 766,
7002-007 Guard CImn Tube 414X2.5cm SS 1 269,
7002-05 Frit Assy SS/Pk .250 X 3mm 1 5, 6
7002-05-10 Frit Assy SS/Pk 250X3 10 Pk 1 53,
7002-20 Frit Assy SS/Pk .250 X 3mm 1 6, 0
7002-20-10 Frit Assy SS/Pk 3mm X 2um 10Pk 1 54, 1
7003-001 Tube Clmn 4.6 X 25cm 1 36,
7003-002 Tube Clmn 4.6 X 1.5cm 1 9, 9
7003-019 Tube Clmn 4.6 X 10cm 1 25,
7004-05 Frit Assy SS/Pk .250 X 4mm 1 5,1
7004-20 Frit Assy SS/Pk .250 X 4mm 1 5,1
7004-20-10 Frit Assy SS/Pk 250X4 10 Pk 1 46,




7004B Frit Ring Pk .250 X 4mm 1 4 6
7004T Frit Ring Pk .250 X 4mm 1 4, 6
7005-20 Frit Assy SS/Pk .375 X 7.8mm 1 13,

7005T Frit Ring Pk .375X 7.8mm 1 7,6
7006-20 Frit Assy 1/2 X10mm 2um 1 18,

7006T Frit Ring Pk .500 X 10mm 1 6,0
7008-05 Frit Assy SS/Pk .250 X 1.5mm 1 5, 6
7008-05-10 Frit Asy SS/Pk 250X1.5mm 10 Pk 1 50,

7008-20 Frit Assy SS/Pk .250 X 1.5mm 1 5, 6
7008-20-10 Frit Assy SS/Pk 250X1.5mm 10 P 1 50,

7008B Frit Ring Pk .250 X 1.5mm 1 4,0
7008T Frit Ring Pk .250 X 1.5mm 1 4,0
7020-05 Frit Assy SS/Pk .250 X 4.6mm 1 4, 6
7020-05-10 Frit Assy SS/Pk 250X4.6 10 Pk 1 41,

7020-20 PEEK Encap Frit 4.6mmx.032-2um 1 4, 6
7020-20-10 Frit Assy SS/Pk 250X4.6 10 Pk 1 41,

7021-05 Frit Assy SS/Pk .250 X 2.1mm 1 4, 6
7021-05-10 Frit Assy SS/Pk 250X2.1 10 Pk 1 41,

7021-20 PEEK Encap Frit 2.1mmx.032-2um 1 5,1
7021-20-10 Frit Assy SS/Pk 250X2.1 10 Pk 1 46,

7022-05 Frit Assy SS/Pk .250 X 3mm 1 5,1
7022-05-10 Frit Assy SS/Pk 250X3 10 Pk 1 46,

7022-20 Frit Assy SS/Pk 250X3 2um 1 5,1
7023-05 Frit Assy SS/Pk .250 X 3.2mm 1 4, 6
7024-05 Frit Assy SS/Pk .250 X 4mm 1 5,1
7025-20TI Frit Assy Pk/Ti .148X2.1 2um 1 15,

7026-20 Frit Assy SS/Pk 049X1X032 1 4, 6
7029-20 Frit Ring Assy 2.1mm X 2um 1 7,1
7029T FRIT RING 1 6, 0
7031-05 Iso-Prep 21.2mm Filter 0.5um 1 30,

7031-20 Iso-Prep 21.2mm Filter 2um 1 26,

7033T FRIT RING 1 4,0
7034B Frit Ring Pk .295X2.1 BIk 1 4,0
7038-50TI Frit Assy Pk/Ti 250X4.6 5um 1 14,

7050-05H Frit Cap 4.6 .5um Blk 1 5,1
7050-05H-HIC Frit Cap Pk212X271X4.6 .5umblk 1 4, 6
7050-100H Assy Frit Cap 4.6mm 10um 1 6, 0
7050-20H Assy Frit Cap 4.6mm 2um 1 5,1
7050-20H-HIC Frit Cap Pk212X271X4.6 2um 1 4, 6
7050-50H Assy Frit Cap 4.6mm 5um 1 6,0
7050-RT Frit Cap Remvl Tool 1.0 4.6mm 1 92,

7051-05H Frit Cap 2.1 .5um Blk 1 5,1
7051-05H-HIC Frit Cap Pk169X213X2.1 .5umblk 1 4, 6
7051-20H Assy Frit Cap 2.1mm 2um 1 5,1
7051-20H-HIC Frit Cap Pk169X213X2.1 2um 1 4, 6
7051-20TI Assy Frit Cap 2.1mm 2um Ti 1 10,

7053-05H Assy Frit Cap 3mm .5um Black 1 5,1
7053-05H-HIC Frit Cap Pk212X271X3 .5um BIk 1 2,9
7053-20H Frit Cap Pk212X271X3 2um 1 5,1
7053-20H-HIC Frit Cap Pk212X271X3 2um 1 2,9
7054-05H Frit Cap Pk212X271X40.5um BIk 1 5,1
7054-05H-HIC Frit Cap Pk212X271X40 5um BIk 1 2,9
7054-20H Frit Cap Pk212X271X40 2um 1 5,1
7054-20H-HIC Frit Cap Pk212X271X40 2um 1 2,9




7054-PH Frit Cap Pk212X271X40 .5umtan 1 3,6
7055-05H Frit Cap Pk212X271X20 .5umblk 1 5,1
7055-150 Frit Cap Pk212X271X20 15um 1 9, 2
7055-20H Frit Cap Pk212X271X20 2um 1 5, 6
7055-PH Frit Cap Pk212X271X20 .5umtan 1 3,6
7056-20H Frit Cap Pk212X271X1 2um 1 5,1
7057-05H Frit Cap Pk169X213X1 .5umblk 1 9,7
7057-20H Frit Cap 169X213X1mm 2um 1 5,1
7058 Surfit Kit Hp Switching Maxflo 1 92,
7094P-05PK BioComp Frit Assy PEEK 1 81,
7100-20 Frit Assy Pk/Pk 250 4.6 2um 1 8, 1
7100-20-10 Frit Assy Pk/Pk 250X4.6 10 Pk 1 73,
7100-20-2 Frt Asy Pk/Pk 250X4.6 2 Pk 1 14,
7104-20 Frit Assy Pk/Pk .148X2.1X2um 1 8,1
7351-100H Assy Frit Cap Open 7.8mm 10um 1 45,
7351-20H Assy Frit Cap Open 7.8mm 2um 1 16,
7351-50H-T AsyFritCapOpen7.8mm5umTTN FRIT 1 61, {
7352-05H Assy Frit Cap Open 10mm .5um 1 14,
7352-100H Assy Frit Cap Open 10mm 10um 1 40,
7352-10H Assy Frit Cap Open 10mm lum 1 14,
7352-20H Assy Frit Cap Open 10mm 2um 1 14,
7352-50H Asy Frt Cp Open 5um 10mm 1 21,
7352B Frit Cap Pk Open .625 X10mm 1 20, 1
7352DN Frit Cap 10.0mm W/ Ext Disp 1 30,
7352-RT Frit Cap Removal Tool 10 21.2 1 123,
7352T Frit Cap Pk Open .625 X10mm 1 20, 1
7354D-20H Assy Frit Cap 15mm 2um 1 94,
7354DN Frit Cap 15mm W/ int Disp 1 30,
7359-20H Assy Frit Cap Slotted Dsp 30 2 1 119,
7453-05H Frit Cap 3 .5umti Frt 1 10,
7453-20H Assy Frit Cap 3mm 2umiti Frit 1 9,7
7455-20H Frit Cap 20mm 2umti Frt 1 12,
7550-05H Frit Cap Qsa212X271X4.6 .5um 1 5, 6
7550-20H Frit Cap Qsa212X271X4.6 2um 1 5, 6
7551-05H Frit Cap Qsal69Xx271X2.1 .5um 1 5, 6
7551-20H Frit Cap Qsal69X271X2.1 2um 1 7,1
7553-05H Frit Cap Qsa 212X271X3 .5um 1 5, 6
7553-20H Frit Cap Qsa 212X271X3 2um 1 5, 6
7554-05H Frit Cap Qsa212X271X4 .5um 1 5, 6
7554-20H Frit Cap Qsa212X271X4 2um 1 5, 6
7556-05H Frit Cap Qsal69X271X1mm .5um 1 5, 6
7556-20H Frit Cap Qsal69X271X1mm 2um 1 5, 6
7558-05H Frit Cap Qsa212X271X2.1 .5um 1 5, 6
7559-05H Frit Cap Qsa212X271X1mm .5um 1 10,
7559-20H Frit Cap Qsa212X271X1mm 2um 1 5, 6
7850-05H Asy Accelx CapPk .313X4.6 .5um 1 5,1
7850-20H Asy Accelx Cap Pk .313X4.6 2um 1 4, 6
7850B Accel-X Frt Cap Pk .313X4.6 1 4, 6
7850T Accel-X Frt Cap Pk .313X4.6 1 4, 6
7851-05H Asy Accelx Cap Pk 250X2.1 .5um 1 7,1
7851-20H Asy Accelx Cap Pk 250X2.1 2um 1 6, 6
7851B Accel-X Frt Cap Pk 250X2.1 1 4, 6
7851T Accel-X Frt Cap Pk 250X2.1 1 4, 6
7853-05H Asy Accelx Cap Pk .313X3 .5um 1 7,1




7853-20H Asy Accelx Cap Pk .313X3 2um 1 6, 6
7853B Accel-X Frt Cap Pk .313X3 1 4, 6
7853T Accel-X Frt Cap Pk .313X3 1 4 6
7854-05H Asy Accelx Cap Pk .313X4 .5um 1 7,1
7854-20H Asy Accelx Cap Pk .313X4 2um 1 6, 6
7854T Accel-X Frt Cap Pk .313X4 1 4, 6
7857-05H Asy Accelx Cap Pk 250X1 .5um 1 12,
7857-20H Asy Accelx Cap Pk 250X1 2um 1 6, 0
8002 Frit SS .120 X .062 2um HF 1 1,9
8003 Frit SS .187 X .057 2um HF 1 1,7
8004 Frit SS .187 X .057 .5um HF 1 2, 2
8005 Frit SS .094 X .057 2um HF 1 1,7
8006 Frit SS .094 X .057 .5um HF 1 1, 8
8011 Frit SS .125 X .057 2um HF 1 2,1
8012 Frit SS .125 X .057 .5um HF 1 2,5
8015 Frit SS .085 X .040 .5um HF 1 2, 3
8028 Frit SS .094 X .030 .5um HF 1 1,7
8036 Frit SS .405 X .057 2um HF 1 2,5
8037 Frit SS .839 X .057 2um HF 1 10,
8043 Frit SS 1/4 in 2um HF 1 3,0
8045 Frit SS .500 X .062 2um HF 1 2,5
8049 Frit SS .049 X .032 .5um HF 1 10,
8051 Frit SS .250 X .039 2um HF 1 1,5
8052 Frit SS .250 X .032 .5um HF 1 1,7
8054 Frit SS .250 X .032 2um NHF 1 1,7
8056 Frit SS .839 X .125 2um HF 1 16,
8056-MOD Frit SS .839X.125inX2um HF Mod 1 23,
8074-MOD Frit SS 2.000X.125inX2um MOD 1 40,
8080 Frit SS .839 X .057 10um HF 1 61, {
8083 Frit SS 1.250 X .125 2um HF 1 53,
8083-MOD Frit SS 1.250X.125inX2um MOD 1 85,
8-1P Assy End Ftg 1/2in 1 47,
8-1Vv Assy End Ftg 1/2in 1 47,
820317-001 End Ftg Direct Connect 1 7,6
820366-001 Per FluoroElastomer Seal 1 12,
8302 Frit Ti .125 X .039 2um 1 5,1
8303 Frit Ti .187 X .057 2um 1 3,0
8304 Frit Ti .187 X .057 .5um 1 5, 6
8305 Frit Ti .094 X .057 2um 1 7,1
8306 Frit Ti .094 X .057 .5um 1 4, 0
83107 Frit Ti .083 X .062 5um 1 9,7
83108 Frit Ti .190 X .065 2um 1 10,
83109 Frit Ti .395 X .062 5um 1 12,
8311 Frit Ti .125 X .057 2um 1 2,5
83117 Frit Ti .190 X .065 5um 1 17,
8312 Frit SS .125X.057 .5umhf Ti 1 4, 0
860030-075 Clmn Blank RrHt - 3mm X 7.5cm 1 30,
860030-250 Climn Blank RrHt - 3mm X 25cm 1 45,
860046-250 Clmn Blank RrHt 4.6X25cm Rev7 1 45,
861021-003 Clmn RrHt 2.1 085X225 1 8, 6
861030-002 Clmn RrHt 3 120X225 1 7,6
87000220 Wrench Open End 1-7/8in 1 139,
891523 Cartridge .250 Od 8.3cm 1 13,
891524 Cart .250 O.D. 15cm 1 15,




9003-040 Reducer Asy 1/16 To 1/8X040 1 102,
9004-040 Reducer Asy 1/16 To 1/8X040 Lg 1 102,
9005-040 Reducer Asy 1/16 To 1/8X040 1 81,
9012S Comprs Adapt .25 OD 1.0-4.6mm 1 20, 1
9012S-ASY Union Asy 1/4in Shidr .188 Dia 1 30,
9020-P End Plug 1/8in 1 4, 6
9020-V End Plug 1/8in 1 4,0
9021 Plug Cplry 1/16X10-32 BIk 1 1,0
9021-10 Plug Cplry 1/16X10-32 BIk 10Pk 1 9, 2
9023 Protective Cap Short 5/16-32 1 9, 2
9025 Protective Cap Lg 5/16-40 1 3,0
9027 End Plug Cplry 1/16in Red 1 1,0
9027-10 Plug Cplry 1/16 Red 10 Pk 1 9, 2
9035 Cplr Mod CImn 5/16 To 5/16 1 73,
9035-QS Qsa Cplr 1 90,
9036U-10 Screw Comp 1/16X10-32 Univ10Pk 1 29,
9036U-10F Universal Nut And Fer 10 Pk 1 68,
9036V-10 Male Nut 1/16inx10-32 10 Pk 1 29,
9036V-10F Valco Nut And Fer 10 Pk 1 6 6,
9038 Screw 10-32 Comp W.P. 1 2,9
9038W-10 Screw Comp 1/16X10-32 Witr 10Pk 1 35,
9038W-10F Male Nut And Fer 1/16in 10 Pk 1 8 8,
9043-P Union 10-32 Pk Ldv.010 Thru 1 30,
9046-P Union 1/16in 10-32 Ldv 010Thru 1 38,
9047-P Union Assy Ldv .020 Thru 1 51,
9052-W Union Asy Ldv 020 Thru Water 1 39, 1
9053-W Union 10-32 Ldv 020 Thru Water 1 24,
9056-P Cap Preclmn Filter 1 39,
9057-P End Ftg Inline Filter 1 15,
9058-05 Assy Filter Preclmn Uldv .5um 1 77,
9058-20 Assy Filter Preclmn Uldv 2um 1 77,
9062-05 Assy Inline Filter 1.5mm 1 128,
9063-05 Assy Inline Fliter 3mm 1 130,
9064-20 Assy Filter Inline 2um 1 6 0,
9065-05 Precimn Filter Assy .5um 1 65,
9065-20 Ez Solv Precimn Fltr Asy 2um 1 6 6,
9066-05 Preclmn Filter Assy .5um 1 138,
9071 ClIr 4.6 Frt Asy Bio-Safe 1 6,0
9071-21 Frt Asy CIr Pk CIr 2.1 1 9, 2
9077-20 Asy Filter Inline BioSafe 2um 1 102,
9077-C-P Pk End Cap Bio-Safe Inline 1 4 3,
9077-N Pk Nut Bio-Safe Inline Filter 1 30,
9077-P Pk Cap Bio-Safe Inline Filter 1 37,
9077-R Pk Ret Ring Bio-Safe | 1 14,
907910-P-05 Asy Frt Rtnr 1.0 Chmf 1/2um 1 24,
907910-P-20 Asy Frt Rtnr 1.0 Chmf 2um 1 24,
907921-P-05 Asy Frt Rtnr 2.1 Chmf .5um 1 10,
907921-P-05TI Asy Frt Rtnr 2.1 Chmf 1/2umti 1 169,
907921-P-10 Asy Frt Rtnr 2.1 Chmf 1um 1 10,
907921-P-20 Asy Frt Rtnr 2.1 Chmf 2um 1 10,
907921-W-05 Asy Frt Rtnr 2.1 Chmf 1/2um 1 8,7
907921-WU-05 Asy Frit Rtnr 2.1 1/2um Water 1 9,7
907921-WU-20 Asy Frit Rtnr 2.1 2um Water 1 9, 7
907930-P-05 Asy Frit Rtnr 3.0 Chmf .5um 1 10,




907930-P-10 Asy Frit Rtnr 3.0 Chmf lum 1 10,
907930-P-20 Asy Frit Rtnr 3.0 Chmf 2um 1 10,
907930-W-05 Asy Frit Rtnr 3.0 Chmf 1/2um 1 12,
907930-W-10 Asy Frit Rtnr 3.0 Chmf 1um 1 11,
907930-W-20 Asy Frit Rtnr 3.0 Chmf 2um 1 11,
907930-WU-05 Asy Frit Rtnr Water 30 1/2um 1 11,
907930-WU-20 Asy Frit Rtnr 32 UPLC W 1 11,
907946-P-05 Asy Frit Rtnr 4.6 Tpred .5um 1 10,
907946-P-05TI Asy Frit Rtnr 4.6 Chmf 1/2umT] 1 20, ¢
907946-P-10 Asy Frit Rtnr 4.6 Tpred 1um 1 10,
907946-P-20 Asy Frit Rtnr 4.6 Chmf 2um 1 10,
907946-P-20TI Asy Frit Rtnr 4.6 Chmf 2umti 1 20, 1
907946-W-05 Asy Frit Rtnr 4.6 Chmf 1/2um 1 12,
907946-W-10 Asy Frit Rtnr 4.6 Chmf Lum 1 11,
907946-W-20 Asy Frit Rtnr 4.6 Chmf 2um 1 11,
907946-WU-05 Asy Frit Rtnr 46 1/2 UPLC W 1 11,
907946-WU-10 Asy Frit Rtnr 46 1 UPLC W 1 11,
907946-WU-20 Asy Frit Rtnr 46 2 UPLC W 1 11,
9082 Rheodyne 10-32 Nut (7010-011) 1 5,1
9085-05 Clmn Saver .5um 1 20, 1
9085-05-10 Column Saver 0.5um/10pk 1 178,
9085-20 Clmn Saver 1 20, 1
9085-20-10 Column Saver 2um/10pk 1 178,
9085-20T Col Saver Ti 1 28,
9085-20T-10 Col Saver 2um Titanium/10 pk 1 257,
9085CP Cplry Plug Clmn Saver 1 4,0
9085FH Filter Hsg Clmn Saver 1 24,
9085FH-B Filter Housing, Column Saver 1 28,
9085FH-BLANK Filter Hsg Clmn Saver 1 6, 0
9086 End Plug Cplry 1/16in Green 1 3,4
9086-10 End Plug Cplry Green 10 Pk 1 9, 2
9088S Pkg Cplr Seal 1/4in 2.1mm 1 5,1
9089S Pkg Cplr Seal 5/16in 2004 2007 1 20, 1
9089S-30 Pkg Cplr Seal 5/16in 3mm 1 20, 1
9092 Assy Cplr 2001-19212 Series 1 179,
9092-01 Cplr Mod CImn Tube. 21.2mm 1 129,
9096 End Ftg Isobar 5/16in 1 10,
9097 End Ftg Isobar 1/4in 1 10,
9099-069 Frit Rtnr Step 2.1mm (1/2) 1 6,5
9099-070 Frit Rtnr Step 2.1mm (2) 1 6, 5
9099-071 Frit Rtnr Step 3.0mm (1/2) 1 6,5
9099-072 Frit Rtnr Step 3.0mm (2) 1 6,5
9099-073 Frit Rtnr Step 4.6mm (1/2) 1 6,5
9099-074 Frit Rtnr Step 4.6mm (2) 1 6,5
9099-075 Frt Rtnr Step 2.1 (1/2) 1 6, 5
9099-076 Frt Rtnr Step 3.0 (1/2) 1 6,5
9099-077 Frt Rtnr Step 4.6 (1/2) 1 6, 5
9100-C-P-RPL End Cap Guard Cart Holder 1 20, 1
9100-C-V-RPL End Cap Guard Cart Holder 1 20, ¢
9100-C-W-RPL End Cap Gaurd Cart Holder 1 20, 1
9100-R Ret Ring Guard Holder 1 6, 0
9100-RPL Nut Guard Holder 1 36,
9101 Tube Guard Cart 4mm X 1cm 1 6, 6
9101-05 Assy G-Cart 4X1cm .5um 1 13,




9101-05PH Assy G-Cart 4X1cm .5um 1 14,
9101-05QSA Assy G-Cart Qsa. 4X1cm .5um 1 14,
9101-20 Assy G-Cart 4X1cm 2um 1 13,
9101-20QSA Assy G-Cart Qsa 4X1cm 2um 1 14,
9102 Tube Guard Cart 4mm X 2cm 1 8,1
9102-05 Assy Grd Cart 4X2X 1/2um 1 15,
9102-05QSA Assy G-Cart Qsa. 4X2cm .5um 1 16,
9102-20 Assy G-Cart 4X2cm 2um 1 18,
9102-20QSA Assy G-Cart Qsa. 4X2cm 2um 1 16,
9103 Tube Guard Cart 2.1mm X 1cm 1 8,1
9103-05 Assy G-Cart 2.1X1cm .5um 1 16,
9103-05QSA Assy G-Cart Qsa. 2.1X1cm .5um 1 16,
9103-20 Assy G-Cart 2.1X1cm 2um 1 16,
9103-20QSA Assy G-Cart Qsa. 2.1X1cm 2um 1 16,
9103-20TI Assy G-Cart 2.1X1cm 2umiti 1 26,
9104 Tube Guard Cart 2.1mm X 2cm 1 8,1
9104-05QSA Assy G-Cart Qsa. 2.1X2cm .5um 1 16,
9104-20 Assy G-Cart 2.1X2cm 2um 1 16,
9104-20QSA Assy G-Cart Qsa. 2.1X2cm 2um 1 18,
9105 Tube Guard Cart Imm X 1cm 1 6, 0
9105-05QSA Assy G-Cart Qsa. Immxl1lcm .5um 1 25,
9105-20 Assy G-Cart Immx1lcm 2um 1 15,
9105-20QSA Assy G-Cart Qsa. Immx1lcm 2um 1 17,
9106 Tube Guard Cart Imm X 2cm 1 8,1
9106-20 Assy Grd Cart Imm 2cm 2um 1 18,
9107 Tube Guard Cart 4.6mm X 2cm 1 6, 6
9107-20 Asy G-Cart 4.6X2cm 2um 1 16,
9110 Tube Guard Cart 4.6mm X 1cm 1 6, 6
9110-05 Assy G-Cart 4.6X1cm .5um 1 16,
9110-20 Assy G-Cart 4.6X1cm 2um 1 16,
9110-20QSA Assy G-Cart Qsa 4.6X1cm 2um 1 16,
9111-P Stand Alone G-Hold 1cm Pkr 1 81,
9111-V Stand Alone G-Hold 1cm Valco 1 81,
9111-W Stand Alone G-Hold 1cm Water 1 81,
9112-P Stand Alone G-Hold 2cm Pkr 1 90,
9112-V Stand Alone G-Hold 2cm Valco 1 90,
9121-B-P Body Uni-Cap G-Hold 1cm 1 47,
9121-V Uni-Cap Guard Holder 1cm 1 165,
9122-B-P Body Uni-Cap Guard Cart 2cm 1 47,
9122-V Uni-Cap G-Hold 2cm Valco 1 167,
9122-W Uni-Cap G-Hold 2cm Water 1 167,
9130-B Body Cplry Adptr Universal 1 43,
9130-F Fer 1/16in Vespel 1 12,
9130-N Back Nut Cplry Adaptor Univ 1 27,
9141-P Guard Holder 1/4 x 1cm 1 101,
9141-V integral G-Hold 1/4X1cm Valco 1 101,
9142-V Integral G-Hold 1/4X2cm Valco 1 131,
9151-P Integral G-Hold 5/16X1cm Pkr 1 8 6,
9151-V Integral G-Hold 5/16X1cm Valco 1 8 6,
9152-B Bodytegral Grd 5/16 X2cm 1 40,
9152-P Integral Guard HIdr 5/16inx2cm 1 8 6,
9152-V Integral G-Hold 5/16X2cm Valco 1 8 6,
9154-P G-Hold Integral Qsa. 1cm Pkr 1 135,
9155-01 End Cp Swivel 10mm 1/16 Frt 1 164,




9155-02 Thrd ClIr Prep Hidr 10mm 1/16 1 192,
9155-03 EndCap No-Swivel 10mm 1/16 Frt 1 169,
9155-04 Tube Isoprep G-Cart 20mmx1lcm 1 36,
9155-05 O-Rng Viton Tef Encap 10mm 1 41,
9155-06 Ret Rng 10mm Prep Hdr 1/16&1/8 1 82,
9155-20H Assy G-Cart 10mmx1cm 2um 1 57,
9155-P Guard Holder 10mm X 1cm Pkr 1 581,
9156-P G-Hold Stand Alone QSA 1cm 1 108,
9157-P G-Hold Stand Alone QSA 20 cm 1 157,
9158-P G-Holdtegral QSA 2cm Pkr 1 143,
9159-04 Tube Isoprep G-Cart 21.2X1cm 1 24,
9159-05FC O-Ring 21.2mm 1 24,
9160-F End Ftg Mod Sys Waters 1 17, 1
9160P-F End Ftg 5/16-32 1 14,
9160-T Tube Mod Sys 5/16 in X 4mm 1 16,
9163P-20 Mod Sys 2.0mm X 2.3cm 1 60,
9163-T Tube Mod Sys 5/16 in X 2.0mm 1 21,
9170-1021 Asy Holdr G-Carttgrl Hichrom 1 92,
9170-3246 Asy Holdr G-Carttgrl Hichrom 1 94,
9171 Asy G-Hold 1cm Hichrom 1 51,
9171-C Cap G-Hold 1cm Hichrom 1 25,
9175-2 G-Hold Asy Stand Alone 2cm 1 53,
9176-2 G-Hold Assemblytergal VaLCo 1 81,
9177 Male G-Hold Stand Alone 1 26,
9177-1 Male G-Holdtrgrl 5/16-40 1 51,
9178-2 Guard Holder Female 2.0cm 1 26,
9179 Pkg Adptr Sgl Pk Sys 1 38,
9181-W End Ftg Ez-Connect Waters 1 17, 1
9182-P Ez-Connect Assy 2.0mm 1 65,
9183 Screw Ez-Connect 2.0mm X 1.5cm 1 17,
9185-W Fer Stem Waters 2.0mm 1 1, 9
9185W-10 Screw/Stem Asy 20mmx1.5 10um 1 86, {
9185W-2.0 Screw/Stem Asy 20mmx1.5 1 73,
9186 Protective Cap Stem Ez-Connect 1 20, 1
9192 Assy Sgl Pk 1cm Guard 1 81,
9193 Assy Sgl Pk 2cm Guard 1 102,
9196-05 Swivel 30mm Clmn Guard 1 242,
9196-20 Iso-Prep Grd Cart 30X1 2 1/8 1 90,
9196-P 30mm Clmn Guard Holder 1 505,
9196-P-AR 30mm CIimn Guard Holder AR 1 813,
9197-01 End Cp 21.2 Guard Outlet End 1 179,
9197-05 End Cap Swivel End 21.2 Guard 1 159,
9197-06-062 Tube 21.2X1.5cm 1/16 I-Prep 1 40,
9197-06-125 Tube 21.2X1.5cm 1/8in Frt Iso 1 40,
9197-07 Thrd Clr 1cm 21.2 1/8in I-Prep 1 1109,
9197-20 I-PrEP G-Cart 21.2X1cm 2um 1/8 1 62,
9197-P I-PrEP G-Hold 21.2X1cm 1/8 1 313,
9197-P-AR Guard Holder 21.2mm X 1.0 1 505,
9197-S Scraper 21.2mm Guard Sys 1 102,
920-6172 Tube Size 4.6 X 3cm Rev E 1 9, 3
9301 Tube Guard Cart 3mm X 1cm 1 8,1
9301-05 Asy G-Cart 3X1cm .5um 1 16,
9301-05QSA Asy G-Cart Qsa 3X1cm .5um 1 16,
9302 Tube Guard Cart 3mm X 2cm 1 10,




9302-05QSA Asy G-Cart Qsa 3X2cm .5um 1 17,
9302-20 Asy G-Cart 3X2cm 2um 1 18,
9500-01005-006 Sure-Fit Con Sgl 005X6cm 1 92,
9500-01005-006-02 Sure-Fit Con Sgl 005X6cm 2 Pk 1 183,
9500-01005-010 Sure-Fit Con Sgl End .005x10cm 1 92,
9500-01005-010-02 Sure-Fit Con Sgl 005X10cm 1 178,
9500-01005-015 Sure-Fit Con Sgl End .005 15cm 1 101,
9500-01005-020 Sure-Fit Con Sgl End .005x20cm 1 92,
9500-01005-020-02 Sure-Fit Con Sgl 005X20cm 1 178,
9500-01005-030 Sure-Fit Con Sgl 005X30cm 1 97,
9500-01005-030-02 Sure-Fit Con Sgl 005X30cm 1 178,
9500-01005-040 Sure-Fit Con Sgl 005X40cm 1 92,
9500-01005-050 Sure-Fit Con Sgl 005X50cm 1 92,
9500-01007-006 Sure-Fit Con Sgl 007X6cm 1 92,
9500-01007-010 Sure-Fit Con Sgl End .007x10cm 1 92,
9500-01007-010-02 Sure-Fit Con Sgl 007X10cm 2 Pk 1 178,
9500-01007-020 Sure-Fit Con Sgl 007X20cm 1 102,
9500-01007-020-02 Sure-Fit Con Sgl 007X20cm 2 Pk 1 178,
9500-01007-030 Sure-Fit Con Sgl 007X30cm 1 105,
9500-01007-050 Sure-Fit Con Sgl 007X50cm 1 92,
9500-01007-060 Sure-Fit Con Sgl 007X60cm 1 120,
9500-01007-080 Sure-Fit Con Sgl End.007X80cm 1 120,
9500-01007-100 Sure-Fit Con Sgl 007X100cm 1 120,
9500-01010-010 Sure-Fit Con Sgl End .010x10cm 1 92,
9500-01010-010-02 Sure-Fit Con Sgl 010X10cm 2 Pk 1 185,
9500-01010-020 Sure-Fit Con Sgl 010X20cm 1 92,
9500-01010-020-02 Sure-Fit Con Sgl 010X20cm 2 Pk 1 185,
9500-01010-030 Sure-Fit Con Sgl End .010x30cm 1 101,
9500-01010-030-02 Sure-Fit Con Sgl 010X30cm 2 Pk 1 178,
9500-01010-035 Sure-Fit Con Sgl 010X35cm 1 92,
9500-01010-040 Sure-Fit Con Sgl 010X40cm 1 92,
9500-01010-100 Sure-Fit Sgl 010X100 1 120,
9500-01020-006 Sure-Fit Conn Sgl End.020X6cm 1 92,
9500-01020-010 Sure-Fit Con Sgl 020X10cm 1 92,
9500-01020-020 Sure-Fit Con Sgl 020X20cm 1 92,
9500-01020-030 Sure-Fit Con Sgl End .020x30cm 1 101,
9500-01030-008 Sure-Fit Con Sgl End .030X8cm 1 92,
9500-01030-010 Sure-Fit Con Sgl 030X10cm 1 101,
9500-01030-020 Sure-Fit Con Sgl End .030x20cm 1 101,
9500-01030-030 Sure-Fit Con Sgl 030X30cm 1 92,
9500-01030-050 Sure-Fit Con Sgl Eng .030x50cm 1 92,
9500-01040-010 Sure-Fit Con Sgl End .040x10cm 1 92,
9500-01040-020 Sure-Fit Con Sgl 040X20cm 1 92,
9500-01040-030 Sure-Fit Con Sgl 040X30cm 1 92,
9500-03 Label Sure-Fit 1 0,5
9500-10-INSTR Instr Sure-Fit Conn 1 0,0
9500-F Fer Sure-Fit Pps 1 4,6
9500-F-10 Ferrule Sure-Fit PPS/10pk 1 40,
9500-FP Ferrule Sure-Fit PEEK 1 4,0
9501-01005-010 Sure-Fit Con Dbl 005X10cm 1 159,
9501-01005-020 Sure-Fit Con Dbl005X20cm 1 159,
9501-01005-020-02 Sure-Fit Con Dbl 005X20cm 2 Pk 1 288,
9501-01005-030 Sure-Fit Con Dbl005X30cm 1 159,
9501-01007-010 Sure-Fit Con Dbl007X10cm 1 149




9501-01007-010-02

Sure-Fit Con Dbl 007X10cm 2 Pk

(o]
(o]

9501-01007-020

Sure-Fit Con Dbl 007X20cm

N
©

9501-01007-020-02

Sure-Fit Con Dbl 007X20cm 2 Pk

(o]
(o]

9501-01007-030

Sure-Fit Con Dbl 007X30cm

N
©

9501-01007-060

Sure-Fit Con Dbl 007X60cm

©
w

9501-01010-010

Sure-Fit Con Dbl 010X10cm

9501-01010-020

Sure-Fit Con Dbl 010X20cm

R
©O|©

9501-01010-030

Sure-Fit Con Dbl 010 1.D.X30cm

(6]
(o]

9501-01010-040

Sure-Fit .010 ID X 40cm

9501-01020-010

Sure-Fit Con Dbl 020X10cm

9501-01020-020

Sure-Fit Con Dbl 020X20cm

9501-01020-030

Sure-Fit Con Dbl 020X30cm

I B R R
[(e] [{o} (o] N{o]

9501-01030-010

Sure-Fit Con Dbl 030X10cm

(6]
©

9501-01030-015

Sure-Fit Con Dbl 030X15cm

N
©

9501-01030-020

Sure-Fit Con Dbl 030X20cm

9501-01030-030

Sure Fit Dbl 030 Ix30cm

ajol
[{e] K{o)

9501-01040-010

Sure-Fit Con Dbl 040X10cm

9501-01040-020

Sure-Fit Con Dbl 040X20cm

9501-01046-010

Sure-Fit Con Dbl 046X10cm

9501-01046-030

Sure-Fit Con Dbl 046X30cm

I B B
[(e] [{o} (o] N{o]

9501-01046-090

Sure-Fit Con Dbl 046X90cm

~
\‘

9502-01005-HP

Sure-Fit Con Sgl 005 Hp

9502-01007-HP

Sure-Fit Sgl End .007 HP1100

9502-01010-HP

Sure-Fit Con Sgl 010 Hp

9502-01020-HP

Sure-Fit Con Sgl 020 Hp

N TSN =Y IR P PN P PN PR TN U T PR S PN T PN P PN P TS PN LS P TN

Y TSN = I
©o|o|wol|o

N Y IR EIEIEIEIRIEIEIEIEIE RIS I IS Iy ey ey P PR [N FEY Y S [SY [EY RN Y RN [N [EY Y RN [SY TSN FEY P RN FRY [N FRY P RN FEN TN =Y P PR [N

9504-02 Locking Stem Pk Sure-Fit 57,
9504-03 Snap Lock Pk Sure-Fit 53,
9504-04 Cap Pk Sure-Fit 32,
9504-05 Label Pk Surefit 4,0
9504-06 Spring Rtnr Pk Sure-Fit 14,
9504-HA Hsg Assy Sure-Fit Con Pk 113,
9504-INSTR Instr Surefit Con Sgl Pk 0,0
9505-INSTR Instr Sure-Fit Sgl Pklet 0,0
9600289 End Plug 2.1mm 125,
9600343 End Plug 4.6 Mod Frit Bore 1, 2
9804S-05H Assy Frit Rtnr 4.6mm X .5um 4, 8
BR0OO1 Clmn Assy 7.8mm X 30cm 77,
BR0O04 Clmn Assy 7.8mm X 10cm 90,
BRO05 Clmn Assy 7.8mm X 15cm 98,
CLM-061006-100-B Down Leg Assy . 654
CLM-111307-100 Seal Barrel 15mm 30,
CZ002 Assy Comp 4mm X 10cm 53,
ES001 Assy Comp 4.6mm X 15cm 2um 50,
ES002 Asy Comp Tube 4.6X25cm 2um 56, 1
ESOO08PRF Clmn Asy 4X15cm 2um Pk Encap 58,
ES017-PFR Clmn Asy 3X5cm 2um Pk Encap 52,
ES020-PFR Clmn Assy 3X3.3 2um Pk 67,
FRT069 Asy Frit Rtnr 2.1 Stp 0.5um 6, 6
FRTO70 Asy Frit Rtnr 2.1 Stp 2um 6, 6
FRTO71 Asy Frit Rtnr 30mm Stp 0.5um 6, 6
FRTO72 Asy Frit Rtnr 30mm Stp 2um 6, 6
FRTO73 Asy Frit Rtnr 4.6 Stp 0.5um 6, 6
FRTO74 Asy Frit Rtnr 4.6 Stp 2um 6, 6
FRTO75 Asy Frit Rtnr 2.1 1/2um Flush 6, 6




FRTO76 Asy Frit Rtnr 3.0 0.5um Flush 1 6, 6
FRTO77 Assy Frit Rtnr 4.6mm 0.5um Gem 1 6, 6
FRT082 Asy Frit Rtnr 2.1 2um Flush 1 6, 6
FRTO083 Asy Frit Rtnr 3.0 2um Flush 1 6, 6
FRTO084 Assy Frit Rtnr 4.6mm 2um Gem 1 6, 6
LC-016C-1S Reducer Asy Comp Sprng Ends SS 1 1,9
LC-018A-04S Spring Comp 302 SS 1 1,0
LC-020C-03S Spring Comp 302 SS 1 2,5
LC-045E-06-S CompSprng Grnd Ends 302SS Pass 1 1,9
PB0002 Clmn Assy 4.6mm X 10cm 2um 1 71,
PB0003 Clmn Assy 2.1mm X 3cm 2um 1 73,
PB0004 Clmn Assy 2.1mm X 10cm 2um 1 79, 1
PB0005 Clmn Assy 4.6mm X 5cm 2um 1 70,
PB0010 Clmn Assy 4.6mm X 20cm 2um 1 65,
PB0010-10 Clmn Assy 4.6mm X 20cm 10um 1 73,
R034003 EP Tube Blank 1/4X4.6X5cm 1 8, 8
R034004 EP Blank 1/4X4.6X7.5cm 1 9,1
R134009 Post For Flowmeter Stand 1 16,
R134011 Tube Converter 1 13,
R298195 Tube 60mm Odx4 1dx177.8mm 1 22,
R298540 Thg 1/4 Odx4.6 1dx6 Ft Lg EP 1 137,
R541025 LC Blank 1/2X10mmx25cm 1 21,
R542020 Mod Cimn Tube 5/16X4.6X10cm 1 34,
R542055 Mod Cimn Tube 5/16X4X15cm 1 38,
R542085 Mod Cimn Tube 5/16X3X25cm 1 40,
R542160 Tube Guard Cart 2.1mm X 2cm 1 8, 6
R542180 Assy G-Hold Stand Alone 2cm 1 31, ¢
R542200 Mod Cimn Tube 1/4X2.1X12.5cm 1 30,
R543285 EP Blank 1/4in X 3mm X 15cm 1 21,
R543315 Guard Packer Insert 2.1mm 1 14,
R543320 Guard Packer Insert 4mm 1 13,
R543435 Frit Cap 212X271X20mm 2um 1 5, 4
R543460 Guard Cimn Body 1 17,
R543465 Guard CImn Screw 1 16,
R543470 Union HpLC Precimn 1 38,
R543815 Mod Clmn Tube 5/16X3X3cm 1 29,
R543880 Assy 1/4X2.1X2cm Mod Pkg Sys 1 105,
R543885 Assy 1/4X3X2cm Mod Pkg Sys 1 105,
R543890 Assy 1/4X4.6X2cm Mod Pkg Sys 1 105,
R543995 Assy Cplr 2001-19212 Nylon Sea 1 116,
R544140 Assy G-Cart 21.2X1 1/8 Frt 2um 1 101,
R544165 Seal 4mm 2001 Mod Pkg Sys 1 15,
RSL1486 Tube 40mmx2.1 Belgm Cart Fltr 1 10,
RSL1800 Tube 15.4X4.6 Belgm Cart Fltr 1 6, 2
RSL1801 Tube 37.50mmx4.6 Belgm Cart 1 11,
SA3010 Clmn Assy 3X10X2 1 59,
SA3015 Clmn Assy 3X15X2 1 67,
SPME-077 Pan/C18 Silica 45um 1.5cm 1 23,
SPME-077-07 Pan/C18 Silica 45um 0.7cm 1 8, 2
SPME-087 Mixed Mode 45um 7cm ( 1 8, 7
SPME-087-0.7 Mixed Mode 45um 7cm 0.7 1 8, 2
SS-400-1-4ST Tube Ftg Male 1/4X7/16 Swage 1 34,
SS-400-61 Tube Ftg Blkhd Union SS Swage 1 81,
TUBO79 EP Tube Blank 3/8X7.8mmx15cm 1 15,




WH-137-S16 Ret Ring Int Spiral 1.375 D SS 10,
WH-168-S16 Ret Ring Int Spiral 1.687 D 22 12,
WS-62-S16 Ret Ring Ext Spiral 2-Turn Med 6,0
WS-87-516 Ret Ring Ext Spiral 2-Turn Med 0

YMG-010-05Q-05-NC

Qsa Rpl Cart Sys

YMG-010-15Q-05NB-NC

Qsa Rpl Cart Sys

YMG-021-033Q-05NB-NC

Qsa Rpl Cart Sys

YMG-021-033QNB-NC

Qsa Rpl Cart Sys

YMG-021-05Q-05NB-NC

Qsa Rpl Cart Sys

YMG-021-05QNB-NC

Qsa Rpl Cart Sys

YMG-021-075Q-05-NC

Qsa Rpl Cart Sys

YMG-021-10Q-05NB-NC

Qsa Rpl Cart Sys

YMG-021-10QNB-NC

Qsa Rpl Cart Sys

(.J'l(.)'I(.J'l(.)'l01(.)'|0'1CD0'1CD
Ololw|jo|o]|~|d]|~]|00],

YMG-021-125QNB-NC Qsa Rpl Cart Sys 61,
YMG-021-15Q-05NB-NC |Qsa Rpl Cart Sys 6 3,
YMG-021-15QNB-NC Qsa Rpl Cart Sys 6 3,
YMG-021-25Q-05NB-NC |Qsa Rpl Cart Sys 71

YMG-021-25QNB-NC

Qsa Rpl Cart Sys

YMG-030-033Q

Qsa Rpl Cart Sys

YMG-030-033Q-05-NC

Qsa Rpl Cart Sys

YMG-030-05Q-05-NC

Qsa Rpl Cart Sys

YMG-030-05Q-NC

Qsa Rpl Cart Sys

YMG-030-075Q-05-NC

Qsa Rpl Cart Sys

YMG-030-075Q-NC

Qsa Rpl Cart Sys

YMG-030-10Q-05-NC

Qsa Rpl Cart Sys

YMG-030-10Q-NC

Qsa Rpl Cart Sys

YMG-030-125Q-05-NC

Qsa Rpl Cart Sys

YMG-030-125Q-NC

Qsa Rpl Cart Sys

YMG-030-15Q-05-NC

Qsa Rpl Cart Sys

YMG-030-15Q-NC

Qsa Rpl Cart Sys

YMG-030-25Q-05-NC

Qsa Rpl Cart Sys

YMG-030-25Q-NC

Qsa Rpl Cart Sys

YMG-040-05Q-05-NC

Qsa Rpl Cart Sys

YMG-040-075Q-05-NC

Qsa Rpl Cart Sys

YMG-040-10Q-05-NC

Qsa Rpl Cart Sys

YMG-040-125Q-05-NC

Qsa Rpl Cart Sys

YMG-040-125Q-NC

Qsa Rpl Cart Sys

YMG-040-15Q-05-NC

Qsa Rpl Cart Sys

YMG-040-15Q-NC

Qsa Rpl Cart Sys

YMG-040-25Q-05-NC

Qsa Rpl Cart Sys

YMG-040-25Q-NC

Qsa Rpl Cart Sys

YMG-046-033Q-NC

Qsa Rpl Cart Sys

YMG-046-05Q

Qsa Rpl Cart Sys

YMG-046-05Q-05-NC

Qsa Rpl Cart Sys

YMG-046-075Q-NC

Qsa Rpl Cart Sys

YMG-046-125Q-05-NC

Qsa Rpl Cart Sys

WININIW|IN|R[R[WWWWIW[WIN|W[AR|WIWINININ[WININININ|IN]WN
N[O|IN|OIO|W[W[R]|RIN|IN|P|R|O|O|IO|W|W|~|lO|O|O|O|Q|UIO|WIN|O

N Y IR EIEIEIEIRIEIEIEIEIE RIS I IS Iy ey ey P PR [N FEY Y S [SY [EY RN Y RN [N [EY Y RN [SY TSN FEY P RN FRY [N FRY P RN FEN TN =Y P PR [N

YMG-046-125Q-NC Qsa Rpl Cart Sys 31,
YMG-046-15-05-NC Rpl Cart 4.6X15 0.5um No Cap 32,
YMG-046-15Q-NC Qsa Rpl Cart Sys 33,
YMG-046-20Q-NC Qsa Rpl Cart Sys 36, 1
YMG-046-25-05-NC Rpl Cart 4.6X25 0.5um No Cap 38, {
YMG-046-25Q-NC Qsa Rpl Cart Sys 39, 1
YMG-046-30Q-NC Qsa Rpl Cart Sys 42,
41-362-04-S-03 1/8 in B/S Assy Sapp 03 BPM 23




44-4632

UHPCV M12 inlet Body M6 Port

199,

44-4633

M12 Outlet Body 10-32 Port

199,




